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T foreres ursrar wfer (CTET)-2022

(CLASS : VI-VIII) 9T-11

TR e

foeftar go=-u=
w—r 'g-%a- m (‘T‘&&]T ﬁlﬁ’:r : 06-02-2023, 2.30 plll)
1. The Kushanas ruled from the following centres | 3. Read statements (A) and (B) and choose the
of power : correct option./<h (A) AT (B) EQ) tI% AT
H | e fRa? et fashen w1 g =

(a) Peshawar and Malwa/J9TTaR 3R Hraelr

(b) Peshawar and Mathura/ e 3R HYU

(c) Peshawar and Varanasi/ TR S FRIOTE

(d) Peshawar and Ujjain/ TR 3 Ioui
Ans. (b) : TN 7 UIMR R ALY AHH AR Bl
T A fRam e 9 # g @ Sifa @ T e 9
FAMOT AT B T Fold HSBUH 7 fRA 7 foRAr o)
FAT IR F famewsfRay I wdvem 99 & fages S
fFT 41 39 99 F TEH FAH UES FAS AT HEE
TS 3 AR ¥ TR G A e e
TSTEE SR HAS6 4 379 I &1t | 78 € -
RECECKIEIN

2. Consider statements A, B and C and choose the
correct option./ HUAT A, B AR C
I Ue 3 Tt Tarehew ot = o
(A) The palaeolithic period extends from 2
million years ago to about 12,000 years
ago./JIUTHINT R S @ |

12,000 |TET gt 3 SR HIHT ST 1
(B) This long stretch of time is divided into the
lower, middle and upper palaeolithic.
TE HIA &l oft T w]% ¥ sier T
‘arrifres’, ‘weE’ wE ST QRIGTHTOT
(C) This long span of time covers 99% of
human history./da Sfa@m® skt T 99
FiereTa et SE STt ok SR fed gE
(a) Only (A) and (B) are true
Fael (A) 3R (B) TE1 &
(b) Only (B) and (C) are true
Fad (B) 3 (C) & £
(¢) Only (A) and (C) are true
Fael (A) 3R (C) T &
(d) (A), (B) and (C) all are true
(A), (B) 3T (C) T+t @&t &1
Ans. (d) : TUIEIT FA AE AqE@ A @A 12,000
I TEA % A AT ST 21 FH HA w1 f A a7

afer T 8, A, Hey U IV Aieen
%Wﬁawsrmaﬁwﬂﬁéeﬁqqﬁ %WW
T IR HEIUHOT Hied § iR & ST 9
oo Fer 6 w1 & 21 a1 fean o

(A) Mansab was a grading system used by the
Mughals to fix/q8qs G EUU

Tk Sivft srawen off, R iR -
(i) Rank/Uq
(ii) Salary/aa=
(iii) Military respons1b111t1es
=

Trerifia ferm wmar on

(B) The Mansabdar s military responsibilities
were determined by a numerical value
called zat.

aﬁrﬁaﬁmqmmwﬁrﬁ?mﬁﬁm
HET ATaT &Ml
(a) (A) is true but (B) is false
(A) T & W (B) T
(b) (B) is true but (A) is false
(B) ¥&l § T (A) T
(c) Both (A) and (B) are true
(A) T9T (B) a1 ©& §
(d) Both (A) and (B) are false
(A) @ (B) &1 e §
Ans. (a) : TI9EEN e & AR TemEes SFawen
off, KT Joee TTd TEE e 4 99 1575 €.
ﬁmmmmmaﬂﬁnﬁwﬁvﬂmaﬁ
e ST v, o 3K & e e fhe S
g oTHe veg & g @ Al 1yen ug| 3W e &
3Tt 33 & 9| FEX F WEA F 40 o 99 W9 wF
gaR SR dApd FEEm @ # A wHEeRR # S
IR 1 FERT UE M §e § §aR a1 geHaR a
T A1 v 4 T (A) T 8, W (B) el

4. At which of the following places Ashoka's
inscription has been found in Greek and

Aramaic languages ?

Freferfian # & Fam o w0 s ¥ s
e 3 araTges Tt ¥ urar T 2

(a) Kandahar/&¥R (b) Maski/"TEht

(©) Topra/ﬁqﬂ (d) Kalsi/arerst

F A, B 31K C 94 T 71

Ans. (a) : HUR THS H T 3IMF & AT b 3N
SRS wwel ¥ wEr T g1 W, e, e
IS ARTE § ST A9 3790 fHerar 21

MR T SRS SURET § S R S R |
- TEgem 1837 . 9w BT & o1 % e

e H therar fiedt |
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* 39N o fYreer@l &t @ie 1750 €. usdithaer 3
i o T g G 14 €

% YN o SAYA@! i I wFil faeeh far s 2 -
RraeE (14) W™ @9 (7) 3R 7T A

* 3TN & W o hael s foafy § forg 7 &)

* 39N o fIeorg sell, WU, A wd ewmss fafy
¥ fierd 2

*awmé%aﬁmmﬁaﬁﬁﬁ@aﬁ‘mﬁamwmﬁ@w
ST 2

IEal Rrarera #- e wfew @ AT & S|

ieal Rrarem #- Ffe g5, TS aset @ gl wE| | (TS

aTefad Tsgl & 3earg |

5. The Gond Kingdom of Garha Katanga had
70,000 villages. This is mentioned in

e e, T WS, ¥ 70,000 T T T
oo e e £ )

(a) Uyyakondan Udaiyar inscriptions
RIS IR &

sforere o
(b) Akbar Nama/3T&aATdT &
(c) Historical work titled Buranjis
S e e Hiaei 9
(d) Description of William Methwold, a factor of
English East India Company /CﬂﬁGﬁ 3w g

FHo & ARG, fafeem Aeeee & avf #

e TS, TE FM F 70,000 T A1 I
HHIEM H Iecdiflgd e T B TS UH YR &
ST ogH BT H f1 TE M TH qYS T
frart Sielt g Bt yhseR 3T Tl

Ans. (b) :

Q%

Zﬁ
i %

frafa ek aga g aIfvla s &) ST, orafier e §
fodt g et Pfral €1 "W TS99 F [
Gl 1 Geher Sl § g 2|
6. Consider the following Assertion (A) and
Reasoning (R). AfTRIT (A) AR
TR (R) W faam =i -
Assertion (A) : 'The local tribal people

make the wooden image of
the deity Jagannatha at
Puri, Odissa'.
TS AT
i, SHET &k TS w
HY WfeHT =TS STt 81’
'The deity was most likely a
local god, who was later
identified with Vishnu'.
‘Y gold: T S
Yoar A, T M =T
oy o1 w0 "= foram wEm’
Choose the correct option :/ T&t faehea g :
(a) Both (A) and (R) are true and (R) is the
correct explanation of (A). /(A) R (R) el
e € 3 (A) F (R) TE SHARAT BT & |
(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)./ (A) (R) AT T
& AT (A) B (R) T& AR T T 2

SMTRAT (A) :

Reasoning (R) :

<7 (R) :

(c) (A) is true but (R) is false.
(A) T 2 dfsT (R) o 21
(d) Both (A) and (R) are false.
(A) 3R (R) &1 T €|
Ans. (a) : I8, STfeem § SN F TERE SO &
s o g, g @ mfes S faw] wEm &
i §1 sW A% e # ws s, e
SN Wi gR SR S @, fee g8 aread et @
ff SN gom: UH W @ 9, R e gee
foruy 1 &9 7 foren T reNE, gER SR Sy &
o gicat ame i giglaty § st § fe 7
IRES! A § A % UH A FAd T HATHT
0§ qeuem SEe % fu uw w6 aHem @ e
T 3% @18 1230 § TN M AT AU T
TEITH S I AT X R SR @ # Sy @
wfafeges sifta fham) s (A) 3 (R) &1 W@ @ @ik
(A) 1 (R) T =IAT & 2|
7. Which of the following statements are true
about the Birsa Munda movement/

frafafaa

A B A1 weT forar e & fawg ¥ W &2
(A) Birsa's followers raised the Red Flag as a
symbol of Birsa Raj. ar—mi%'eﬁ

Ww%ﬁ%wwwyaﬁmml

(B) Birsa used traditional symbols _and
languages to rouse people.

SHAH o A WRETE Weftent A e
T TEAATS TeRam

(C) Birsa's movement was against reformin
tribal people. AT mﬁar;ﬁ

HATS i URA & faeg ol

(D) Birsa turned against missionaries_ and
Hindu land Lords.

g wfierl o1 TaR ferier feram
(a) (B) and (D)/ (B) 7T (D)
(b) (C) and (D)/ (C) 7T (D)
(¢) (A)and (B)/ (A) 7T (B)
(d) (A)and (C)/ (A) T (C)
Ans. (a) : fo@ &1 =7 T HeT 9RaR § g3 o1l HEl

U AT T @ S ¥ @ar 211895 €. #
ﬁwﬁmﬁ [ ¥ oTe fohar 5 3 7 gt
3 Al mﬁ%ﬁqwﬁtﬂaﬁaﬁ

RRaTl @8 % oI 3 AR A S g e el 3 A
® 91 37; $9 (B) 3R (D) F& 21
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8. Consider the following statements (A) and (B)
and choose the correct option.

HAAT (A) 3R (B) W forom =i iR wet faamew

T I W

(A) Thousands of rural women who made a
living by spinning cotton thread in India
were rendered jobless by the mid
nineteenth century.

A whIdeRT TUAT ITTSfiferant o @ off o

Seftaeff vrarsdt & wed dqeh SRR & TE)
(B) By the 1830s British cotton cloth flooded

Indian market and by the 1880s two-third

of all the cotton clothes worn by Indians
were made of cloth produced in Britain,

1830 o TITeh deh WA SR forea o s
el U W U T 1880 o Ik deh feerfer
g B M ot R WARA & AT AT wuet
Ted o, SEh { o fogrg fore=r o == gier em
(a) (A) is true but (B) is false.
(A) T8 & fbg (B) e 21
(b) (B) is true but (A) is false.
(B) @& 2 f&q (A) Teid 21
(c) Both (A) and (B) are true but (B) is not the
reason for (A)./(A) 3R (B) & W& & fobq
(A) &I HRUT (B) &l 21
(d) Both (A) and (B) are true and (B) is not the
reason for (A).(A) 3R (B) aHi §&l & @
(A) 1 ST (B) B
Ans. (d) : @@ T WRAE ST g BEH ST
AR T WAl 7 SHUdl YA & meT A%
ISR & M1 fef7 oftart & onffe e o= @ o
I wedl § wfeansii, g5 @nil SR St & o 1 9
RN & Iucred TEIEHl % A § dfad fRam S em
1880 & T o fRafd a5 & 7 foF 9Ra & @ R
FUCT TeAd 4 3T 2/3 9T 5T # a4 Ber o, F6E
3T T feA TS IS I9 A1, Sl 9Rd b & §a &
FUE o0 9, AN Fe & & H qrd H A I gHQ
(A) 3R (B) a4 W& @ &1 (A) &1 ST (B) B

9. Which of the following statements is true ?

TH AT AT RAT LS ?

Ans. (b) : T T 3R Faag MR A il
ot & feer fopam) wigh S &1 A an 6 fen Sew
g el # & & S afew) 39 qafes eiEeh

& ST @ e R B Tafes A W | ad feas
2R &1 Y 8 6 YT 1 gomrshar & 91g Tepfae
RAY & Y ST ST AR

et St afterdt e o WA F sl @ soe 5
FET AATF A, TAR A v T SN A
WO % % q B A ded &1 e SifarE
e =1 &R 7 oy oo gfer o8 e W 2|
10.  'The practice of widow burning has no sanction
in ancient texts !'/ e W
AT i Al hel el < E B

This statement is associated with which Social
reformer ?/9g YA fore TS Gaeh & ;T

I ¥
(a) Sri Narayana Guru/4l STRr&0] Te

(b) Swami Dayananda Saraswati

(c) Subhash Chandra Bose/gTsa= a9

(d) Raja Rammohan Roy /T THHAET T4
Ans. (d) : T 3o F faearsti @ Saw @ TEA FE
TG T 2 T P W TN gURS TSR Hied
T % T L 2 -
T WA QASITRUT & 3TIEA 3R TYAF IRd F S
FET ST 21 g are-faarg, e wen, Snfaars, sy,
ugl o o7fe 1 R fae feRam
11.

Which of the following organization focussed
on abolition of caste during British_ rule in
India?/¥Rd RURES

frefafiaa & @ &9 @ GTes 3 wfd =76 W
e et faar
(a) Sanatan Dharma Sabha/d-Tdq o g
(b) Asiatic Society /T3 TraTEd!
(c) Bharat Dharma Mahamandal/¥Td o HAgTHE
(d) Satyashodhak Samaj/Sca3iess THST
Ans. (d) : 9T H 30T & W 5 ST G FA
AE HSA A W I R TS S e 9 Es

, , TS AE HSA d WO 1873 F SAfqen F 5
@) Mo, Gandis and Kaindraath Togore gy ey a1 v, o 3 3 % 13 e g i
TR MR S T SR ¥ sieaf || T S1ST 1 A SevE YR U5 S o & A
AR g - o ® a1l 3 THy Sfoar B 9 1873 €. OH
(b) Mahatma Gandhi and Rabindranath Tagore 1 k| !
supported colonial Education. 12. Read the statements (A) and (B) on the
e e ok sy 3R 9 Siifaite resistance of Tipu Sultan against the British
orer 1 gy e and Choose the correct answer. . .
) . A9 goa T g U <kt folier & el o o
(c) Mahatma Gandhi opposed the colonial a9, AR .
education but Tagore supported it. (A) TH &AT (B) AT T IR ﬂﬁ :
Herer e 9 eiufatite Rrm & Ay e (A) Tipu Sultan of Mysore fought the British
b 3R 3 5 T o) until he died./3Tt T & Y Foa=
(d) Tagore opposed the colonial education but 3 o foreg a|3.€| I
Mahatma Gandhi supported it. (B) He resisted the cultural traditions
MR A siufrafe e & By e foeg associated with them.
TeTe et 7 g9 gueda fRa Witehieren Ut oAt ferier feram
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(@) (A)is true but (B) is false/(A) W&l © & (B) T
(b) (A) is false but (B) is true
(A) Ted 2 g (B) &
(c) Both (A) and (B) is true /2HT (A) T8 (B) ¥& &1
(d) Both (A) and (B) is false
2T (A) T (B) Tl 2|

Ans. (¢) : T I 7% Y Yo 3B & foes dgd @
Yo SR g5 (1767-1769) § TR a7t fardt gam
TR Ireh & g F 9= IR @ AY AP H W W
311 A ge= H FH 1750 €. H g o411 HER
Ty 31 31Y Yoo ud IS 9 uH-gm & fafsa &t
amg 1 faan, g 3 gEen il # wiephe wewsd
1 forer fopam) g4 1787 §. ® “arqwme’” i Ui ¥Ror
i Y T A T fovew § @A & ge
A S Ag Wi 9 5 9y S % o 7 g1 vyl
W S T B G a1 3N {9 SAUH ARG
AY e o A # 9] =g Ae-Ag g (1799) F
aN i § gg o o (A) T (B) 29 9 R
13. The book 'Poverty and un-British Rule in

India' was written by .

‘gredf wug sm-fafewr wa 39 Ifeam’ AR

e o A@sw o |

(a) A.O Hume/T.37. gH

(b) Badruddin Tyabji/de&eA daasit

(c) Romesh Chandra Dutt/A9IE% &

(d) Dadabhai Naorji//ereré =it
Ans. (d) : Tl We aH-fofeyr & T fear amE
TH® & ogH TER AR 41 3% I Hies 39 S
Ffean it 9Na % TR Torgd & &9 # off JE7 S
21 T UH UG Tofae Hdl, S w6 g e
g1 T 1892 ¥ 1895 & o fhgal Yoot & wRffr s
aret B ey it Mg # e wdf % gee 91
14.

Statesmen from which countries were part of
the Non-Aligned-Movement ?

fer-fep oM & ToHaT Tefe Stiee @1

e o?

(a) India, Yugoslavia, Indonesia, Ghana, Egypt

(b) India, America, Britain, France, Spain

(c¢) India, Russia, Poland, Hungary, Romania

(d) India, Pakistan, Bangladesh, Srilanka, China
Ans. (a) : YIRA, TEAfaar, sSHET, = e g weft
e % ol [efRUY SfEied % e 91 Tefwue
AT (NAM) F TMaT SAuafies =5aen & ad &
0 g ff1 T 9% R A7 5@ AT @ uEE
TAT ¥ TSR @ ® 91 faaer 1961 # FoRentaar &
o | TIe 1 Tgel FRTeR Twier ST
fepam Tmam o1 SR TEH P 25 I H wllArRET T fww
feram i

15. Which of the following planets have rings

around them? _ .

TH W TR TR o =R 37T Dot B 87

(A) Jupiter/ggeafa  (B) Saturn/I1

© Uranus/’t{lﬁ?ﬁ (D) Neptune/ﬁ%

(a) (A), (B), (C) (b) (A), (B), (D)

(c) (A), (©), (D) (d) (B), (C), (D)
Ans. (a) : F89(, I, A9 (37607 &7 9oft 3@ & A/
3R Bt B &

ﬁﬁ—%quﬁwuﬁ%%mmm
die Tifey FT 8| Fewf TR &
U= 95 %|meﬁﬁﬁgﬁ§;wm
ST IWE 2|
T - 39 78 % IR N g U 9 §, R g 7
21 WY B GaY g1 IWE <A 2|
ITEV (FE) - T T8 F W9 faferam gw@iet 4 F o
o ff IR} 3R O U S §1 9% I o W gd 9
qfem &t SR gEAT @ S 3= 38 ufved § qd & 3N
TAd €1 T8 e gl W S g (97.8 W) BN %
0T o] g3 Sl gl 2|
16. The Indian Standard time (IST) is based on the
standard meridian at :/ U= qud fora
TR AT T SR &2
(a) 75°30'E/75°30'Y. (b) 78°30'E /78°30'T.
(c) 82°30'E/82°30'Y. (d) 85°30'E/85°30'Y.
Ans. (c) : AT 7M. 999 82°30' g0 HHE AR T
Tefd 21 82°30" T WA @1 FAPRS & foiche FAeige
Y g o 81 WRAT A T H I W 3w
T, W RV, e IAfew, sy W (P Ui
TSA) | BT o 2
17.  What makes days and_nights, and change of
seasons possible? [ R e TS qd q2Ar
el ¥ URad= Heferd ear 2
(a) Rotation and Revolution of the earth
respectively./HHIT: JeAt & ol T& AT
(b) Revolution and Rotation of the earth
respectively./ SFAIT: JeAT & URSHAT T guiq
(c) Rotation of the earth only.m geAl &l ‘{U‘h
(d) Revolution of the earth only.
ot gedt &1 afepauT
Ans. (a) : 72 & ¥Ui wd qReaw fT wd U@ qun wget
# qRadw guifed e 21 geal e & THAE 1 T8
2, g o Sfam 81 o o SuRefy % Srot 58 e 7'’
ot el S &1 e N UHUH SUFE WSAT 21 T MY
37 T 23" o WA g€ ¢ A8 gF F AR W 29.8
fepefl/ehe % AT T TR A 21
18. The earth rotates 360° in about 24 hours, which

means 15° an hour. What it is 12 noon at
Greenwich, the time at 30° E of Greenwich will

be :

goalt TR 24 WS W U A 360° W HW
et , oreri 9g 1 U W 15° FHet ¥, 3H Y
& i foer o Suer & 12 99 E, 9« it
¥ 30° gd ® wHg ghm ¢
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(a) 2 PM/2 31908 (b) 10 AM/10 TaTE

(c) 2 AM/2 aTg (d) 10 PM /10 3T9&
Ans. (a) : G @9 24 W H 37U 37T 360° W A
S 7, ol aw 1 s FH 150 gl 21 3@ YHR oW
Fafea § AR F 12 S99 §, 0 A4 F 300 o™ F
T BT 2 ITWE |

19.  Which of the following type of forests are found
in Andaman and Nicobar Islands in India

a3 e gia el # = § o fee

YRR o 9 U1 AT &

(A) Moist Deciduous Forest/3Tg, quiuret o=

(B) Dry Deciduous Forest/3[%h gutgret o=

(C) Temperate Forest/ftaremm o=

Choose the appropriate option.

Sugh T BT

(a) Only (A)/ (A) Faad

(b) Both (A) and (B)/ (A) T (B) &

(¢) Both (A) and (C)/ (A) T (C) a1

(d) All (A), (B) and (C)/ (A), (B) a1 (C) &+t
Ans. (a) : 39 R FHER €9 gl # o7 guford
&9 U S ¥ 1 T8 URA F1 UH b WG S B @
e A @ % o § i wemrR | fug @) a8 %
B a2 D e a1 81 3 ToHE U1 sl 2
20. Read the statements (A) and (R).

fr=r Al X =t ufew -

Assertion (A) :

Granite are solid rocks and
desirable for buildings,
ornamental purpose and as

rinding stone.

hdd (A):
fafegT s, wemeEt 9
e & dF W g ®
el STt %)

Reason (R) : They have large grains due
to a very slow cooling
process deep down inside
the earth's crust.

HEUT (R) : geat @t udet o wga el
gfit-efit g1 T & &R o
oS AT HET A A B

Choose the appropriate option :

IUYh Torehed ST ATe I

(a) Both (A) and (R) are true and (R) is the

Consider the following statements about winds
and choose the correct option.

U TTT s it ufgu aur WE fashe w1 e
HIAC :

(A) Monsoons are example of seasonal winds.
Tt Ta Hidt ueEt s SerEvr g

(B) Seasonal winds blow constantly throughout
the year in a particular direction.

o W Tar fatye feom o

Teret et #
(C) Land and sea breeza are examples of
permanent winds./ T o

Tt UaHT o ISR B
(a) Only (A) is true/dHae (A) T& 21
(b) Only (A) and (B) are true
F9A (A) 7T (B) T 21
(c) Only (B) and (C) are true
Fad (B) T (C) T 21
(d) Only (A) and (C) are true
FIA (A) 7T (C) T 21
Ans.(a):qaﬁﬁﬁwaﬁﬁéﬂfﬁﬁw, o
g SR W Yad| HiEd ged, 98 qed @ e
Yafed &4 i femd gug ar wew & SER uRafdd @
S B 1 e, YR T AT e S gee & e 21

22.  Read the following statements in the context of

peS ’

condensation :/ e = =

(A) Water vapour condenses to droplets of
water./STATaTeq CE ST
@ S I E

(B) When droplets of water become too heavy
to float in air, they come down as

precipitation./ST W <kt P EGE iR g
& Wt € o 9g § X T "R, 99 F auw
& w0 Hrer 3 At €

(C) Jet planes flying in sky leave a white trail
behind as moisture from their engines

correct explanation of (A)./(A) T (R) EEll condense./3TTRTIT W 33% STErst
e & T (R) TE = @ (A) F I Wi U forg Bisa & it se o
(b) Both (A) and (R) are true but (R) is not the Trrerett et werfra 2t st §1
correct explanation of (A)./(A) T (R) &l Choose the correct option :
T € fohg (R) T = & € (A) F et faerew =1 A
(c) (A) is true, but (R) is false. (a) Only (A) and (B) are true
(A) T8 & g (R) e 21 Faet (A) @91 (B) & B
(d) (A) is false, but (R) is true. (b) Only (B) and (C) are true
(A) T & b (R) T 21 e (B) @@ (C) &l &1
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(¢) Only (A) and (C) are true
F9A (A) 7T (C) T &1
(d) All (A), (B) and (C) are true
T4t (A), (B) 3 (C) T8 &1
Ans. (d) : 9 ¥ 59 a4 & GR¥ST H G FEd 2|
o 79 BT @ 59 i, RHis g ¥ %9 @ s
Wl &1 e HEfd gt 38T B S Y g2 S &
I8 ufspar A % ol 8, w9 9% $ el § &
THH TN BT 81 AW TH YHR w1 GO & 2
ST # IS g TF S g8 oS AT 619 W fo%
Bred ¢ Hih o ¥ fwel T gutE & S R
THfTT g % ged F (A), (B) 3R (C) 98 21
23.

The Tibetan antelope is hunted for its wool
known as shahtoosh as :

ferearelt TEietiT w1 TR 38k e YRR’ &

ot ferenm <mar €, ==t o |

(A) Tt is light in weight/€ T ¥ Tkt 2T &

(B) It is extremely warm/Jg AcTTeres TH BT §

(C) The animal is found in large numbers

T R g SAfreh & | Ura Wil §

Choose the correct options :/F&l farered 2|

(a) (A)and (B)/ (A) 3R (B)

(b) (A)and (C)/ (A) 3R (C)

(c¢) (B)and (C)/ (B) 3 (C)

(d) (A), (B) and (C)/ (A), (B) 3R (C)
Ans. (a) : et T & WHER 396 I W F
forw foFam ST @ i a5 Ao § ol @I @ adr I
s T off g ?1 98 ER et Ter # o S|
g1 39 PR 3T 988 TH, TH, 791 g ST H
ferw foFam ST @ ST STHAR W YR F 9% 9 @ g
MR Ve IR &9 T 9T H T & A6 & ®9 §
fRu S & qu1 U Wi W F o f9 ¥ uiw fosd

T T ST AT B 2
24. Cons1der the following statements (A) and
(B)./~f=r feuw Tw = (A) R (B) W foem &

(A) Renewable resources are unlimited and are
not affected by human activities,

Haree it g € iR g W At
Terarmaett st wuma = g 2

Ans. (d) : TaHONT GHEA § GEEE @ SR T AR
wﬁnwﬁ%araﬁmﬁgq e fepem ST Wt @ e
ST H o S GehdT 81 % o7 g off shed
%qiﬁiaq—cﬁ qa Sell, AT e TR0 GO %
3| ST T 3 G § A vew i
q@ﬁzﬁm\aﬁmwﬁq#{ﬁmélw Y2
T TFRE NG FENFONT G H I 31 T
(A) F9 AT &, S (B) T 21
25.

What will be the sequence of the process of
taking out minerals from rocks, it you move
from earth's surface to inner layers

I el AT it UfehaT el
U AT BT 3R 3T geeft ol Wag A SHeh!
ATk el deh WId & ?
(A) Open cast mining/f%l":ﬁl' a1
(B) Shaft mining/&Ueht @

(C) Quarrying/3m&—=

Choose the correct options :/F&l faered 2|

(@) (C)-(A)-(B) () (A)-(C)-(B)

(c) (A)-B)-(©) (d) B)-(A)-(©)
Ans. (a) : 3G, T, FIH T T8 Tl 9
B F A FEAR # S w2 St gl A

e § 3T MRS 7@l a% I 2|
26. Consider the following statements about
practice of shifting cultivation,
wesd # fAfaiaa weAt W faem i
(A) There are areas of heavy rainfall
3 ol aut arer & B
(B) It is practiced in areas of quick
regeneration/3g q et o
wEIfeTd gt 71
(C) It is also called 'slash and burn'
agriculture./39 ‘hd= T g HY' & AW

[ oft I ST B

The correct statements are :/9gl ST % :

(a) (A) and (B)/ (A) 741 (B)

(b) (B) and (C)/(B) @1 (C)

(¢) (A) and (C)/ (A) 71 (C)

(d) All (A), (B) and (C)/ (A), (B) T (C) &+t
Ans. (d) WEal H & def ¥ = w9 2- 3
o) o A 8 A g T8 A TTel e A e A

(B) Renewable resources get replenished | |87 YafeTd 810 €1 39 HfY JUMCH #i Hid T @ B &
quickly as compared to non renewable ||qm ¥ ff ST ST &1 A FH S AYT & A T
resources./ O g | g, ST e m}wﬁqﬁmaﬁ(ﬁﬂ(
Teftertuftar Tarem Sedt gAgRa & 9 & || # s=fe 2

Choose the correct option : 27. If you are discussing Prairies and Velds in the

&t faerew &1 =@ ) class, on a world map which region will you

(2) Both (A) and (B) are true/(A) 3R (B) 3r w& &1 mark /37T 30 whem H Gar qeE W

(b) Both (A) and (B) are false uferet 7=h_l' @ % v g fava et W foRm
(A) 3R (B) I e F &1 whl 3ifeha AT ?

(c) (A) is true but (B) is false (a) USA and South America respectively.

(A) T& & Afh (B) o 21 e T SRR S ST ST

(d) (A) is false but (B) is true (b) South America and Canada respectively.

(A) Ted @ W (B) Wt £ 31T HATST FH:
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(¢) Amazon Basin and South Africa respectively.
I T aTHiEE S
(d) Canada and South Africa respectively.
FHATST ST IR TR FH:

Ans. (d) : 37R 3T H1 & J3f 3R dog W IR== A
® 2@ A v gERE W OFAS: FAer 3R s
ST & I Sifehd FT| 7 AT Heaea a9 & &
Har # 33T 21 A7 30° § 45° awyiE & HeAad! Wit
# U 9 g1 I Mems # weia R s g #
HROT 59 ol b TR FwE-wE 50° 3l sTwiy A%
AT ST @1 S W % HQHl B g oA SRS F
FreT § 398, s 3ETd, aiia § U, @ ST
¥ Jo, T § RO aur i § SR %e1 I 21
28. Consider the following statements about

stereotypes :

el UT Lo AR

(A) Stereotypes stop us from looking at each
person as a unique individual with his/her
own special quality or skill./ %l grRuTd
& e st ot oA 3R arerT =y
% U W O T GHarnd g gehdt €,
& WY H @A | Uh T 8

(B) Stereotypes fit large number of people intg
only one pattern or type.

aﬁwﬁﬁﬁaﬁmﬁmﬁa@ﬁ
T Wg et &

(C) Stereotypes affects all of us as they give us
opportunities to do certain things we are
good at./&lg <l TH 9 WX 99T
gl ¢ Fifeh 3k oIeTd &6 S Il &l i
o1 treRt firerar & Romml gm o €

Choose the correct option :

TE farehed T o= Sifvg

(a) Only (A) is true/ae (A) F&l 21

(b) Only (A) and (B) are true
Fael (A) 791 (B) & 7

(c) Only (B) and (C) are true
Fael (B) @41 (C) W&l &1

(d) All (A), (B) and (C) are true
T4t (A), (B) 71 (C) W&l 21

Ans. (b) : EedE TH THR & [GERET 8 S et
F AR F QW g G Tt o @ oa @ e W
forvamrd et @ wd S i wieR w1 21 wfeas wRad
H EHR T8 FA 21 TR T § A W W & ferear
T 21 TE 9L T ¥ A B U & BN & @i §
S Tl 21 WY & weas gomd g e =fe @
G R A AR ™ @™ O 9 eward &
gebel € % ®9 § 3@ § T 0 31 o1 wigelg uRonsi
% wadf #§ A1 B W 2

29.

Identify the areas from those given below,
which have notable cultural influences of Arab
and Chinese traders in the past :

¥ I O i TEe R
aﬁa‘«ﬁaﬁmaﬁraﬁriﬁw%mﬁa‘r%
SeeIETT Hitepiceh quTe 872

(a) Punjab and Tamil Nadu/4sTa 3R ?‘Iﬁl?l’rﬂ'g

(b) Kerala and Ladakh [T 3 SEEC)

(c) Assam and Harayana /37849 3 gRamn

(d) Gujarat and Telangana /TSIId 3N et
Ans. (b) : A 3R TEE I8 & T &7 §, 9@l ¥ |
AU A R HH F FuRE F Seokaig Wikpfad
TS ¥ ERE WH] 3R BYER F @ ¥ werredt § awn
T A T g e F TN & g o e
T TR I BieT fiewd off FE1 o 81 B,
T aiyerdt i § T wélw@q@éaﬁf@

S

STet ¥ g-a-g e € iR 3% H-aen wed %l
30. The President of India is elected by :
O o Ul /T I o g 8T 8
(a) the council of ministers and their head.
EIERIRCCT R I ICRIE AR ELEY
(b) direct election by eligible citizens.
I AR ENT e A
(c) indirect election by the electoral college.
Hed g 3Ty A
(d) indirect election by all the elected members
including Panchs./d< 9fgqd ¥+t Tafd w<=i
I 3THRT T
Ans. (c) : 9T & UL F gAE o= ded g/
AIRT A b FN AT &1 GRS UL BT AT T
fratess Hea & wregm § fhar Smr 8, frad T== @,
g SN T gt % el ge@ =
£ A & AEeH R T @ (EC) SN fhar
S 81 frates qed §98 & 399 ud e g (T
T R ASH FiEa) & gt i gew= @ o
3 &= wE weul (el e qgad) & faum gsd
(Frerrarent) & fatfea ge=di @ o @ 21
e — 3. 54 — TEUW F A
3. 55 — TR & A FH FfRAT
'Our Constitution ensures that Government
system doesn't involve only a few privileged
people making decision for everyone. There are

different levels of government. Which derive
their authority from the Constitution'.

‘g wfea A giAtea s ¢ fo vmee w
AT KA FHS fIIaTierga A st wiAferd
& et s el o fog favie o) TRt TR %
fafsr = € < dfgem & & ool aren ofX
R U e E

This explains the following feature of the
Indian Constitution./9g

frrefafeaa fagroar #i s & ¢ -
(a) Federalism/§=eme

(b) Separation power/SIREAT T AN

(c) Secularism /eefeCTeTaT

(d) Parliamentary Government/SHaT IMHA

31.
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Ans. (a) : 39N SfayH I8 gifved s ¢ 5 wee &t
A Had F foRimfigd @ @ afmfad T
sl & fou fofg o w8 wer & ffm W § S
dfeee ¥ & ol ded SR SRER W A 81 T8
g G@fEuE % guere fewer @ e s gl
Godae (Federalism) e &9 ¥ TH 59 TR U
(Dual Government System) %, i ™ = 3N e
TS el B 81 weAE e S g e e
¥ 9w g 99 5 gaew IEeE T TEIR. &g
AW YRT T AW § geudr o1 5 U9, @9 F we
Iqi T @ ok T S AR gifvEa e @R 6 as
F wfeRdl 1 Faen A&l ST

et faaraer &.91. R & ER ‘G Sy #
TH ‘-G (Quasi-Federal) 71”7

32.

Which of the following situations most likely
represents the condition of migrant workers to
an Indian city ?

T ¥ B O Rafy wra & U vt § oy yard
TSI Sl STEEAT <hl Terd Shifel | et &7

(a) Babu owns a pucca shop in the main market
of the town, which gives him income
throughout the year./aT e * T dNY ki
TS U9H 3FH F WS 8, T 3 R ad
1 e 71

(b) Rajan sells his wares from a cart during the
day and on which he sleeps at night./TsH Teh
3 W & # 9= S @ SR @ g WS
¥ G S R

(c) Joy starts a showroom in a new mall to sell
branded wear. /Si1d Tsh 73 QiU A § sige
FIES! BT ST Gl 8|

(d) Veena has a dental clinic in an unauthorised
colony. /U U& HMHd T« #§ TH A
fafhedrera = 21

Ans. (b) : TS U 3 W T & g s=ar @ iR @
B W H G S 21w R wRa % v #
T Fardt TSl A B GOd Hdd § w2
3T e M ¥ R staRe o1gar siaeta s
% N AN @ SENTE Bl A %ed 21 A
yar gfte affrem, 1979 § vard sfie @1 fge s
aret Teft sl 1 dsfid g Sifard e e 2

33. Consider the following statements about

putting out system :/' ST cHeEAT’ & Had o

fore et W feem =

(A) It is prevalent in most of the big industries
in India./9% SHEET URA ¥ & SN W
gt 2

(B) In this system merchant supplies the raw
material and receives the finished product.

(C) In this system craftsman mostly work at
their home or at workshop.

wﬁwmmgwmm
T wret T B
Choose the correct option :
et ferenea A1 =& Wit
(a) Only (B) is true/&aet (B) H&l &
(b) Both (A) and (B) are true
(A) 71 (B) aF1 T&l &1
(c) Both (B) and (C) are true
(B) @41 (C) 2T &&Y &1
(d) All (A), (B) and (C) are true
woft (A), (B) @1 (C) &1 £
Ans. (c) : TET IR ¥ AR SN ARAT % AT ThH
ATec Ty Td gier 8 | s s sheen Al <
2 3R Y TIR IS W BT 81 I ST Il R B
e &dt § g sart § v #1 T g
NferheR 2107 SR AT HrAwTen ¥ HE FW 81 37: (B) 3
(C) Ho T 21
34.

The killing of Hector Pieterson by the police in
the wake of a protest, is an episode associated
with which of the following historical struggle ?

T foly wewie % dRW giee g

Wet@= & g o uedT, foha Ufagiaes dod

A EgE e ?

(a) Struggle against racism in America

| TR & e e
(b) Struggle agalnst monarchy in Nepal
AU § eIT 6 Raers ges
(©) Stmggle agalnst apartheid in South Africa
7 g A & faers dod
(d) Struggle agamst colonialization in Algeria
% fgers T

Ans. (c) : T o0y yeuiA &% W@ qfw 3w
g & g @ ", Ry e H Tmwaw Ay
fgars dod ¥ S g 81 TTe womeh F @t @
T H T F MER R i & w1 Fe
T 9% YUTEll o HROT & 3T¥ad @Ml Sl 7asH & SAEHER
g dfed war T {9g e 4 SufavEng 3R S
F T H A e & fgers o gl % o g
1994 # IR STHIHT 7 ARIRFHR WA I S 3N TH
U e @ famier w0 G W faey o e 5w
Tu ffifa dfeem § woft &1 = sfeR e T
35. The Hindu Succession Amendment Act 2005 is

a step towards gender equality for which of the
following reason ?

arterfae amr 2005, FefaRa

# & form &R0 3 @RTT TEET @ IR T
wew §7

(a) It recognizes the right of daughter to retain

their father's surname upon getting married.

|

13

FEH TN Feell WA <A & A7 39 G 7 Al 1 faae F a8 ff 99 Fom @A
HTET YTeT el 2 T AR 2T 2|
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(b) It recognizes the right of daughter to father's
property./gg sl &1 fyar & Fufq W ARR

feemmar 21
(c) It recognizes the eldest child - whether male
or female to be the father's Successor./J8
Tgd oSl HAW-asHl A ASH-HI fUar
ST H1Fell & |
(d) It recognizes the right of only unmarried
daughter to father's lands./a8
et w1 e 3 S W AR T 8
Ans. (b) : &g TR sifefam &/ 2005 & IR
Tg dfedl &t fuar @ guf W iR feemar 81 Ry
2005 H 1956 & 3ff=g § Henem & a1 ¥ a9 2005
g Afgensi # guft fFaeE & o geafis & ®9 °
A & ME off) sw it & a6 # deiem feer
T 47| i Uk Heards (Coparcenary) i ‘13?[ & o
S W Healeh g S Heh a9l qE ieh FHAA
N T HEYUl Hed 2|

36. Indians celebrate Republic day in order to

mark
&% fo = ae & & fog

R
Tures feee waTa €
(a) India's first general election
T & et W A
(b) India's independence/STRd & =
(c) Enforcement of the Constitution

Hferen o on] g
(d) Completion pf the writhing of the
Constitution /S I o@= T g+

Ans. (¢) : TR WU & A & F & B AR B
F foau MU feaw FE ) R S @ g g
ARA THR AT 1935 T SR 81 AR i HTee
26 TR 1949 i ARG €9 F ifipa fFan T qon
26 A 1950 H TRAE HfaE qof ®9 § @ gaT o

Ans. (b) : YIRG & HfFgeM & 9N IV (37, 36-51) ¥ T4
% Hift Ry fRrgra (DPSP) vt 81 a8 3ReIvE &
Hfeer & foran mar 81 429 ©fawm @9 1976 % g
3 39 (A) ¥ Fa T TsT e B e B
el FH HUT1 T T yeT § off T # o W
T P2 AT FH TE Al B 8Y 3. 39(A) & T/
TS gN e faam s
38. Read the Assertion (A) and Reasoning (R) and
choose the appropriate option
m(A)a%TW(R)aﬁv%qw
3IUYh TareRed T oA i)
(A) The decisions made by higher courts are
binding on the lower courts.

e & hee fe @ wrd
AT Rl 7 B £
(R) India has an integrated judicial system.
AR o T Tehthd aE g
(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)/(A) R (R) gt
T & a1 (R), (A) B H&I AR |
(b) Both (A) and (R) are true and (R) is not the
correct explanation of (A)/(A) (R) gt
e € @91 (R), (A) 3 T =A% 78 2
(c) (A) is true but (R) is false
(A) T8 & T (R) Tefd 21
(d) (A) is false but (R) is true
(A) T @ g (R) T 21
Ans. (a) : 90 =EE % S F BEA & B, 98 A9 &
it @Rl B A B &1 9RA S Hdied e
= e & whh % WY 3w & I A 2
NG UF T TF & U 3T Tebel a1 Thihd 1M
I RO N SN | o 98 U § f
(A) 3R (R) EHT W& & 91 (R), (A) FI G&I = |

. > 39. Consider the following statements (A), (B) and
T T 26 SFa & & fead Mo faew & €9 7w (©) : HIAl (A), (B) 99T (C) W
ST 7 feem ifvTT
37.  Ramya working as a support staff in a bakery (A)Tawa Matsya Sangh was formed against
has been falsely accused of stealing her building the Tawa Dam./dal A I <kl
employer's costly mobile phone but she cannot ST T4 & & i & Raems T3
hire a lawyer to defend her case due to poor BT ¢ Sanch P d f
economic conditions. According to which Article (B) av:a " ma tsﬁ’ a ;Itlg f ;vas " (()lrm?l 01;.
of the Indian constitution will she be provided a K/}'g d(;lc ;nig’ra de ngt s ?1 i nore; hi Xe aircsla;)n
lawyer by the state to regresent her case ? for thzlr llvelflsloog /%)mlq%ls.q; g_c.m ST
"”.aﬂmﬁ i e Y9 ok ST frrante o e frdew
aﬂ?ﬁ%laﬁmmwmlﬁaﬁauﬁ? % forg &t 7T WBRE e & W W
TWH & IS ANT T AR T T § W T 2 :
o S T Rl Refe & wer STy e < 1 T8 < e gar e
—_— B ¥ Fa (C)Tawa Matsya Sangh provides loan to the
aiiflq &l ' . T fish workers./ddl A €Y Ealen
gl & & foe awde @feae & e oft 3 Y SHaTYT AT B
3@@3%’7 SIHN T BRI SehieT foa ST ? Choose the correct option :
(a) Article 38/3T 32 38 Tarere &1 <ATa Sitaa)
(b) Article 39 (A)/3T=2 39 (A) (a) Only (A) is true/ae (A) & 21
(c) Article 40 /E'Flfjt@?i’ 40 (b) Only (A) and (B) are true
(d) Article 21 /37 =% 21 Hae (A) 7 (B) &I €1
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(¢) Only (B) and (C) are true
Fael (B) @41 (C) §&1 &1
(d) All (A), (B) and (C) are true
woft (A), (B) @1 (C) W&l €1
Ans. (¢) : 1996 3. § T&F YW WHR + TE 99 fHar
T S & TANE ¥ AScll Uhed & AUHR TE 9
fereenfoat &1 € feanr STEW Al SR F qe qod
T H Sy § 0Dl Gehed & foTT gi= @ & gsT (i)
[T PR A 3R 39 @ 2 SHad 1997 H a1 &7
33 el o @M % T Fer W wet evdf § aRe gami
TaT A T AR H B A F e ff F 2

T JHR I (B) 3R (C) T 2|

40.  Consider the following statements about Tribal
languages. % g o few g
fr=r e & e -

(A) Santhali has significant body of publication
including magazines an the internet./SeTeft
WTHT T 30T St AT | WeRl9 Bl &
o getae W utentd ot wmfirer 2
(B) Tribal languages are radically different
from and possibly as old as Sanskrit.
AT HERd & e ¥
R Heraa: Sa-t € gue €
Choose the correct option :
W farehew T ST I -
(a) Only (A) is true /haeT (A) &l &1
(b) Only (B) is true / &ael (B) &l &1
(c) Both (A) and (B) are true/(A) 79T (B) 3 T g
(d) Neither (g%_{nor (B) is true
T A (A) R T & (B) W
Ans. (¢) : @8 2003 H 929 Gauifes Hmed sififem
Z TATel & ARG Sfaue Y sTedl eTgEr § el
T, Afrel, amel & @y 9Ra # RERE 9w F
&7 § g A T 21 eMedl ST § 3w
F F o o1 fF ARG TR Helt 9 & faEw &
foTT e 1 ol s # gt W e f it 2
WRA @ A 2011 F SOAT F SER, I W F HEen
A ad 70 ARG T AH A Z| SR A Fere:
W T Gd ¥ Fega STem @ 81 39 IR SHemd
el & Gedt § FU9 (A) 3R (B) 2F 9& &1
41.

Match the following column as :

Column X Column Y
Approach of Learning | Interpretation
Social Sciences
(A) Behaviouristic

(I) Facilitates
integrated
knowledge

(II) Accumulation of
finite sets of
skills and facts

(I11) Disciplines
remain
independent

(IV) Learner centric
and contextual

(B) Constructivist

(C) Multi disciplinary

(D) Inter disciplinary

Trfefaa @y &1 fiem it -

wAT X HicTeh Y
|mHTRTeR fagm= Teraer /31ef
AfenT & adeh

(A) SHIRGNETE () 9ol IE |
TR AT

(B) TETE 1) dfE &ea 3R
T 1 HET

(C) g-faweass surm | (11D) ﬁrﬁﬁg TR WA
g

(D) 3fafde=i 3umm (IV) stfermeedt  Shfsa
3 s

Choose the correct option./&t Ty i\lﬁ‘l
(@) (A)-(1V) B - (D) (C) - (D) (D) - (1)
(b) (A)- (D B - (V) (C) - (II) (D) - ()
(©) (A)- D) B - (D) (C) - (1) (D) - (IV)
(d (A)-aAV) B - (@) (C) - (1) (D) - (1D

Ans. (b) : T8 gHTH IH YK 2|
TS ToR Terarer/ared
TR o Tl
(A) FTTRRATE diftr HIere 3R qel & g=
(B) ToAETE ferTHRdl hfvsa 3T T
(C) 5-foras surm | fomar Hen T@ed 2 2
(D) fafdwdt 3urmy | HTeRfetd I § TREAT ST

42. Which of the following is the

explanation of the term 'site' in history ?

frefafea o 9 &= @ visg sfea ¥ g’

correct

T AT TEIA HIAT § 2

(a) A place where store tools were
manufactured /98 T &l U % ISR
feomior fopam S e

(b) A place where the remains of things line tools
pots, buildings etc were found./d8 ¥ S@l
SR, T SN ARG S aegel & e
firet &1
(c) A place where hunter - gatherers used to live.
T WM el HWH-T FIEF T 9|
(d) A place where remains of ancient engineering
works were found./d8 M W&l WA
EShifafin s & srawm fire &)
Ans. (b) : 98 M SE SR, adq S gANA Sl
e % A el & 4 o SR § g ) ad
R T FT & | I AR s s e ash
F T A g & A sfREERl 4 g6 AW wnh |
e -
(A) iR Hra
(B) 3T - Uferifes
(C) Tfterfas F1a
TriferTes et &1 sfierd quid: quateas aedl ¥ & 3
g 8, i 9 et o B1E foalad e Suers T 2
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43. A teacher wants to discuss about the lived

experiences of a minority community with her
students. What would be the most appropriate
teaching strategy?

T rferert srom ferenfefei & wrer sreudETw
TS % e Iguat & W W et
et ®1 i o orfa Sumeh fraror TuTifer
arft?
(a) Charts on Constitutional provisions for
Minorities./37eq8&a®HI % T Hagi=es
TEEH W AR |
(b) NSS data on employment of Minorities.
[ & YSMR T TH.TH.TE. S
(c) A feature film having a ManI‘lty
character./Tsh BR e S0 & 3cusTsh
fohtam 21
(d) A Presentation on people's daily activities in a
Minority dominated area./37cqHEH T
act &g # i F e kel |t
TR |
Ans. (d) : STCUHEIE WA 9 &7 § @l 3w
TicfeerEl T T ST, T Al Iuh fRRI0T Wi
B o W ww ol stae foenfei & @y sterdEs
geE & o Iwel & ar # wel F a2
qRE e § o sreqde @i % day § e o 2
3. 29 - TCqHEE I & fedl F1 GREIUT, G e
AferpR Sfectfiad 21
3. 30- forn deEi @ T SR YOES B H
FqGEIE T B AR Fa e 72 2
44.

To introduce elementary school students to
issues of caste based discrimination, which of
the following resource can be used?

yRitwer e o feenfofat e wrfa smenRa
TN %k Y W URtad @ % o,
frafafeg & & =9 ¥ d@9eE @ wET W
Hha 82
(a) Ashokan pillar inscriptions
A S eTe % WY R @ gu )
(b) Text on Reservation policy
ReToT Hif7 W g
(c) Universal Declaration of Human Rights
SRR BT Hrefet-eh ST
(d) Narrative of B.R. Ambedkar's childhood
experiences. /3. 3T 3THEHT F TEE F
3T¥El & g |
Ans. (d) : F.3TR STEH & TIYT & A & JaA F
I yRftves o & fanfefel @ snfa smenRa d=wma &
T ¥ oRfem F F Y ©F weaql 9 @ w2
TEF H SR WeWlE H g wH dq 1936
H AR 3 S (Sfa ve21 &1 fommn) ame g
forddh

45. A history teacher wants to teach 'Rise of

Mauraya Empire' to her students. Whihc of the
following teaching aid should she use ?

™ ‘tiref TrTerer B SEa

fawar w1 orum faenfeal = ugmr wmEdt ®)

frefafea & 9 = & Rreor e amft

H TEAHTA 3% AT TTfRu?

(a) Comparative Timeline/qeTIcHs THY @

(b) Line Graph/i@T EIte]

(¢) Progressive Timeline/SFTaeiiel I

(d) Bar Graph/g 3Tei@
Ans. (c) : T S8 & NeAMYH 414 TG H 387
fomar ot 7o ferenffdt @ e Redt 31 T fo S®
yifoelia gwa Y@ fow geee St & oW &
=R sfereiiel 99 3@, IR 3faerd & 99 @ g,
s R R 39 qdadl Tedl § wequl FEET R
&t aRads o1 TorHifae sreaTd Snfier 2i 21

46. Documentaries to teach about 'diversity'
relevant, if the teacher uses it for

‘fafyear % WR ° TN & fau qaﬁ:lsr
TR € 3R frereh SRt T & fog
AT 2

(a) Providing experience of life in an unfamiliar

geographical space./Tsh TSI 1
H Sfted & 3Tva 3T FH

(b) Keeping stduents entertained
ferenfofll o wAR

is

(c) Showing the'weird' ways in whihc others live

their lives./378 3194 S # &9 Sfid % 34
‘eia’ @ it &t feme
(d) Breaking monotony of lecture method.

R faftr S TG F 9T He
Ans. (a) : [f9d % 9R & qgn & fou gafem gl 8
3R fY1ereh gHe AN Ueh ST WiTifereh T H S
% 3TVT YA FA H [0 B 2| Fafaeer § e
T8l W I8 2 T SeM-3e FHR o o, el 9o 3
Fofq TS| S : R TS fafear o T 8, orefq
Tgf fafte wer & aiferal, qd 3 GwEd e e
ol we Siferat ferdt €1
47.

A seventh grade social science teacher took her
students for a visit to a village Panchayat office.
What are the benefits of using this pedagogical
strategy?/Ueh WIAel hall ohi WTHTNGR

I feemfdei wt W UwEE
TER & N W o Al 81 39 reror fafer &

ESIRICCE ¥

(A) Furnishes first hand information about the
topic. T geaeT WHehit/S[er

(B) Effective means of supplementing topic.
frwa ¥ At %
pPeiciierieal

(C) Links school life with the life of the
community./%% Eal
T UUeh TATUT ST
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(D) Provides a framework to record events and
developments./‘élz_—lTBﬁ AR AR T T

HE WG WS T

Select the most appropriate option.

3fera faerea gfAT -

() (A), (B) and (D)/(A), (B) 3R (D)

(b) (A), (B) and (C)/ (A), (B) 3 (C)

() (A), (C) and (D)/ (A), (C) ¥ (D)

(d) Only (A) /Haa (A)
Ans. (b) : 9T & IR H AFRE TWbr a7 H1 T
e fava & aR H Yot SN S aur SRl Stad
Eal Sfeq ¥ e w©ftd S 98 9e fafse
& Y@ @ 8, s SFTia U Wl s @ e
o eteanfyer oo fernfefai & a9 Y= & SRR &
R W I B e B A & SR I & ¥ 3
Aiferss e afdhe e @1 ¥ 8 @1 N.C.F. 2005 &
3TIER, F=dl B e IR § S W AT
48.

Which of the following teaching strategy is best
suited to teach "gender sensitisation'?

frafafas & @ wE-dt Rrew-fafr ‘Se

HadieRuT' Rl UM & foTu wafam &2

(a) Discussion/gf=rat

(b) Demonstration/S&i=

(¢) Lecture/aaM@-

(d) Questioning/T¥-fafer
Ans. (a) : SIS HIHOT T TgH & foaw garq fymegor
fafr o=t @1 foem & Sver dadewor @ erd @
& o’ & FW IR A% R AfCrBT B FAH
Sifers At UF A SUG FHUT1 O 3
Sifereh Iyl W o 9% & FWOT T T & G| S

TSR 21 AR T & IR qoft IR geaih
A H o A B
50. Which of the following methods of teaching
social develop learners ability to propose,
argue, counter argue and present facts and or
view points.
¥ q s-dt |mres fom Rt
fafer, feamfelat &t weaTa & 1, aTfches S8 Q@
I T, FATE Teh ¢ @t X dqeAt ar feemt
T JEIA I Rt QTHAT SRy fereha et €2
(a) Debate/as-fqarg
(b) Discussion/aR=at
(c) Field work/&r s
(d) Project work/qrRaTsHT sk
Ans. (a) : FR-farg, G fogm ey fafy, foenfe
F TG F Fl, A(hsh a8H HEA H, TN Toh & H
R ngh 7 el A T B H eEar H i
HA B
ae-fae a1 9&9 5 fovg | ==t 9 S iTEe
fafy 31 ae-foae § @ wer fyola Rl & grds
HYA-STUT T T § R g & FoHl F GUSH B
WA HA 81 AR e uh R qmREs e @
i e o oF "eartt &9 ¥ fhdl 9w a1 g
W ST e 21

Hadior | o form &1 meequl Iee 21 fomih||51. A social science teacher in elementary
e &Y ufzper § witnfoa ooft aa S9-fommer, e, classroom want to introduce features of
: ~ e different types of rocks in her class. Which of the
SIPH, TSHARY T Bl I T il following activity will best suit her objective ?
% BT AR 1 A % FA SR o ) e Tt T Wt Weh frfrent atoe wem o
Radd % yq@ fames 2 §) 3 e ¥ a=d & I B frey 3
Hied @ 81 ferendf s & STEor F 2 ARG
¥ & i fafafin sHe 39T ¥g W AfUw
49.  Which of the following strategy is appropriate e Wt &7
in promoting critical thinking in students ? (2) Showing a model of earth's layers and
d 9 _;;r 5 d discussing about it./Jedt & WA B FWd
dﬂo'uow;-ueh qre qredTed A SER Hied &I fe@mr 9 39 W 9= SE|
SUqh & (b) Explaining and reading all the features of
(a) Asking students to accept all information as rocks given in the text book./dSII&H 7 &
true. ¥ weft el 1 9 wHE TE Seft & fergiaredt i gg ud Hg
Wi FHTATI (c) Ask students to collect few samples of rocks
(b) Making students to accept all the opinions of available in their surrounding.
the teacher./ forafiai & 3reamass & WR Adl & 3% H-UE UT SHeTel el H ShgT
et BT & fow e
(c) Assisting students to recognise biases. (d) Bringing different types of rocks and then
I JIUN g B TEE HEATI using them to identify their features and make
(d) Helping students see a situation from a single comparisons. /[T .W kil ‘ﬁ?ﬁﬁﬁ SURIRCEL
perspective. F oRftafs & ok WWEﬁﬁaﬁﬁﬁwﬁaﬁW
TSR & @A G T A H H FEAT
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Ans. (d) : 9 fogm & us Rfeer e7o
Freft st fergand § gafa foma gE o @ R
fafirsr SR o Tl B AT qGT TR TAN S Gl
fersTensll b wga FT qorT T H AT Sr wfafafer
4% I2YT 3] T S we @l 2

gt fog= warst @1 e 2, 39wt gsf &
YN T IS &1 LTI fhal ST 81 I8 g T
WE F TR F AT B g1 A TAN FH
METIHATS Td IHH B @ Igelal 1 g Teged
IGH e AN I S I HA 2

52.

In discussing coastal landforms in India, a
teacher in Rajasthan could face pedagogical
issue of :

URA & TET AT UgId gU, TS & Brerh
ferm Jrerfines THEAT T WIHAT T TR &2
(a) Building context for learners
BH & fou ded a9 §
(b) Providing print resources
yerifera Tl Suere HUA A
(c) Assessing students knowledge
e = §
(d) Completing the syllabus in time
TSR THE T G F |
Ans.(a):ﬂﬂﬁ%ﬁﬁqwm?w%
forerss BEt F g Geof amm § Sl wHE &1 9w
X THT 2| o VT FHETE 39 BN g-
(1) TR someht umash 7@ 21
(2) UISTRHI | HARIRehT i HHT
(3) Tl TR & Hhel s AfvaH-Ea
(4) STE TorE H FH
(5) et waiem, fomerss &0 fomm o wfiwwr, wpa
T 3R Yele & W A FH|

Which of the following are existing hindrances
in social science curriculum?

TR faem= ueTeEt ® frefeafiea & @
i it fergrmm et €2
(A) Existing pedagogical practices in schools.

T ferermm foreror smefir wemd

(B) Pressure to perform and score high marks.

53.

3BT qAT IoA 3k YT HAA T
EEIE]

(C) Lack of scientific inquiry and skill
building. STANUT AT hivTer Tomior
Rl AHTT

(2) (A) and (B)/ (A) T (B)

(b) (A)and (C)/ (A) 71 (C)

(c) (B)and (C)/ (B) 4T (C)

(d) (A), (B) and (C)/ (A), (B) @ (C)
Ans. (a) : e § foemm Rror i god it
3BT VSYA AT =T b W@ HA H @, NS
T et # e arend €1 39 YR e (A) 3R
(B) T 21

geise fo@ ®1 [o wieawA § wfa fear S
ifew, ifs a8 Renfdal o ardfas stem 3t aRftefast
Yo B § | S e awdas g ¥ g 2
7z Rorenelf i a8 g § HEE A § % U 9 HH
FA 21 TS GHANS & GEA AW el GHES # qgEE
F 21 e T Y Rrn & wew # Afved e d
o tfereh it 39 QI & St <l S a2

54.

A discussion on National Movement in India,
with elementary school students, could refer to
sources like .

TR foramer™ & Sl o WA WA & TE

TS Wt =l o forg o &l st Seefiad

Tera T wehaT &

(a) Letters and official records from cellular jail

& SR TEdaST 3R T

(b) Cave paintings (Rock paintings)/ﬁsfﬁ ISEESH

(c) Verses of kabir/&aiX %

(d) Ashokan pillar/?ﬂ?ﬁaﬁ Y
ns. (a) : T e & o6l & guet 9Rd & T
T4t & fU IR A F MRS TS

ST Hehal 2| Selfsh T ferashe,

, S Y TGS § et 21 g
¥ wE qfter T8 2 ENREELIE!
e § R 31 U i % N ¥
[ & 39 S H T M AT 39 S H SR
NG F SUEE TR g ARE SR TeHifa
Hfet =t fraffad F F 32va § foan s e
He— FIeR A HI HATH & T8 F off ST S 2

5. Main objective of using project method in
social science class is

faam &t wem § uRASET fafr @
TENT S T G 329 .
(a) engaging students in building theoretical
knowledge. [ # g e %
Gt I % fmfor § o &
(b) saving teaching time in class.
qIfSes fog e § Rweror g9 s
(c) reducing the burden of teachers.
foreten &1 9 HA HTATI
(d) engaging students in real life investigation of
social problems. ‘ EIcCiR:]
IS qoerstl & Siig # Herd S|
Ans. (d) : TSR fome & e § R fafer &
T F T kYT Gl @ awafas Sfew §
gl gHeE # Stg § Gore B 21§
forqm o sorelt freqor stfermy @ gfafved s § afEsE
fafer = e Freforfea 8-
(1) @ R fefafr & wream & S 7 orEfa 3 21
(2) SATHT I AEEINS F T&H HT 81
(3) Tmenfefet bt sraeRes FM Fa BT 71
(4) GrE aTet 1 @isiebdl § sgel ol 2 |
(5) aTEifeh Sfae & oY G § Fate 21
(6) 3T 3 T I Hierer e o 3

>

Jad
&% s

fere
fepan
Kkl

e
H

%

n
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56. Which cognitive process is assessed in the

question, ""What are the salient features of the
Indian Constitution" ?

frrafafaa wo= § sA-d AR wishar @r
Mehel BT §7 WRAE W @ gem
fervraTd s §7
(a) Recall/=AX0T (b) Evaluate/qcaieh
(c) Analyse/ﬁﬂﬁw (d) Create /gsiq
Ans. (a) : TROT H FHTH TiHAT HT She &l 21 TS
T G@feE @ e favmad §)1 'R (AR S
TR §, o ¥ SHH a1 g B [ W B
1 F, Safh FIA B I TG B H TG FH o [0
@ﬁmmﬁwm%wmaﬁw
faferat-
(1) Te fafy
(2) wferefier farfer
(3) fopam fafer
(4) Tt ffr
(5) fafm fafe
57.

Which of the following strategy is not part of
group assessment?

fr & @ - sweifa agg smee

T & €2

(a) Debate/ars-faar

(b) Seminar presentations/ﬁ&l‘ﬂ'{ H’ﬂﬁ

(c) Term end examination/Sid el

(d) Class discussion /el & ==t
Ans. (¢) : 99 Tde FRAT 9 Teheq @ fewm &
g, wefh am-faE, WER s, wen § = S
FEAT Tge HeT w1 T 2
Fret 7 1 ot 3 T2 @ A E R w9 A
w1 F T GrEe AR T FT 3TheH qHfed AHa
2| She H A qd T % GRS Bivel, e
g TiE & AR q1 gl & A9ER ¥ Gefd I
Tt o STbe & T Sgd SUI I S @1 A
& G SAH! Y ST TR FT Gl AT Sl |
58.

Which of the following statement is not true

about  continuous and comprehensive

evaluation (CCE) ?

1 & ¥ ®E-W %o 9aq i s

Tedieh o oY H WE T 2

(a) It caters only to the cognitive aspects of
students behaviour./3@ [ % TR &
hefel I el Sl SFIhel i el &

(b) Evaluation strategies are mtegrated with the
teaching - learning process/‘f’qﬁfﬂ oot
forequT-siferT Sfhen & T wATBle 2

(c) It ensures all round assessment of the

students./Tg ferenfdai & waffior e &t | |ser
gt F3 2

(d) It provides timely feed back to teachers.

7€ SEATH B GHI W TGRS & B 2

Ans. (a) : 909 3R AUH JAiH (@il & Fa6R &
wﬂmwaﬁwﬁlﬁmélﬁﬂﬁ

Tl 8, Wi gad N 9w %an%
worifeat fRwemor siferm wfspan g gABd 8, I8
ferenfefll o waior sther &1 .WéaﬁI?Ta’

Before introducing the topic 'Democracy’, a
teachers asks questlons related to it. What kind
of assessment is she making?

® OYE WA A UEA 11‘05
3reATiheRT Hat e l-oor) Hefe g ot &1 o
foRE T T aiher o T 7
(a) Assessment of per-concept
Td STFERT FH e
(b) Summative assessment/aTh STt
(c) Diagnostic assessment/alTeh 3ieheT
(d) Formative assessment /TI-IHE 3icher
Ans. (a) : TN 99 H IE B T Ted Teh FeAMIH
Fe H 3O GARE 9v gedl 71 98 qui-srEurem &
e AT Tedl &1 WG & Sehel 1 A et
g0 S fYrerT T wfshen & S fRar ST 21 gE e
TeT sevd fomiiEl & i % sER e § guR
R e # gfg B 21 T8 Fe § faerr st wfsmen
% 1Y B B
60. A well designed portfolio should be .
T 3=l @8 feram = AR wiferET
BT =R
(A) Purposeful and systematic.
sHareerd
B) Reflect assignment and
® student.fi%lﬂTaf & WA
Tfefafern s wfafsifem = arer
(¢) Accumulation of a students work over a
long period of time. D Tch KEL
TUY AT ok T T Goa
Choose the correct option :
T AT R :
(a) (A) and (B) only/Had (A) 3 (B)
(b) (B) and (C) only / dd (B) 3R (C)
(c) (A) and (C) only / Fael (A) 3N (C)
(d) (A), (B) and (C) /(A), (B) 3R (C)
Ans. (d) : TF 7= R@ 9§ fEomed fhan won adwifaan
sgevaqul 3R afed gM1 =Ry, fref % wed @t
1 C O 511> O M 1 | e e 1 | 1 O L L
famdf & ws o THE M@ % FW H GEAT BT
AR LRI Th FHR 1 RO H1E a1 Figed gl 2|
o fermmelf & viferes 3fic T-3ifRes @i T@ & S
1 HHEg T U THE HTh W A 8 RO 9 §
el ST o feafia & Suafsr e St & e o
wiferEl § @ S 81 aewifern Rt & e,
feramdl oMt gfieepivil &l AT e T 81 Th Ui wifer
et Y ohites T 1 wiiar & S AT e e 2

o
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T foreres ursrar wfer (CTET)-2022

(CLASS : VI-VIII) 9T-11

HTHTSTR 37T
e goa-u=t

ST 9igd &t

(e fafer : 03-02-2023, 2.30 pm)

1. Consider the following Assertion (A) and
Reason (R) and choose the correct option.
Assertion (A): 'Hanters and gatherers, moved
from place to place'.

Reason (R): 'Depletion of plant and animal
resources in an area is possible'.
Choose the correct option.

frafafga o e (A) 1R &R0 ((R) W fa=m

;3R W farameT T oo -

HAT (A) : W iR W HWITEH ek Teh

WE ¥ gE SE WP w4

HRUT (R) : Foreft gommer o el i Sedt S &

HHTEAT T T BT T 2

T TaeheT & =@ &

(a) Both (A) and (R) are true and (R) explains
(A)/(A) 3R (R) 3T & & 3 (A) 1 (R) &I
ST AT B |

(b) Both (A) and (R) are true but (R) does not
explain (A)/(A) 3 (R) a1 @& § @f (A)
N (R) T =& 481 & 2

(c) (A) is true but (R) is false
(A) T8 2 ST (R) e 21

(d) Both (A) and (R) are false
(A) 3R (R) ST TTed & |

Ans. (a) : ‘AEIH HR T TAEH AT § R T ST

e W AT T o FHifh TR gk & qe i et

Y GHEET B GA g1 W9 @ T AT O T § 3R

(A) F (R) T8 = AT 81 AWH T§ @ GIRH

TR & TH T ¥ Y e W g0 @ & 3 FR0T & —

o TEET FHNUT UE & [ N 3 TH & 8 W Sl fat
% @ a1 SE-I9 & 98, Bl N AR bl DIl
T P Id 9, T oM qeny # 3= g9l
SRl O ST g ATl

o TH FRU TE g & THR o eR, I Ak
foTT ws e § g S S S 9

o T FRUT 7 7 % USH H BA-BeA - HEH
¥ o @ TEfele o S qore § Sugt dew &
SFTHR 3T TATH # A @ A

o T FRUT UFT 8, T AfA-giA, TRA B Bl
T TET B B g@ I §, E arelt A, i
% fHIR WS arel AT B UHT S qAT § gER-3ER
ST g 2

2. "Widows, young women who are differently abled,
nuns, mothers of courtesans, retired women
servants of the king, women who have retired from
service in temples, any be used for processing wool,
bark, cotton, hemp and flax". This guideline on
spinning and weaving workshops is described in
which of the following texts?

", TSt W BTSN, HUTH, UL AT T o
TIOR A & hM | foerarst, wem-1e0W
afgemstt, fusgforet, F@i, dvemstt, wSw W
AAHIIT W Srfral, Afgentaii, X raehmor
U qEeadl i TEET W1 Wehdl g 9E
wHA-IAE  wREE W & o
frfafaa o @ o tor § afvla &2

(a) Mudrarakshas/HsRI&H

(b) Rajtarangini/JSTaRToft

(c) Arthasastra/379m&

(d) Brihat Kathamanjari/ggdsharesit

Ans. (¢) : “T, TSI I I, FIW, T TA T FHI

TR &0 F &m § fyuasil, gem-owm afgensd,

Yfeeprail SN FahTeT I I AT S Hebal 7

T8 HR-IAE HrEH W & MUy srfwre’ dg §

aftfa 31 sefome Tt & v, R Hify ik d=

WHIf W T T 9T @b g9 § i, R

ferope ek =orr % &9 F off ST ST 8, b srdee

% oEH % &Y F S SR
Ter [SreCg
e - fqumaed
TIRAO - &eRw
sfer - AU
FEeEl - i
FHAR G —  SHredlaE
3. Consider the following statement and choose

the correct option.

Statement I:  7th century onwards rulers often
tried to demonstrate their power
and resources by building large

temples.
Statement II : During 10th and 11th centuary
when rulers attacked one

another's kingdoms, they chose to
larget temples.
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frefafaa weat o faem & 3R wedt faemrea

T =T &

HIF (I) : T T ¥ o J g wfed
1 femfor sar & off oot T
AN TEEEl W oYY HA @
ERISRET

HIF (10) : Zgd i TNEd A & N
IMHE TH-TH & T T STHH
A g @ el @ eur fAem
T

(a) Statement I is false but II is true/®¥ (1) TAd

? g (I & 21

(b) Both Statement I and II are true but I is not
correct explanation for IL/®¥9 (I) 3R (1)
2 T € W (1), (1) e e 8 2
(c) Statement I is true but II is false/9 (I) Hal
2 T (1) e 21
(d) Both statement I and II are true but I is
correct explanation for IL/®¥9 (I) 3R (1D
2 W & q9 (1), (1) 1 T =
Ans. (d) : 9Edl AT T IMEH T o A w0
FE L F O T N GEEE # geH w W

19 T S e W, AR § USiHifae fRafd
atfeR off| 39 IHT IR HE DI Tsal § fawiem
fafers sl & 9 W & fw gEen g8 B @I, W

1 e fqEEl B g8 SN YA S |

4. The architectural style of intersecting arches in
high ceiling roof is common between:
et Wiah sa ® T TR
=X Tz It & ot |Ju §:

(a) Govind Deva temple in Vrindavan and

Fatehpur Sikri palaces. /Q’CIW T e Hf
¥R R W % we
(b) Bangla Dome temples and JodhaBai
palacewwqﬁﬁﬁia} *F HEA
(c) Palace of Vijayanagar and Shahjahanabad./
YRSTEIAER & Hadl
(d) Qutub Minar and Rajarajeshwara
temple./HITHAR 3R ToRITaR HiET
Ans. (a) : F9 il B0 F Ffred HevaEl arelt argwan
# 7@ Ve gaE @ R HRE s wEE G %
el % S gUE 21 9@ & Midead qfe i i
1590 ¥ 3R % TN AW fig 9 FEEm FR HaeR
il # T SR 7 F 1 TE IW WY F W
i & fRem g1 U9 TR AR A T B F[ F
dferar & flom 8 o PR Redh § fRem 2
FITAR B TAH T IJEA pase-Teh 4 oA IR
I I FCAART T M|

5. By the seventh century, the following political

developments in the Indian
subcontinent:
(A) Big landlords and warrior chiefs could
become kings.
(B) Brahmanas gave up their traditional
professions and took up arms.
Choose the correct option.
-3Td, WReA SumETda o
Frafafan TeHifae seema stfae ¥ o1 g &1
(A) o et iR AGT-TER ST a7 Hehel Al
(B) WTEUN 9 3104 WA UW i BIgHT
I8 3BT ferm)
Tt faerew w1 =T wi-
(a) Only (A) is correct/Had (A) T&t 21
(b) Only (B) is correct/&dae (B) &l &1

(c) Both (A) and (B) are correct/(A) 3R B) EEl
w8

emerged

(d) Both (A) and (B) are incorrect/(A) 3 (B)

Ans. (¢) : Td §E & -7, IRAT SUMEET H

frfafan Tsifae agam oifaa o o I 9

o T2 YETH N AF-TER TS o Tt |

o SRV 7 370 W U9 &1 BgehL I 32T forw|

.?Wﬁwﬁﬁﬁaﬁwmmwﬁw
|

o Tl I h NG T TSEL H 33 I

o 31frh T 3R Huer T T W G 3Tq9-37T
el W, WEmHEaHR (R WU & WeH W) g
T &R 3 I

6. Consider the following statements on 18th
century India and choose the correct option.
Statement (A): Craft and commerce underwent

major changes as merchants and

artisans were moved to 'black
towns' by the European
companies in the 18th century.

The 'black' referred to native

traders and craft persons, who

lived in places like Fort St.

George and Fort St. William.

18%ff vraTedr WA HYA

R ferem & 3R W&t farerew a1 ore= SR

HAT (A) : SRR TR # e 3R

T # Fg-9¢ IRad T, 5

M 3R FER ascrfiﬁﬁ

LU = B A o

MR & T

T el T 8 S B T2 S R

?é T faformm S SR W wd

|

(a) Only (A) is correct/Had (A) T&t 2

(b) (A) and (B) are both true and (B) is a correct
claboration of (A)/(A) 3R (B) a4l Tt & @1
(B), (A) ® T gafia &

Statement (B) :

%Y (B) :
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(c) (A) s false, (B) is true/(A) Teid &, (B) &l &

(d) (A) and (B) are both true, but (B) is not a
correct elaboration of (A)/(A) AR (B) gt
a%‘f%qrf—g(B) (A)Wﬂ%‘rqara:ré‘f%

o 3IQNEdl VAR F WA H gEw-eniie Refy
sftear @ yifed off 9= ®9 9 g9 A4 ATl
ARRTIT WIUST &I T @I wfhd TAST § &g
Feamdl 1 3T frar T
o GIIfTeh = & o foael TR W ARy e o)
o 183 T % YR § TS N g F IvEN A
ST 1 Ga- IO &1 T4

7. In the context of Permanent settlement of
Colonial India, which of the following
statements is correct?

O o Tt e & HWewd #,

frefafaa & 9 &9 ¥ waT wdt §7?
(A) In 1793, Thomas Munro introduced the
Permannet Settelement in Bengal/1793 H

AT AU A dma Wid § R ddes @
&S Al |

(B) Under Permanent settlement, the rajas and
taluqdars were recognized as Zamindars.

Ted Tesit 37 H SHiER & 9§
T & |

(C) Zamindars were given the rights to collect
rent from the peasants/

T S HA 1 AR faar T
(a) (A), (B) and (O)/(A), (B) #R (C)
(b) Only (A) and (B)/&ad (A) 3R (B)
(¢) Only (B) and (C)/&9d (B) 3 (C)
(d) Only (A) and (C)/&de (A) 3 (C)
Ans. (¢) : STIERS 9RG & @R dde & ged §
e e o §-
e ITFH Ted TNl R AIHERI HI SHER F w9 H
AT & TE |
o SHiERl &1 fFaH ¥ @ aga &0 1 R faar )
o S T FU T Mg Temew ¥ Wl sEew 3R
HRTAETE! sdieed @] fhul
o 3T SaloRd & YT ®9 ¥ Rl & oI s mar e,
5 Wd Fer S o, 3 YBR 3H SaEEd
St &% AW | S S
o 3T WS Hiared sR Wl sEee tfufaw 1793 &
eI U9 foRar T o
T YN &9 (B) 3N (C) HI7 §F & 9 A HI
e 21

8. Which of the following is/are true about

William Adam?

(i) William Adam was a Scottish Missionary.

(ii) He was a British administrator.

(iii) He had been asked by the company to
report on the progress of education in
verncular schools.

(iv) He toured the districts of Bengal and Bihar
to report on vernacular schools.

Choose the correct option:

L) T frafafaas & @ &=
/| wdt 2/87?
(i) Tafeom Tew U whifeyT Tome 1
(ii) oE Uk VS vER oA
(iii) ot 3 3% M Tmelt W rew Wt wifa w
e G s @1 R giar em
(iv) 8 e iR faem & faet & ouf
Tehelt WX R g & fordr goor femam)
TE Terehe T =@ &
() Only (i) and (iii)/3aa (i) 3 (iii)
(b) Only (ii) and (iii)/3ae (ii) 3 (iii)
(c) Only (i), (i1) and (111)/37_0!?*[ (1), (i1) 3 (iii)
(d) Only (i), (iii) and (1V)/§7_<=IFT (1), (iii) R (iv)

9. Match the Column (A) with Column (B):

Column (A) Column (B)

(a) RajaRam Mohan (i) Widow's Home
Roy

(b) Swami Dayanand (ii) Set up schools for
Saraswati girls

(c) Pandita Ramabai (iii) Arya Samaj

(d) Ishwarchand (iv) Brahmo Sabha
Vidyasagar

Choose the correct answer, .

HRIAH (A) T HIAT (B) o AT e =i

HICTH (A) Hied (B)
(a) TORE e AT (i) fawer 7@
(b) @ TAHE W (i) defRA & fou wd

EEEILY
(c) dfedr W@ (iii) 3 TS
(d) Fea=famEmR (iv) SEHr 99
e fased &1 997

(@) (a)-(1), (b)-(ii), (¢)-(iii), (d)-(iv)
(b) (a)-(id), (b)-(1), (c)-(iv), (d)-(iii)
(¢) (a)~(iv), (b)-(iii), (c)-(1), (d)-(ii)
(d) (a)-(iii), (b)-(ii), (¢)-(iv), (d)-(i)
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Ans. (¢) :

BEiY eI T T
ECISE TSINH A 14 1828
3 g Wl = JEd 1875
foear 75 iU T

ISR & [Ig TS [T
A SRR
g8 g A HIEEE G 1867
gl | ! fqehr= 1887
EEILS SERRIEER 1912
10. The strategy adopted by Ishwarchandra

Vidyasagar to challenge a social evil was the
following:

(A) referring to western ideas

(B) looking for supportive superstitions

(C) finding a verse or sentence in ancient texts.
Choose the correct option.

R R
geey foemanr g eruatg e Turifa e
&R 9 off:
(A) ufzret fereml =t gaTer 2T
(B) TwelT 7 aTet IS Al @IT
(C) WT=i=T Tieft | Yeiten AT STeRA skl Gl
Et ferehed o1 =T R
(a) Only (B)/&ad (B)
(b) Only (C)/Fa (A)
(c) (A)and (B)/(A) 3R (B)
(d) (A) and (C)/(A) ¥R (C)
Ans. (d) : 9B R 1 garen I SR S Hel
Yl AT AR H gel fohe off wEIfe qUE &
T F fou davds foumrR g o e o
1820 #, 3R 9% faamarR &1 =1 dma & goel
forfife e # ush smrelt fewg smeroT oRem 4 gam oani ¥
4% framrR 198 Td F U ScereHd srdwd
forares 91 s ws fagm o ¥ guRs & w9 §,
9% fart § e ot ufdm St sveel wfter o
11.  Which of the following movements/agitation
was/were the part of Gandhi's Non-
Cooperation movement?
(i) Patidar peasants movement in Kheda,
Guajarat.
(ii) Akali agitation in Punjab against corrupt
mahants
(iii) Salt - Satyagraha in Gujarat
(iv) Forest - Satytagraha by tribals and poor
peasants of Guntur district of Andhra
Pradesh
Choose the correct answer.

T ¥ &= O e el Sft &
STHEANT M= o fgaar 97
(i) T, T & UEER fRaH A=tre
(ii) USTTE & FHER Wel & Raeh ITRTet
CIEACE

&
ES

3

2 o

(iii) TS § TR WATE
(iv) 3T W9 H T fer & e feRa ofX
FAwfeEt gRT 9 Wrenre’

frafafea # @ wf s = gH)
(a) Only% (i) and (ii) are correct/Had (i) W (ii)
o 3

(b) Only (i) and (iii) are correct/Hae (i) W (iii)
e g

(c¢) Only (i), (ii) and (iii) are correct/Had (1), (1)
TS (ifi) 9E &
(d) Only (i), (iii) and (iv) are correct/&Hae @),
(iii) T (iv) F& &
Ans. (d) : 3THEANT SR 1 ST 1920 H IE 54T
T, A H wEd, 1922 H 9 AN # g % HRoT
e o for mn SE 22 gfomstiE @ oaW § R
o i, T &
Wﬁmm v # e e % nﬂ% IRy
SRl R ‘G9 T Tie e St % sTHeEn
3T & feemm o
12. The 'Swadeshi Movement' after the division of

Bengal in 1905, was also known as
'Vandemataram Movement' in which part of

India?
F M faureT & We & weut

1905
IMEE’ o 9RA & fohd & § ‘I "I
ST ok AT | ST T47?

(a) Bengal/aTTet (b) Andhra/3Tg

(c) Assam/3T8H (d) Punjab/dSTa

Ans. (b) : 1905 & A faueH & = & ‘wuf
AT B IRA & Y &7 H ‘T A e &
T AT TR M S & ae g9y g
TSI o1, SHH 3LYT Y HHST 1 GHW AT 3R
R A e Red § gER & on @R eTie
1911 ¥ THIG g T o
13.  Consider the following statements and choose
the correct option.

(A) In 1950 the Indian governemnt set up a
planning commission to help design and
execute suitable policies for economic
development.

(B) In 1956, the Second five year plan was
formulated which strongly focused on
agriculture and put emphasis on consumer

oods industries.

ﬁnﬂ%ﬂ%ﬂ HIA W oo &Y i wdt faemen

T I &N

(A) 1950 W 9 WTeRT = 2fefer ferenmar & forg
Hfifrat s iR s @ w % feg
Teh ' IISHT AT’ T 1 TeRam

(B) 1956 & & Uwadfg AT qAR W TS
fFam &y qon SusieRT aeg sErt W
TIiE W) fear w=m,

(a) Both (A) and (B) are true/(A) T (B) 2 9§

(b) Both (A) and (B) are false/(A) T4 (B) EEl
T

(c) (A) is true but (B) is false/(A) F& & =g (B)
e §

(d) (B) is% true but (A) is false/(B) H&I f=q (A)

Tedd

CTET 2022 Social Science (Exam date 03.02.2023)

23

YCT



Ans. (¢) : 1950 H 9Rd TR 7 3N fopg & fow
At S 3R 3T AN B F AT TF IS ST
T AT Wdd § 9% 9RG T WHA AN T B Th
SR Hied G 3R 366 ded A SEn S 9
IR & T H RAE e o1, & ST 15 A4, 1950 H
T U, SARteel He% bl e § fRA T A
AT & AW FEeh 1 SHEd, 2015 & A T W
fer a1 A SR S Sreme yuH A 2

1956 & daR fadfr daadfa demn @ 7e SRv gfed
3R 9 A % foeE W faRiY SR 89 % wWig-2 dig
SAtnfieheor o1 o1: B9 (A) T © b (B) e 2
14.

Which of the following statements on Jyotirao

Phule are correct?

(A) Phule studied in Christian missionary
schools.

(B) He countered Brahman's
superiority.

(C) He said that Aryans were foreigners.

(D) He was critical of anti-colonial nationalism
of his times.

(E) He dedicated his book Gulamgiri to anti-
apartheid struggle of South Africa.

Choose the correct option.

frrafafiaa # 9 Sfa0d B W i | ®IA
T 87

claims of

(A) Het 3 gHTE THomt whell | ugrs @t effl

(B) =i STEIUN & 98 T & TrEl W GeTehT
FUAT feRar aml

(C) 3= et fem 31 ferwft on

(D) 9% U= °HT & Suf-avrare-farelt wgare
& 3= A

() S ot feramer el efaor-
TRt & Tag feeft dod wr wmfda
feram

TEt farehed T o= Sifsa:

(@) (A), (B), (C) and (D)/(A), (B), (C) 3 (D)
(b) (B), (C), (D) and (E)/(B), (C), (D) 3R (E)
(©) (A), (C), (D) and (E)/(A), (), (D) I (E)
(d) (A), (B), (C) and (E)/(A), (B), (C) 3R (E)
Ans. (a) : SRRE A R 79 FHo g7 8-
o T 3 dd e wmel § va o A
o 3 SR F I B F A W GeAH AT B |
o 34 Fa 5 omd faaeht &)

15. To depict planet sizes correstly in a role play on
the solar system a teacher selects two students
of the same height and weight. Which of the
following two planets could they be enacting?
T ‘T &' (ATeah ) | R
TEL MR | 9T & o2, weh Preres & aa=
e R a9 & B AT B FEfefad o
A H A G TG A1 NI A Y TR B2
(a) Mecury - Venus/9¥ - [sh
(b) Saturn - Earth/¥1fq - E[%ﬁ
(c) Earth - Moon/gedT - =gH1
(d) Earth - Venus/gedt - RED
Ans. (d) : T Ud & (T2F) & R AUSA F T2
T R ¥ qwia F U T e & gue @ 3R
a9 F BE H AN 21 R M F § gy &
1 AT I F Ghd &1 SHR F ER T F B
(924 9 ) B-
FEWId —> I —> RO —> TR —> JA —> Y —> HA
—> T 37efid T 9T I el T W BieT 78 94 2
16. Consider the following statements about
international date line and choose the correct
option.
(A) International date line is an imaginary line.
(B) International date line passes through
Pacific Ocean.

=i fafsr Y@ & s # fmfafaa waat
W faemr &ive qar 9t fasked &1 gAE

i
(A) Srais fefer [aT weh shreufes 3@ g
(B) ST=igi fafer {am yotia HEmMrR | gt
TR 1
(a) Only (A) is correct/&ad (A) H&t 21
(b) Only (B) is correct/ W(B)Hﬁ%l
(c) Both (A) and (B) are correct/a1 (A) 941 (B)
|
(d) Both (A) and (B) are incorrect/art (A) T
(B) T B
Ans. (c) : STUEE O @1 & sR § T Ho o 8-
o RIS fafy T sredfes T 2|
o STRIFTT fafer T wenid HETR ¥ R eI 2
oiﬁgﬁ?ﬂﬁfﬁ%@%a‘rﬁaﬂi%wmwaﬁaﬁn
|
o T fafy T@r we WeMER & =i o= 180°
gﬁ?mwﬁa@waﬁaﬂiﬁﬂs‘@m
|

= 3 IHR (A) 71 (B) & %o & 2

B 3y 17. If it is 10:00 am at 60° West longitude, what
o T I T F -fordt € RIS 3 a will be the time at Greenwich? )
o T T T & fou ‘T wex 1 WU HH U Tfe 60° Ui 9TER W 10:00 YAiE €, @ M=
3T g FRAT AT T forer wX == WU grm?
o ST g A e & e e § (a) 2:00 2.m./2:00 THe
3 (b) 2:00 p.m./2:00 IR
= . (c) 6:00 a.m./6:00 JaTEA
3 TSR FF (A), (B), (C) 3R (D) T %7 8| (d) 6:00 p.m./6:00 3TITEH
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Ans. (b) :

o goft T 24 WU F 360° A 8, frwenr o 7 W

FUST A8 15° q47 1° 94 TR e # e 71

W =R @ MU oye #, defm % 600 uftm # fRem

MR | GHT 4 x 60 =240 forge 9 B

fiy. = =veT § SEeH % T 60 T Wr-
24£Oﬁr.:4w

60° I3 PR W 10 : 00 gfed @ (G @) @ GMT

T 10 + 4 TUST =02 : 00 TG &I

18. If you are at 0° latitude, you would be standing
on the .. )
3T 3T 0° ALIT UT & aF w

@ T

(a) Equatorfﬁlﬁéﬁ

(b) North pole/3T ¢&

(c) Tropic of capricon/qiﬁ{%@T

(d) Antartic circle/aferoT gda9dq
Ans. (a) : 3R 3T (° 3RIW W & @ o9 ‘fagam g9
Tg g 98 Hredth g S gedt @ I S T
F & R 9w stedr &, Fyad 99 Feem ©
R & Rem g, S §@ A 0T fved W@ W
21 iR TaT T U9 T SR 2 ¢ 1 23 o w21
I gegol geAl W fo SIS 2 7

)

1

i

45

d,

There are four domains of the natural
environment. Two are Atmosphere and

Biosphere. The other two are:
BITE!—Tlgrl'éF TIieRUT % OR &% &1 TH 9 o
FrgHEA X Savee §| arfew el
(a) Hydrosphere and Mesophere/SiiHgd R
HegHSd
(b) Hydrosphere and Lithosphere/SicHEd R
e d
(c) Lithosphere and Mesophere/®IcHSA 3
HegHS A
(d) Lithosphere and Stratophere/¥cHed 3R
FHATHE A
Ans. (b) : Y, I, 9, US-UY U i fereTent
T FATaeor ST %7?@% qefeRTT & =R 3? -
dYATSA, SqHUSH Td S[HUSH N wemTeEd =9 9
WIS 9 &7 2, S gd o, $Y ud 9eg sk &
fore gfty, wepedi 1 =4 % U S el e e @)
T8 @i et & off | 8, S & F Tomved Fed
?1 78 5 & fafte & 99 - 79, e, TR, weErR
AfE 3R YAt F AR WF el ag H gAeh Wd B

AT Fad 2|

20. Which of the following is true about Tropical

Rain forest?

(A) These forest are called evergreen forests.

(B) The trees in these forests shed their leaves
at different times of the year.

(C) Sal, Teak and Shisham are important trees
of these forests.

(D) These forests are called monsoon forests.

Choose the correct option.

I ST HicaefiEr aul o= &
R o A §?
(A) TR HITEEN I Hel AT B
(B) 3 Ol H g&T AeWT-TeTT AU | AUt
gfeat e 2
(C) 37 g W UIT W a1t Wgequl ga7 |ied,
AR SR e )
(D) 3 g Bt AAEA o= oft wea 2
T forered @t =a= &
() (A)and (B)/(A) 3R (B)
(b) (A) and (C)/(A) 3 (C)
(¢) (B) and (D)/(B) 3R (D)
(d) (C)and (D)/(C) 3R (D)
Ans. (a) : SUSREHT aul-a9 TH TH &7 ear g S
e T % eI A1 I H o 28 fEl & ofie) g
21 3 ufymn, efffern, . emRe, gea emRe, Afrgent
I S99 S § |
IUEHELT gl a7 & a) § GE wod T g
o I HEER o el ST 8|
e I Tl H W W -3 GHI H Ul ufr
iR 21 37 ad (A) 3N (B) 9@ £
o Nt & IWTHEAH T 3T TAarg e § et ¥
21. Which of the following is/are true about
Amazon basin?
(A) The river Nile flows through this region.
(B) Both days and nights weather almost
equally hot and humid here.

(C) At night the temperature goes down but
the humidity remains high.

Choose the correct option.
ST AR e A e & A
(A) et T 37 Y | EeRT st €1
(B) T&f ot HrEw fo wd ua gt # & wue
®q W T T 3 B B
(C) T o WHI AIOHTE ST W & ST §
TR ATEAT SO st el B
TE Terehe T =@ &
(a) Only (B) is true/(A) 3 (B)
(b) Only (C) is true /(A) 3 (C)
(c) (A) and (B) are true/(B) 3 (D)
(d) (B) and (C) are true/(C) R (D)
Ans. (d) : 3T 914 & a1 § T %9 09 8-
o TE & uiew f& U U §Hl 999 g9 &9 ¥ T
1% I 2
o U % YHY AGHM 4IST HH &1 Sl 8 wifdhd 3Tedl 3=
& o = 2
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o WS AT F AN U, AN AR THEHS
TM T FE, WEE SR B Sd AHd wua o ||
I S 2

o TS AR TR SFHRE F BT & S e AL
3R gl gerEs Al g fifea fpan st 21

9 YR Ho9 (B) 31N (C) T&I & 991 H (A) T 21

22.  Which of the following is/are factors that cause

veriation in amount of insolation on earth?

(A) the rotatioin of the earth on its axis.

(B) the angle of inclination of the Sun's rays.

(C) the length of the day.

Choose the correct o agtlon
e # st @i/,

ﬁrmﬁaﬁa?r ﬁ | I SRR 7
(A) gt T 37U 38T WX YHAT
(B) T =t fervutt @At Afer =hivT
(C) T&a =it srafar
T frehea & =ra=
() Only (A) is true/ Sael (A) & 21
(b) Only (A) and (B) are true/&ael (A) T4 (B)
|
(c) Only.(A) and (C) are true/Hac (A) T (C)
|
(d) (A). (B) and (C) all are true/(A), (B) T (C)
|
Ans. (d) : T8 W ST S AET F e & e BT 8-
o oAl N 3T 3T W AT
o T Y RO a1 AR IO
o fq =t 3@
311 srao"r( o T 9w T 7

ﬂﬁgﬂfwésﬁ

qaaﬁ # T T Fga 2|

23. Consider the following statements about air

pressure and choose the appropriate option.

(A) Air above us presses us with a great force
on our bodies, however we don't even feel
it.

(B) Air presses us form all directions and out
body exerts a counter pressure

=l ufew qer

g TE &k OR W U T s

IUYTH fahed ST FATE it

(A) 9 TR IR W oA o & WY aqA
Tt € fohg &0 gHeRT arguE T & B

(B) wwmwﬁww&sﬂaﬁﬁm
2, 3ir gamr iR frwdier st e R

(a) Both (A) and (B) are true and (B) is the
correct explanaiton of (A)/(A) a9 (B) EEl

T & 71 (B) W& A © (A) B

(b) Both (A) and (B) are true and (B) is not the
correct explanaiton of (A)/(A) T9T (B)
T €, g (B) T =mem 7 @ (A) #

(c) Both (A) and (B) are false/(A) T (B) EiE]
o §

(d) (A) is true but (B) is false(A)/(A) F& 2 g
(B) e @

o) T AIH & faaoT
fafereor 2 <t g @

A

Ans (a) a@@ﬁmﬁmmmﬁswwm
qﬁw@%wa@wm

wwﬂﬁw&:ﬁ T 2, S TR IR fawda

W%WW(A)W(B)EWWQW(B)

ST S 21 (A) B

AT W A GOR d 6 IHE GFhA F W

FRATEA H THE WAl FRI W g AT IR

ﬁa@wmwéla@maﬁmﬁa@

et a1 IR e S 2

Consider the following statements .

(A) Rock is an aggregate of one or more
minerals with definite composition of
consituent minerals.

(B) Minerals are created by natural process
without any human interference.

Choose the correct option.

HYAT W {TaR &

(A) Srer @it taeal o T goe= 9 T
o1 Tk A e @il o1 Teh T B
(B) @frw famr Rt wmelta s@aw &,
Wiehferes wishamedt grn e g 81
(a) Both (A) and (B) are true/(A)aﬁT (B) A T g
(b) Both (A) and (B) are false/(A) R (B) gt
T 2
(c) (A) is true but (B) is fasle/(A) &l 2 e
(B) e 21
(d) (A) is false, (B) is true/(A) T & @i (B)
|
Ans. (d) : 31 T e9gal & [ Goed ot e A
% ¥ s @S B 9YEd 21 a8 HUF o @ e
e for fRdl AT TRET & W Shaed g
faffa g 21 9% e T 2
T e & ged § Td B -
e 3 Wl &Y § 9T B & |
o 3 TS FAfHd THElE ST g 2
o I fafte woR & g-dwnfas oRaw # fAffa & &)
o T® Thst TCEAT § F3R B & S &R
o TS 3 YR % & 8- oI 3 3T |
25.  Fill in the blank with the correct option.
The Prairies are

<R T T @& TaeheT § W

Torft ¥ |

(a) home to cheetas/dl T =R

(b) suitable place for Cattle rearing/‘ﬁ?ﬁ e F

@&? 443

24,

T 3w SR |
(c) very hot during daytime and very cold at
night/f % T sigA T AR A & G Tl
S
(d) cold deserts/38 M|
Ans. (b) : Y378 HaEht wem F AT SUgw o 21 YAl

@WWW%ﬁWWWﬁWW%I
Jorlt Il oTften WY H T Tsa SR, FAST 3R
A § forga YT e o & 929 B S %
T Y S S 8| T e q19 i de 3 qUSH 2|

Ty’ &7 T e o forw g # S S g
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26. Which of the following factors leads to

shortness in supply of fresh water?

(A) Increasing urbanisation

(B) Rising standards of living

(C) Generating electricity through reservoir of
dams

(D) Rising demands of food and cash crops

Choose the correct options:
T 9 W @ MYf

THHT o T HE &

(A) TEAT TR

(B) 9Ea¥ T Sia" W@l

(C) Selt o STy o WA ¥ farege seures

(D) WIS AT ARl HHEAT Sl St AT

TE TereheT T == &

(a) (A), (B) and (D)/(A), (B) 3 (D)

(b) (A), (C) and (DY/ (A), (C) 3R (D)

(¢) (B), (C) and (D)/(B), (C) 3R (D)

(d) All of the above/
Ans.é(a):awﬁwmﬁaqﬁfﬁwmg@w
oy 5

® T3 ARIHT

® B AT S &R

o IS SR T B! A HT

o Tl SHHE

o T STEThIuT

27.  Choose the most appropriate option.
Change in the land use pattern leads to cultural

changes i.e society because it
CaRePE]

qfir sTEm # aReda eR wwe § wieptae

URAHAT o STaT ot & SFlieh:

(a) increases the per capita income of that area/dg
g@r &7 % o &1 99 =AfE o W del

|

(b) spreads modern values and practices/dg
Wfigﬁﬁ T SR FAER (IAN) F R
I R

(c) affects the local natureal resources and
settings/T8 TIHIT Wpfash TEEH N 3T
LT I T BT 8 |

IR = ASH| H AS[HA K A H Fgd 3AE
Feafore opaTe B €1 AR Wfges gRUT H AT 2
29. Consider the following Assertion (A) and
Reason (R) about equality:

(A) People's struggle and positive actions by
the government are necessary to make
equality a reality.

(R) Equality is a value that we have to keep
striving for and not semething that will
happen automatically.

Choose the correct option.

HUEAT o U frrafafea wemt (A) w@
HIUMN (R) T TS|
HAT (A): QAN UF SdEhal a4, 39 o
A % GO R TN R FhNIE
HeH 331 T B g AEYFHAT 2 |
AU (R) : THHT 98 e ¢ s fore g fim
g FA WA W, A @A AL
|
e foehe 1 =9 ST

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)/(A) T2 (R) gt
& & 3 (R), (A) B TEI =TT &
(b) Both (A) and (R) are true and (R) is not the
correct explanation of (A)/(A) T4 (R) el
& & 3, (R), (A) F1 T = T E
(¢) (A) is true but (R) is false/(A) T&l g, ﬁfﬁl
(R) TTerd
(d) (A) is false but (R) is true /(A) Ted %\, %
(R) T 71
Ans. (a) : 99T U SRAGehdl 54, 39 O @l &
g 3 WHR SR YSRGS Hed 33T A P
STETIHAT 3§ SN FHAG 9% Yo ¢ o fow g9 R
Gord S Te B, A T AE Q| gEferT Sl she

(d) increases the infrastructural facilities/Jg | |9 g 3t (R), (A) ®I H& AT HIl 21
TS i ' T 2 30. Which of the following statement is/are true?
Ans. (¢) : W WM § URadd R TS H HiHas (A) Panch is also known as ward member
gfad-r a; e 3 & FifE T8 W T ETEET under a panchayat area.
SR ITH I P TWIET AT 2 ({&[ 3T gRade (B) All the members of Gram Sabha elect a
T T upar @ fred wigfas uRevd & o ®9 9 Panchayat President.
aftqal, aifvfsas ue snfde sga qor arfe nfafafet (C) The Gram Sabha is a meeting of all adults
é@wﬁ%@s@n%ﬁqqﬁaﬁam%mw% who live in a an area covered by a
28.  Fixing someone into an image is called . Panchayat, .
Teh BT W S ot 31 § 1 Choosp the correct option. )
(a) photography/Hiel GieT = ﬁ | -ﬁq |/ FO wE E?
(b) creating a stereotype/®fess HNUT T (A) U I UOTEA &1 o dTE HeET & AW ¥
(c) acknowledging diversity/fafaear & @ off ST ST g
FET (B) IW W & Wit "ew faee g
(d) differentiating/3Td¥ AT gRaam & g 2
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(C) TTH |AT Ueh Uoad o & § @A ot it
TR Sl AT Belt

T forshed a1 AT itaTT)

(2) (A) and (B)/(A) 3R (B)

(b) (A) and (B)/(A) IR (B)

(c) (A)and (B)/(A) 3R (B)

(d) All (A), (B) and (C)/(A), (B) 3T (C) Teft
Ans. (d) : T9 997 ¥ 99 % GG &9 & 9 9= & AW
g o I S 8, AW e % ofl gee fuee 9
g g0 € SR AW T TH T9Ed &7 § W o
ooft ot & g B 81 RY T A4 Fe el
TR TS T YA W@AT IR | 2 SEE, 1959 &
F NG F JIH JIHTH TARIATA HgE H GRI TR
Ta F AR fen § gem gn 733t wfawm s
TR TS § Hafed g
A = 739 dfgum deiem sffEm, 1973 F 5@

T TS S GaeE &t vaH R
31. Which of the following statements is correct
about Rajya Sabha?

(A) Twelve (12) members of Rajya Sabha are
nominated by the Prime Minister.

(B) The Rajya Sabha members are elected by
the members of legilative assembiles of
various states.

(C) It funcitons primarily as the representative
of the states in the Parliament.

(D) It plays a role in reviewing and altering
laws initiated by the Lok Sabha,

R

TSTE@T o il )

wHaT T £7

(A) TET & 12 US& YEES  gwo
AwifeRd ferT ST 2

(B) TSIHT o WEHT & AT fafs =t o
ferems wwett & Faifera aee = 2

(C) I% T&Ta: WHg W UsAl & WAkt &
®Y H HE w5

(D) USRI THRAT FWT Warfda foomt &t
grgfa ud ufada ® it €1

(@) (A), (B) and (C)/(A), (B) 3R (C)
(b) (B), (C) and (D)/(B), (C) ¥R (D)
(©) (A), (C) and (D)/(A), (C) 3R (D)
(d) (A), (D) and (B)/(A), (D) 3R (B)
Ans. (b) : 9RT & THS TPUM, T<T T 947 A6
Tt T 8| TST 99T §EE & 3=T HaA 71
TST g9 % IR H 9 o g 8 —
o FATH THT § TSITT § 245’ WS &, 9 9 127
ee Uy g HAFG R S 8 A R e grn
o TSIl & Ha faftrsr T=at & fauma g
% fyaffed se=r & g1
o IF TEAT: TOR # TsA & SRR F &9 § $ 4 2
o U AHHA FN Yafda fwl 3t ef vd aRad
¥ after 71
o TSI % TSE H IS ‘6’ I BT & qAT TTH
- gaw i & o aE dar-fg @ 9

o A T SUNPU Toage 1 U&7 T4 9f &Ier & |

= ST HeT ST Gehal @ {3 H99 (A) Ted & q9r 9

9 (B), (C), (D) T &1

32. Match the column I of service condition with
the column II on occupation and choose the
appropriate option.

Column I

(a) Regular salaried
(b) Casual work
(¢) Self employment

Column II
(i) Street vendors
(ii) Housewife
(iii) Construction

worker

d) Unpaid labour iv) Teacher
IS e
Shfaerr & gafaa =t iR sugeh fawew &1
=TT R

gt | hietd 11
(a) AaTAR HHER () FEWI-SAT gEFER
(b) 3rfafaa @& (ii) Treuft
(¢) TSR (iii) Trmior weTgR

(d) T 9= &1 AT (iv) Torereh
(a) (a)-(i), (b)-(id), (c)-(iii), (d)-(iv)
(b) (a)~(iii), (b)~(iv), (c)-(i), (d)-(ii)
(c) (a)-(iv), (b)-(iii), (c)-(i), (d)-(ii)
(d) (a)-(ii), (b)-(1), (c)-(iv), (d)-(iii)

Ans. (¢) : 5
hIeTH-1 hIeTH-11
(A) a7 ot 9 =l - Rmereh
(B) Afafe &m - fomoT IR
(C) TSR - BTl GHITER
(D) forT 90 &1 wegR - pERl
33. The arrangement between a merchant and

weavers whereby merchant supplies the raw
material to weavers and receives the finished
product from the weavers is known as:
’ W T et
U FAHIT h el WIS T ¢ IR AW
AR AT YT AT &, FHEAT B
(a) Import-Export/E"TI'qfﬁ-ﬁ?ﬁﬁ
(b) Co-operative/HgehIRdT
(c) Putting-out system/STa ¥
(d) Chain of markets/aSITRI & @eT
Ans. (¢) : TR 3R IR & F9 & e el
[ Sl edl WA I 8 R S TAR WA T Bl
, T8 AT ‘e AT HEA |
A FaE JOe e TR W A awget & sl
S T F TH A T 2, T FER U & w9 7 off
SET S € SN HHAR W g URaR 39 4k § wew
FT 21
78 A % ST & § A v § v #
34.

Which of the following are valid reasons for

arguing that there is a lesser possibility of

famine in a democratic country?

(A) People are free to practice faith of their
choice.

(B) Government is likely to respond quickly
fearing its defeat in the next election.
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(C) Opposition can draw attention to hunger
and starvation.

(D) Free Press can report suffering from
famine.

Choose the correct option.

¥ TH d& &, T cliewaiis o o
IR Tl THTET S Bil &, Tl A eI HRIT &7
(A) TINT AUt 3T T U oA o fog
e
(B) OThT 3WTA TG H TR & 9 ¥ vfw
wferferam <t
(€ fauer y@ X gEwht = W e
T Heh B
(D) TS UE 3TehRTer A &l @ HBI ot U1 o1
Hehel B
TEt faehed st wg= Sifeg)
(a) (A) and (B) only/3dd (A) 3 (B)
(b) Only (A), (B) and (C)/ %9 (A), (B) 3 (C)
(c) Only (B), (C) and (D)/ &ad (B), (C) 3 (D)
(d) Only (A), (B) and (D)/ %dd (A), (B) 3 (D)
Ans. (c) : AIHAEH W § b & G9EA HH Bl 7,
=% 9 dT FRT §-
o THR A g9 H 8N & w7 ¥ ¥y wfafsean ofh
o et @ 3R qEHl 1 AR A THT L THAT 7
o WA U9 3 U & W@ HE & RIS o1 Gohell B
o FHAIF TR A & 9T S ITEE At 8
:Wgﬁmﬁm@aﬁmﬁmm@nﬂ%ﬂ%@
?E@ﬁaﬂﬂg%larﬁf 1947’ # 3YOTE & & 9N
g’ﬁmm 7

If in a class only girls are asked to help in
cleaning, this can be considered as an exaple of
the following:

TR Tertlt et o Shaer TSRl ol WIS whre
U WEEAT o [ gl AT §) 39 SEredur |-
Hehd ¢ TAfeRae @

(a) Division of labour/#if¥ei 1 farrsm

(b) Gender steriotypes/cileh &fgag LT

(¢) Nutrition and care/TIT Td @A

(d) Disciplining/3 R ST

(a) The Assembly had many members who were
not with the Indian National Congress/S¥l T 3%
q 4 I qRAE T8 S F g o &

(b) The Assembly represented memebrs from
different social groups/¥HT 3 fafter gmferes

TRl ¥ N Fe= &1 gt e
(c) Members of the Assembly believed in
fafr

different ideologies/¥¥T RES)
foramemstt # faam & o

(d) The Assembly only had male members/d4T q
Fad TEY T 9|

Ans. (d) : Hfa-e fIvH i Iwfadl & ER W AR

dfger @1 famfor w5 areh d@faEm g9 ®1 oA S,

1946 3. § foar T

e a9 & G Tel HIa—

o Tfaum @ # wigemsd &t ¥e@m 15 o

o TfyuM TW ¥ &% 9= 9 W 9GE THE HE9 &
Ty T I

o Ty T % e AR foem gret § faug & 4

o o faE@R, 1946 & GEAYM W & Y9 ok -5
facelt o ifeet 9wR % qwHEd 997 g |

o Tftmem< gl &I T 1 ot oemey der s
TSI Y9I 1 G H1 Tl 3Ty AT T

de = fased (D) TTom & Hifs T # Fad & qa

T 9, g ¥ 15 Afgen ge= of o

37. The Preamble of Indian Consitution ensure
which two kinds of equality to all citizens?

R @ YRR =t AT Gt o 82

(a) Status and Opportunity/fesT 3R 3feeR

(b) Income and Wealth/3Td 3N o

(c) Property and Status/Gqft 3 gferet

(d) Opportunity and Income/3TTH 3R =
Ans. (a) : 9IRAE GfaEE & SEET @ ARG
AfaeT SN aET AHE & THR N GHHED JEH B & |
G oY SaTET 1 FEAE 13 R 1946 @1 digEE
T § FaTRErd HgE §R UY fPU T SBY WEE &
YR W 26 TR 1949 I FfGE T FRT STOHET 720
o 429 HfgEE goea af%rﬁw, 1976 3. & TN 3GH

Ans. (b) : 3R et e & sherel AsfHal & TR | || wEeErd, GufRds sk TP @ srEved v S
§ W b RO k@ W # 4 39 IR W || SEEW ¥ Te W - e, S,
WNheleas GRoT AF Hhd 1 Sfedsdl § | | [GutRee, At TRy £
T § = fafe st frard da gifae @ 2 Sii[|38. 'Legislature and Executive cannot interfere
w i HSTfT G F e T Y ¥ AR Bt withdthefwork (l)lf tlllle Ju.dic_ialry'. "lf"hishstatlerg?nt
= 3 e S A A A g & 1% o w5 giﬂstsitut(i)(l;n?w ich principle of the Indian
T G HAIC & FHIT § ‘farenreRt 3i FHIHUTTERT, <ATIUTASRT & I
R % AR “Sfeqsar siufaE &1 v TH age H gdT TE W Wehd §1 TE HAT ARA
2 Sl e A STl e W oSeia @ qon B R age Hferer % ferwr gt whY gotar €2
% for s o ST 2 (a) Judicial Review/=e e
36. Which of the following is not true about the (b) Basic Structure Doctrine/3THRYd =T I

Consituent Assembly?

I AT HferR /T o Heter H (¢) Separation of Powers/¥1fthal &1 sIarT

wEt T &7 (d) Judicial Activism/=e SfEHaa
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Ans. (c) : e 3R SEiwfere, =mEafee & &M o
T TE R Hhd € TE FUT WA Gigwe F wifwA
&1 dearr fagia # aefar @1 W gaes e &
IgERT 28 SHA{ 1950 & fBAT AT 4TI THA 9RA &
gl =g I #, S R 9N Ter Afifay
1935 & dgqd nfud far

TRATT AR & ST A w0 -

o I=AH =TT

o 3= AT

o 37Ty =TT

T = 9Rd & TH Iwaad AFEE @ HR 25 3=
e g
39. Read the statements (A) and (B) and choose the
arppropriate option.
(A) There is no official religion of Indian state.
(B) There is provision of reservation in
government JObS for religious minorities.
HAT (A) R (B) I UfeU dT IUIhH faehed
T SET SHISTT
(A) WA T a1 i3 3TTiIehTes ot &t &1
(B) W™t it O enfier teudTehl o
foTT 3TReTeT AT wTaEn= §
(a) (A) and (B) are true/(A) 31% (B) W& §
(b) (A) and (B) are false/(A) 3 (B)Terd &
(¢) (A) is true (B) is false/(A) &I &, (B) Teid &
(d) (A) is false (B) is true/(A) TTeld g, (B) W&t J
Ans. (¢) : IR TS & S USRS 99 T8 8 T8
HIT G 7 A T ABRA § e e %
foTT ARETTT § T8 U T & WO Aibial § SC, ST,
OBC, EWS 3R fopetiii s Reror fam wn & < f6
Tt et 3 il % o o 39 81 29 YR T ST e
2 7% %9 (A) & & 3R FHeH (B) ol &
40.

Which of the following statements are correct

with refrence to Bhopal Gas Tragedy?

frafaiaa &aal § ¥ ®F ¥ ®eF S |

Fad & Gaier ° T 82

(a) Union Carbide was taken by surpriced when
the tragedy occured./If¥aH FElEe Teriafsd
© TS off 5@ T gR

(b) Union Carbide cleaned up the toxic chem1cals
before leaving the country/faq FEEe @
I Bl ¥ WA fave WA # - Wﬂé
&l

(c) Most of those exposed to the poisonus gas
came from poor working class families./
Selicht 19 % wush § A At s |
T FHEST IRaRT & o

(d) The survivors accepted the compensation
given by the company without appealing
against the settlement in Supreme Court./39

T4 § Sifed 5= et aret anit 4 Har
=JErerd | oA erdier fopd, st g fRE T
TS SR

Ans. (c) : 9T T TEL 2, 3 THWL 1984 H qA
EENIETIREEIC I R e F AT FEEE 5
P TaT ¥ ‘Toed seEEHe 9 & e % Fror g
A 3@ Selel 19 & qws § o9 & sy @ e
FHFST URAR F 91 THRIT (C) FoF TE T

41. What is the vision behind the change in
nomenclature Civics to Political Science?
I i
I & i = g #2
(a) To ensure obedience and loyalty amon
citizens i g fa=r é
e T

(b) To create civil society who follows rules and
regulations/Us TY H&J THIS &l TIGAT HEAT

STt 1w TE S T SET R
(c) To create civil society which is informed,
receptive and responsible/Teh T TF A &
T AT ST 379, TR0 T SR |
(d) To create a civil socity according to the
universal value of progress/Jfd
Tl o IR TF T TAS H TG HEAT|
Ans. (c) : TIRE IME & AHEA ToHids fG9H fHu
I % G # g 2 5w TH 9 wuN S e
FET S A, TR T ITER @ | VRS IE o
ToHfd foge vesEett # agema fomell Aries famfa
FH F R Y A T 7 RS wWE RS F
Teqai SR STavasatsd ¥ gafem 8, Sefh Tef o
I & Y B
42. Social Science are inter disciplinary in nature
because,
(A) It does not have subject matter of its own.
(B) Issue of social sciences may not be
confirmed to the discipline of social
sciences.
Choose the correct option.

Ht Wepfer 3id: faor & wrifen:
(A) SRl a1 ki fersrerareg <TE greft
(B) Wt o= & W wmitwes faw= &
g Ueh fermer o Hiftra =€l &t Wend
et fararew &1 =rE= Wi
(a) Only (A) is true/fad (A) W& &
(b) Both (A) and (B) are false/(A) 3R (B) =t
e 21
(c) Only (B) is true/fh (B) &l &
(d) Both (A) and (B) are true/(A) 3 (B) &Ml
& 2
Ans. (c) : THINS fagm &y ofq: fawa @ it
g o & qes Wit foee & @i s vy &
i 7 & wehd 21 sEfeT fawer (B) W # iR (A)
ferehed TTerd 21
Qs o & SSia e weamr § Gefa 8, it
g o § amifee g, @, g @ e
g SfaA - TN I a@ S YR H e § STerE

foman S 21
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43.  Which of the following chart shows steps in a

rocess:

T & i O =E Tk UEHaT & o/l &l

wefdta wtar §7

(a) Tabulation chart/qRUia e

(b) Narrative outline/I-TH% FRET

(¢) Classification chart/aentor e

(d) Flow chart/yam@ =&
Ans. (d) : VO I TH FGHAT F TRON Bl JRAT Bl
21 vl =R (R 9w @ SEm a1 N9 49 % &9 §
ff S S 7)) UH 9 iR I # = &
TF ARG g1 o GER § & TBR F @ 9 H I
fepam ST 81 U eIl TR, 6-10 TG = i
Ygifepd T & |

44.  Which one of the following are commonly used
constructivist methods of teaching social
science at elementary level?/feT o -4
URATE T U AT 9 T SE|Te fehg o
AT TEATETET WraThTen T eyt a6t adienT &2
(A) Project work/aRENS=T et
(B) Lecture/samE&A=
(C) Field trips/&= stk
(D) Discussion/ TR=rert
Choose the correct option.
T TG H
(2) (A), (B) and (C)/(A), (B) 3R (C)
(b) (B), (C) and (D)/(B), (C) 3 (D)
() (A), (C) and (D)/(A), (C) 3R (D)
(d) (A), (B) and (D)/(A), (B) 3R (D)
Ans. (¢) : 91 & ¥ 'uREemr s@, @F s 3N
oRmal SRS TR W G AR W S B 9
el e e Re & e §1 e R % ey
¥ e v 1 o @ Al @ fawe die &
fehen § Wiha &9 ¥ e 21 wEE ufised §, 99
qOE, ST HIVA, M AT A TS, THAT, 3TEE
FEAT I FTATOT HET, 30 F BoqT T A S ghA
2, 7 UF g U A & i IS N I 09 7% G
T 2 3 a% 5 3T IR T Ty T &) AR § gH
& frfor g @ @i e aiem #, d@e 99 %
fomfor & ws ke 21
45. Consider the four tasks given below and select

the taks that are most imortant for thematic
planning in a constructivist classroom.

TASK:

(A) Specifying teaching learning activities

(B) Clearly stating learning objectives

(C) Selecting assessment strategies

(D) Including tips on how to pass exminations
Choose the correct o¥tlon.

T g ¢ 3R 39 =t
Wmaﬁsﬁmm@mmﬁﬁwm

(C) 3TeheTT o TRl AT =& HEAT
(D) wiiem ¥ ket TN & ford Sumnft gl
IR T

TE kT & =aT &

(a) (A), (B) and (C)/(A), (B) 3R (C)

(b) (B), (C) and (D)/(B), (C) ¥R (D)

(©) (A), (C) and (D)/(A), (C) 3R (D)

(d) (A), (B) and (D)/(A), (B) 31 (D)
Ans. (a) : ‘T siftrm wffafrl i favw &9 @
Ieaifad &1, WY ®Y G ARAH LA I FqET AR
‘R & TR B T BT AR B H fAmE
IS S’ Gaifes P & T e §
foremeff F afd: 35 e @ a9 wen § 9fhy ®9 9
1 H
AT FERe frfaRad S sefEedr 3T a-
o i fireren
omﬂ%&%ﬁﬁﬁf@[
® 3 Hcich
o TTRATYUl ==
o T f¥ren
o T | SO FEA
TS AT — &% Tk U8 Sl UM
BI-BET TR § @i ad § IR TE
F TH FHrAS H g 8 39 A
s fogd ®9 W@ daR & gedt
ST HEl ST 2|

46. Which of the following is not a specific
objective in the teaching of the concept of

'Eclipses’'.
¥ ¥ RE-A1 Iy TEw O
sraervun & feror 7 fafdne stvar =& &7
(a) Learners will be able to explain how eclipse
occurs./TUT H9 24 - famndf 5@ wfpar
T |
(b) Learners will be able to develop awareness
about physics world./fFrandf wifies gfaer & IR
§ SITEST foBfad HX 9|
(c) Learners will be able to draw diagrams to
represent an eclipse./fa@rdf TgurT @r
ey SRGT % 5 far qri |
(d) Learners will be able to demonstrate how an
eclipse occures with a model./farameff , Jgul FY
e €, Hied & aream § gut )
Ans. (b) : forandf «ifvss gfer & aR § STrEwar s
F U T B ILIT TGO H SEEROT ok f¥regor F
fafere se39 7@ §
TUT i srEERen % T § fafe st -

& fau 39

=R F A
ﬁwﬁ%

| R o e

T 3 Hathe Tewyut 8 o TRV &4 it o-feremdf W wwar H wE R
(A) Porermr st wfafafiet @ R ww | |e FEd, wen @ SR sy orEl & g fan
IeRgd AT T
(B) ¥ ®U { R IRI4T &l SarT o forandlf, 70T HT 2T &, Hisd & AN T 90 G|
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47. To strengthen the concept of markets and their

functions, a teacher has three topics in her unit
plan.

(A) Markets and value addition

(B) Neighbourhood markets

(C) Chain of markets

Which of the following seqeunce of teaching is
most suitable?

I hTH TRt st HeheudT @l
ggaaﬂ%rﬁaf%m Teh TOTRI0T o UTH W TohTS
FAT (e T ) # i oo )

(A) m@rr{aﬁ'{gwqﬁg(éqq%mw)
(B) Wiged o SN
(C) STSRI & {@er
frfafaa o & s ot forerur &t argeRe otfa
IUYH &7
(a) (A), (B) and (C)/(A), (B) 3R (C)
(b) (B), (C) and (A)/(B), (C) 3R (A)
(c) (B), (A) and (C)/(B), (A) 3R (C)
(d) (A), (C) and (B)/(A), (C) ¥R (B)
Ans. (b) : SR R 37 F& AR # GeheaT H
9% U & U, UF Rws & U9 IHH THE ASH
(A @) & 99 fawer fe 8-
T RmeqT A fe 2
A. TEd & NN
B. SR} &1 Sf@e

C. IR 3R o7 35|

48. plan contains all curricular and co-
curricular activities in social science to be
taken in the specified academic year.

zgsm TS foa= @t 9
qreTTEiTa 3R utewweTHt  feRameReTal T
Hehe T Bt & S for 3@ faldw diftes od o

Henfera ferT =i 2
(a) Weekly/Araligss  (b) Daily/3fs
(¢) Unit/ZHE (d) Annual/aSs
Ans. (d) : ‘affs AT WS fBEE @ Ol

TN 3R IeEE T BRIl @ See e §

S fr 3w faRRme vt af & deifea fee o &)1 @@

oy & T & et e @ S e § @ s

T & e o Sl @1 arffes A & v gt W

N fervyer TfafaferEt s =g TEar 2

e ST AT e -

o T AT T TR & T o 1 u e fww
firerdt 21

o 3R % T Todish H Tera® 2

oWﬁWﬂﬁWWWW%I

o T F TF HI T TfafafRrE & Sfafora ¥ F T
F & et ST 2

49.

Consider the following statements and choose
the correct option.
While teaching gender roles, a teacher should

(A) Suggest different professions for boys and
girls
(B) Offer different education for boys and girls

(C) Challenge stereotypes in everyday life
frrefafaa wmeat o fomam &Y iR wdt fasew

T =T H
I (dfirer ) gftrerredt it fomma wue, T
Toreres =t |
(A) g 3 TSRl I AT Ta@TEl Y
JTUATH ST AT AT =i
(B) Trgah-eTgfenal el IrerT-arer forem <+t
=iE
(C) Sfver Sfiem & SeT (wiftter) wfgat @t
A I =R
(a) Only (A) and (B)/&del (A) 3R (B)
(b) Only (B)/ad (B)
(c) Only (A)/&aA (A)
(d) Only (C)/&aa (C)
Ans. (d) : ST=X (fiep) aftrpretl &1 R gwa, ©h
foras i 3 Sfam # Siex (dAfe) ®fedt F A 3
TR SfeT Fgafaa sweamdd Rem R oS
ARG ik =raer # Gefid & ¢ ot Rl =fE
fovim & fow 3@ Sfas fofm & ¥R W g™ 3R
ST AT S 21 IAT T Th IET e THA 8
fh afgaTd @ & fau 7 8, S Th uiee % T
F IET T TG B § Al G 21 T T IH WA
Stet wiearfear s gt & 8, S i & SR ©
T R Y # fehme % ar § sfvemus @1 S
T W 3H T S Rl d=dl @ Sigl Sfearedr &
F FE & T TF g9ET S 2
50.

To do a project on the topic 'challenges faced
by women at workplace', which of the following
sources will provide primary information?

‘mfgestt I wEGT W WA Arelt gHIET

foo W oo & fo, frafafes & 1 =9

T Eie yrerfieh GOt 2 Heh &7

(a) Personal Inteviews/SfhTd HEITEHR

(b) Biography/Sira-t

(c) Textbook/UIGI&Tch

(d) Newspaper/HHEN 93
Ans. (a) : ‘Tlecsit S HEfem § 4 Gl gAfEl v
W IR FH & o, e arrer’ @ mafe
o T ghd &1 9 @l § 8 Tl e @ 5%
TI/YIT A FE T g R T IS, 6,
oM, R Wy & R w, P ok Ieffaem o9
T2 Ia W fifeer wfte & wd §1 e gl iR
w4 & FESE SHER & eft Reapre fpw T Ha awdrestt
Hidl & st=aia 3T 21
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51. To undertake a project with students, what

should be the first step?
BET &k WY WG wH & oD, gE ugen
HEH T BT SMfRT?
(a) Planning data collection/3Hg  THAT
IS T
(b) Locating source of data/3T6g & & &
fafgd e
(¢) Deciding the objectives/3E¥dl @1 feiwor
T
(d) Analyzing the ﬁndings/@a HI faTesuT HET |
Ans. (c) : BT & Y TH Tlae HLH & [0¢, G gl
Faq W & fERe S kel seee &4y @t qa
U S e F g & T g aw A% =
feperdfess 9 & faftr &1 sfaues fhar) g9 faftr & o
W @ Rl gHen @ SR g gd At S € 9w
gﬁwzﬂf‘aﬁﬁ%l 5o o wriesis & &9 § HM H@
|

52.  Which of the following questions assesses

‘analyzing' skill of learner:

(A) What type of clothes the people of Sahara
desert wear?

(B) Climate of Sahara desert is so hot and
harsh even then people wear heavy robes
why? Discuss with reasons and suitable
examples.

(C) 'Present day Sahara once used to be a lush
green plain'. How would you examine this
statement.

Choose appropriate option.

e

HIF AT/A W ARl  faversr’
SHIITCT T 3MTeheTT ohld &
(A) HeTT WA & A 7T R & T8
g 72
(B) WeWT INMAT Wt Wy A+l seR iR
T F aa oft agf W e 9t awr =t
TEAd €7 SUGTh AU 9 IS o @y
==t it
(C) ‘AT R WEWT IR Ueh W0 T F- 9
HEH I AT oT'| AT TH He & A
w4 w7
3IUYh TareRed T oA i)
(2) (A) and (B)/(A) T (B)
(b) (B) and (C)/(B) 7T (C)
(c) (A) and (C)/(A) 7T (C)
(d) (C) only/Fad (C)
Ans. (b) : TeRT A #t Jaar] 3 HIR R T §
T off 98l | A 9 99 = Te 27 IgH BRvi F
ISR % WY T= BT IR S H G A Th
oy # -9 T g AT 9 | 3T T HIH H S
HE H?
T TE & T ArHhdl T HIved & e
I A C ko o 0 K B B M | A G L L

F, ULl g S s fivfa o i amar & ged od 8

ﬁmﬁﬁgﬁ% 79T off SIRATAHAT -faveToT HIeTA N ShT
H &

o TRWAl M 2?7 UHT HRRAT & ¥ e & At g
TSl A e BT

o ol e wfensit & % A & Thd €1 31U &
T TS IR F FEEAd § T HC

53. A social science teacher could use which of the

following assessments to understanding why a
student is not doing well in geography?

Teh QTR fas= INeReT
B | 4 91 T Tkl § 3R IR IE THeAT &
1wk ferameff gmiter # wower =&t £72
(a) Placement assessment/EATq 3ichet
(b) Summative assessment/ANTEH 3Tiheld
(c) Diagnostic assessment/Te(~ieh 3fiheT
(d) Formative assessment/Ta-IcHh 3Ticheld
Ans. (c) : T g fomm Rifeer fafafaa st
¥ § G tihe I bl § TR 3% g TH &
i s faendf e # gwa T 27 A gedaisd
fafer & fRreres e Rreror-siferm sfopan & reenma #
Tl T 2
EEEC @I i
o TF Al TeAih Ush Ak P! HASIRAT 3R e
F U TR oI § aRedl # Jbe F § 78 e 2
o 7g off Bl & forw tfenm & wfRomst &1 SRR S |
TEqut SgftrehT e § |
o TS THA H T k¥ AT wHensd &
FRolt i fuiRe e 3R STORE AR % fa
o1 FAR BT 2|
54. What approach (es) should be kept in mind
while teaching social and political life content.
Consider the following two statements and
choose the correct answer.
(I) Take a unidirectional approach to teach

about social-political issues and concerns.
(I) Avoid contentious contemporary themes

that can impact commonness and
homogenity in the class.
AR THtaeR Sfew fausr g quT

T QAT SUNTH/IUNTHT @1 LA W @
wife? frafafad @ weAl W e wifg

qAT T Toreheq T o9 it
HAT (I) 1 AHITTH-TsTiferes Amelt iR e &
IR # qgM & fau wwanff s o

A (1) : el THHE gol fawal i 3uer
F Slifh e § Afewd 6 UHETA
& T T gH B

(a) Only (I)/&aa (I)

(b) Only (II)/Faa (II)

(c) Both (I) and (IN)/(T) 3 (IT) &I

(d) Neither (I) and (I1)/(I) 3 (1I) F§ T
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Ans. (d) : FEIEE 3R ToFifds Sed fava qg w9

=T Ut B e H W =R -

(1) IARS-TeHifas qmel ik fiasti & sR § gen &
fore agamff surm o |

(1) T 3R ToIfaeh TEl &1 3Teqgs @ e 3
Ll

(I11) FrafSTeh 3R ToFifaeh & g7 fRagial &1 3Teaaa s
Ll

(V) Feh qusrel g fawal & 3uem 7 X s f&
el § FrRHAT 3N T T BT TS B THA 2|

A A A (1) 3T & ) wE R

55.

Which of the following statements is essential
to make social sciences relevant to elementary
school students?

frrafafaa weAt # F &I 97 T AR
e o faenfuEt o faw wmie fae= &
TR S | STeATavaeh &7
(a) Provide a plethora of details, facts and
information to students'/faEnffal & R
feraroit, del ST FEAT SueTs S
(b) 'Textbook must be seen as the ultimate source
of knowledge'./qISII&IH F FH F T EA
& ®9 H @ 1 AR
(c) 'Social sciences do not lend themselves to
scientific inquiry hence it is easy'./HTHISIH
forgm o1 S et e T ¢ Tl 9w
T 2
(d) 'Social science is indispensible for laying the
foundations of an analytical mind'./Tsh
foverymes A9 # iR wH & fau
TS e sTaferd 2
Ans. (d) : Frfafad Foel § § T foveromee Ame
F gfrEe @l & e amie g seied @ 9
Fo TR Tha & fomiiE & fau amfes fagm
T T STTevas 8| SIS ST Hael 3R
siedaell, s, e Sk wmEife e @ e @
AR wmhe e T fRvemes s e
AR 1 e @ §
I=T WAHS T W FHEIS [T -
o TS foR & Tha § F&1 & aRL & SiEd & Y
T a=d & Siaq § ST gl
o Tl o™, qia, TeHifa fagm, s SR
quIseE & fwEt s e e e 2
o IS fagM &1 UgM 1 32¥F AHS Sfd N e
¥ o ¥4 % &9 gedl 1 A fawfyd 81

56. Consider the following statement and choose

the correct option. /TAEfIRaT whemT W o=

i 3R WE farshe T @ i

(A) Thematic approach is useful for developing
a unit plan./ IFFE AT 1 fIwE F R
T e Weh SUNTH SUE R

(R) Societal issues are better udnerstood
through the study of interdisciplinary

content./3TATdaH foaoa-awg & I F
HEIW | HHING ATHE ol gl @HET
ST &1
(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)/(A) R (R) gt
e € 3 (A) 1 (R) TEI =A% Tl 21
(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)/(A) 3R (R) gt
e € Wl (A) B (R) 9&T =@ T e 21
(¢) (A) is true but (R) is false/(A) H&l 2 afspa (R)
e 21
(d) Both (A)and (R) is false/(A) 3R R) 2t Terd &
Ans. (a) : I ASAT & faFm FE F U Hoams
YT W @ SR sidfivas fava-aw & oteaed &
WA § WIS WWC $1 Se wH S 21 fEn mar et
BT (A) 3N (R) T & 741 (A) Fo7 & =& (R) B
A & AT A DA F T B EER B IR 6
AN § BE # Fe qo a-afe 31 e 8 2
57. To experientially teach about natural

vegetation and wildlife, which of the following
methods will be the best pedagogical approach?

WEe gy iR g Wew & s A

JIVATHSE ®I ¥ T & o, Frafafaa fafmt

T ¥ s i faftr e 9 Rramomedt surme gef?

(a) Taking student for a nature walk/feranffat st
THfde TIUT & I AL ST

(b) Screening a documentary/Jafe= BENE]

(c) Inviting an expert for a talk/Tsh foermg =
e o forg s e

(d) Having group presentations based on

information in the textbook/JISII&IH i
IUAH G F MER W HEREH TR
HTAT
Ans. (a) : TPl gaedfy 3R g2 Steq % ) ¥
SIS &9 § TgH & fou, ‘fenfEi @i wpfas wmor
% fou ot ST T faferel & ue g Rwremst sy
fafer gnft =iifs oo wHfs, Wiefas, s = &
G i SAEES &Y ¥ FE H MG B 8 N T
I TRl & S g
89 YA % I2LT —
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(1) &F 99U % N BHE H AGERS FH T
(2) BEl F IH UE F AT TE G oAy #
GRfE ST
(3) Bt ® fafte wdl qor gee S Sty B
(e SF9E Fa BT
'Why do you think proper ways of garbage
disposal are not available to those living in
slums?'
This question attempts to assess a student's
ability to:
‘U FAT T § HS N FUERU wod SRt
T g Ty SAfeRal & forw Sueter & £
TE WY YATH § B @i T T T
AR
(a) Generalise/HTa=IIehUT LA
(b) Extrapolate and estimate/3TJATT SRIC]
(¢) Reason/ddh 3 (fa=mr #39)
(d) Imagine/sheq-T Eac
Ans. (c) : 3T F oA & FT F RO =t
afeqal & fore Suce & 82 78 oA YO € & oW 7
& (fga=mr F) & guar & sfidad F Feh| e
3 9g M far S @ 6 Ao 3 e & e #
ardfaes 1t § Fr-oen diRar § U o9 S # Ui

58.

O 1 BT AT B

(1) g (11) g

(111) SHRTIReReT (IV) AT

(V) ST

59. In the middle of teaching a topic, a teacher

conducts a test to identify conceptual
confusions among students. What kind of
assessment is she conducting?

T oo &t uge & ot | frferent Tt

T FTUNUNE ALl sl W= & T Th

2T A et B

g feh W o 3TTeheT hT STTATSI ohT &Y 87

(a) Placement assessment/TITA 3Tehct

(b) Summative assessment/aTch STt

(c) Formative assessment/TdTHE 3Tcheld

(d) Peer assessment/SgUI3! 3Ticher
Ans. (¢) : U5 99g & g & o= § e fqanfai &
HIYRONHAS faensti & S & fIT ws 2= aArifsa
F 7, 98 IR T e S STEN AW
2| WS sThed BE @ e sorm § geR % fau
foreror ofi eifrm & nfafafeel i dift wE % oI
s S SR % <R R g R st
R SR qoish Spansii T Sael 2 |
TS ST i e -
o Ig fgHS 3 STIRIHS & |

o Ig S UgEl S ¢ Y Afufead W H wE & ol
T R STHT H T3 BT S 2

o T TET Bl 3% ARMH H Wik wriiedt & faw 3mER
T T B

60. A
performance in a test, after the completion of

teacher finds the following levels of

the topic 'Diversity' and 'Discrimination’.
Student (A), is able to identify prejudice and
discrimination in various situations.

Student (B), is able to define prejudice and
stereotyping.

Student (C), is able to indicate relevant
constitutional provisions for specific acts of
discrimination.

Arrange the students performance in the test
starting from most conceptually clear.

‘fafaerar iR Sewa’ fawar & o0 g9 & &
rerer 2% U yevia & frafafaa =l a1 uar

T &

ferameff (A) : ffq aRfefeel & qafme ot deve
& TeEE # e 2

feremeff (B) : ®ftas owom TAH SR wEhE W
qRefia & & g 2

fereneff (C) : ¥ewme & fafow el & forw wifys
HauIfeh STEUET 3R Gohd e §
Tud 21

SFTYROTHS R R AT TE T AR W g, TR

§ feranffel 3 el @1 gerERaa Fvw

(a) (A), (B), (C) (b) (B), (C), (A)

(c) (C), (B),(A) (d) (©), (A), (B)
Ans. (d) : ‘FfFear R S fFwg F @ e F 9=
e 3w # wyenla & frafafas & &0 gar o 81
HTYRUTHE X W AT TF T AT H gL, T
ferenfefeii % waela 1 39 THR Goafad R T &
(1) frdf (C) Sevym % B F & foau s
Heteh TEEE & S Hebe B H g B
(11) frenef (A) fafay oRRefEt § qatme o dewe
g § w9 2
a1y femdf (B) g omom s R wEhe #
oo & § w2
39 YR T (D) TE geafied 71
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T foreres ursrar wfer (CTET)-2022

(CLASS : VI-VIII) 9T-11

HTHTSTR 37T
e goa-u=t

ST 9igd &t

1. The term Prathama- Kulika in the Gupta
period stands for:

T A o WY HfeTeh ' I o 37 &
(a) Chief Judicial Officer/T&d =deh AR
(b) Chief Banker/T&d S
(c) Chief Merchant/q&q =T9r]
(d) Chief Craftsman/q&3 RTeTsHR
Ans. (d) : TTHA & JI9 Foih vk B o ¢ T
IR’ | 7o =nfis sifted & TeeE aEe adn
TS AN & AR’ FE S
Note- o3 1 JoH HeM G TS FIH 410

2. Where was the birch bark found on which
a%'mns of the Rig Veda were written?

oSt (ST BT gl urg T e Wowrag W
Afeer yreATe (Yeh) ot g2
(a) Kashmir/®¥HR (b) Maharashtra/HaRTg
(c) Bengal/ael (d) Bihar/fo@R
Ans. (a) : 91 5 (s9) B FEHR A 98 T W W
Frag # dfesk oA (T6) foet 1w 150 ad
Ted FTIE F o Ggel IR B & T 39 oS 9%
B F ITAA fFar T ANl ¥ uvgfafy qol, WENy &
e § U @1 FE | F#eR § T e9R 8 S
srefrd @ f9=R b et T
3. Which one of the following Tamil works informs
us about the lives of ordinary men and women?

®i H afrer wiw g@ W

Ted i wRemel % e & AR § g

et 872

(a) Silappathikaram/feTemaaTfasad

(b) Valayapathi/alﬁ?ﬂqﬁ

(c) Manimegalai/tlﬁ'l'ﬁ?m'_cfl'sC

(d) Periyapuranam/&ﬁqw
Ans. (d) : TGS I P AH Hia URErem’ F
qEs 3R wfeasi F Sted F aR H gfem sl 2
frerafeshid 1 ‘AHA e & Fo HeEed & &9 H
ST ST @1 39 HeThIed sl oA g SMfee 3 & o
FAATfT RGN S TR 81 SHeh e e
i et w31 ahmeag d9 B0 @ W g,
TG TR e =aR 2 |
4. Which of the following is not matched correctly?

frefafaa & 9 &9 Ao 7 @ @ §?

(a) Khajuraho -

(b) Aihole —  Chalukyas

Qhandellas
o

(e fafer : 01-02-2023, 2.30 pm)

Pallavas
—  Yeodd
(d) Mahabalipuram — Cholas
- a4
Ans. (d) : T8 [ &7 1 gy Jooid 99 9 2 39
TR 2-
-
.
HRTSATYCH Tootd
T T g &% fawed D &1 gies wd T 2
5. Consider the following statements:
HAA W :
(I) Tawarikh was written by learned men in

Urdu ! Gt safwal grT S o
for@T = am

(I) The writer of Tawarikh used to live in

urban areas/daIE & S @& TRl | @ Al

(IIT)They often wrote their histories for Sultans
in the hope of rich rewards/d TS

WW%WW%{W}W
U T 9T § foram i 9

Which of the statement (s) is/are correct?

I AT R e & /8?2

(a) Both (T) and (IN)/(T) 3 (I1) A

(b) Both (IT) and (IIN)/(IT) 3R (IIT) =T

(c) Both (I) and (II)/(T) 3R (I1T) A1

(d) Only (I)/3aa (1)
Ans. (b) : TG & T&Y § HUT 11 3 HI 111 a0
Td 3| TEE  o@s TN § Wd 91 9 3R
et & fau 399 X 9R R U # ofen # foran
F A1 TIRRG & ogh Gd, TIEF S SN L@t
S9 gfofem =afe @9 9 S geasi &1 avia o #W 9
3R IMHH H OIHT T Fere Fff 34 41 dar
ERE o # foran R A
6. Which one of the following compositions are

not compiled by Surdas?

q & @ A e g

Terfera E &2

(a) Sursagar/YTHT

(b) Surasaravali/gTHRIEA!

(c) Sahitya Ratna/d1fged I

(d) Sahitya Lahari/31feed gl

(c) Kanchipuram

9T
L
RINSA
o
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Ans. (c) : Tfeed ToT G 51T Gobferd et @1 TLENH,
JERE, e @l F8 @ T g0 g 2
qEW et & Afhha & He & 4, 3 A o Fo
F I IUES R SO F AT F 4 e Tl
e % gd 7 9 21

7. Consider the following statements (A) and (R)
and choose the correct answer. gq
qAT HROT W feremt &l aem et fashew g
Assertion (A) : Through the 18™ century, the
Mughal empire gradually fragmented into a
number of 1nde_£endent reglonal states.
kA (A) : W BIEISC)
f-efit &g @, WW&%@TWl
Reason (R) : With the decline of the Mughal
emperers, the governers of large provinces,
subadars and the great zamindars consolidated
their authority in different parts of Indian sub

continent.

THRUT (R) : YIS TUTET st AT & T o A,
w3 Uidl & Goer R g Wiffe’l ¥ W
SumeTdia & fafts e o oot wivw i
PERC TR

Choose the cor:rect option:

2

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)/(A) 3R (R) gl
& € 3 (R) T =A@ B & (A) B

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(A) 3 (R) a1 Tt & Al (R) T =amen
TE BT 7 (A) F
(c) (A) is true but (R) is false/
(A) T 2 AT (R) Tord 2
(d) Both (A) and (R) are false
(A) 3N (R) T Ted & |
Ans. (a) : A 3R R ST ¥& § 3R R TE AR B 8
AN 1707 E.8 STSE F YT F U TS FHST B
U SR g Mar 18 vl H TeHeuE SYearel &
STHATH | e wwrsy fR-oR wE @, afw oo
forae a1 184 T # @M & U &g Tg a9 S
i SRRl ¥ FTH FeeE S| I FHEl H W U &

1 2 Wil P GIRR ST Wb ST Y H A

8. In which region landowners were known as
Vellalars? .
fore & ® EaTiiEt st Ao el S or?

(a) Maharashtra region/FgRIY &
(b) Tamil region/dfe &

(¢) Punjab region/4<Td &%

(d) Bengal region/siTet &

9. Read the statements
correct answer:/<h
& I & YA R
(A) People such as Raja Ram Mohan Roy are
described as reformers because they felt that
changes were necessary in society.
=T [T W N A GURSE AT
FE WA ¢ FR 9 WA & fF wmw ®
gRads @FT iR er=magul dR-ddftent @
RN UHT T B
(B) The reformers thought that the best way to
ensure such changes was by persuading people
to give up old practices and adopt a new way of
life./GETERT ST o o 39 T &
A & U T ot 39 oTa o e ORa feram
T AT fh & WA SHEER i BIgHT Sta
R AT &7 YA o fIT G il
(a) (A)is true but (B) is false
(A) & 2 g (B) T |
(b) (A)is false but (B) is true
(A) e & feg (B) T
(c) Both (A) & (B) are true
3T (A) T (B) W R
(d) Both (A) & (B) are false
2HT (A) TE (B) T 2|
Ans. (¢) : I (A) & (B) &1 T& 8| TIRH e 17
1 T G % & § ST ST 21 32 e gure
T 1828 | WA H = HlfeEl d [ B & AU
F o FfE T A A F gAe § oRada o R
g AT ¥ geER T TG 71 GERS H
@ fGar @1 f& @t & 9o § 9Radd ae & fa
Mt fepan ST =R

10. Veda Samaj established in the erstwhile
Madras (Chennai) was inspired by:

4w (g ) o de @t Yie o

(a) Prarthana Samaj/‘»'IT?jW HHST g1

(b) Arya Samaj/3TquS gRT

(c) Brahmo Samaj/sialqHTST §10

(d) Young Bengal Movement

AT S By

Ans. (¢) : 7@ WS (I9¥) H TG 98 9uNl FRrEST
TR IRT o7 FEEEN # WO TR HigT T 5N
1828 § ¥ 9Rd T § =ra HlfEll # [ FE &
fore & T ot
AT IS TG 1867 5. H STEANH TS 5N &
T ff| o wNE U fig gER ofideH ¥ wwifiq o,
e TgeT @t gaE St 3 1875 § H & df
Fal A SR (1826) 3H SEEH ® YEIM a4
fafem ST g0 fofam a1 SR @ emyf

A) and (B) and choose the
(A) 9T (B) I Ue TH

Ans. (b) : AEET &7 % EEEl B SceR e S | | | H T qgH o Fel S ¢

T I § R g I aTe Hi 3ER & A9 § &1 | 11, Read the following statements (A) and (R) and

ST AT S gigd si&rg]:[ Iﬁlﬂjr F FHRER R 1mE choose the appropriate option.

% 99 ST S @ QT#(A)HQJT(R)Eﬁﬂ'%QaﬁT
3IUYh TaeRed T oA FiTaTw:-
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Assertion (A) : E.V. Ramaswamy Naicker or
Periyar was critical of Hindu scriptures such as
Codes of Manu, Bhagavad Gita and the
Ramayana/ ¥ (A) : 's‘Eﬁ TETEETH ATt
3R ARER Wy e, wreg ar iR T
S Ul o T o

Reason (R) : Periyar viewed that these texts

were used to establish authority of upper castes
over lower castes and domination of men over

women/<rRUT (R) : J 3@ fok Ty o

14. From which of the following Acts, a large

number of provisions have been adopted by the
Indian Constitution?

W fore Tee 9 undg dfeus
BT T HE&AT | yraen ferg 7w 872
(a) 1909 Act/1909 T
(b) 1991 Act/1991 T
(c) 1935 Act/1935 TR
(d) India Independence Act 1947
AR TErdHar fefaaw - 1947

JTferat ok U o ATt A Afgered & Huw
TES T el TG e o ford suwEnt W
& 2
Choose the correct option:/@&l Teehed 3\1‘7\1
(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)/(A) R (R) el
& € 3 (A) # (R) W =A@ B 2
(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)
(A) 3R (R) 1 & & A (A) F (R) T
AT T B &
(c) (A) is true but (R) is false
(A) T8 2 AfFT (R) ToId 2
(d) Both (A) and (R) are (R) are false
(A) 3 (R) ST T & |
Ans. (a) : 3. O TR FEER SR IRER Hfer,
TEg_ e AR T S ddf F SAedEs I I
@ f T gy e Sl F SR 3w Wil iR
Hfgeell & FW TES H gUE T A & U 3T
¥ T W 21 gEIY (A) 3R (R) & W B 3R He
(A) F HRT (R) & = Ll 2|
12.  Which Governor General pronounced that
Bahadur Shah Zafar would be the last Mughal
king?
%@gr T S ST ot foR sreTgY e
RT 3iferer T T B2
(a) Canning/&{=T (b) Dalhousie/SeeIsit
(¢) Hardinge/gem (d) Elgin/Tfe

Ans. (¢) : 1935 T § 9RAT HGEM g7 b G |
e faw T 2 W@ U fawgd awEw on, fogd
3213797 3R 10 YAl ff Tod FEEAT X e
g1 39 w3 sifae 9rdl 99 & T 6
waae far T on 39 fifEw & ded ad 1937 H
TS GO IR $ OO S g sttty g
Fut @t fofewr IRT @ guss o fam wer qwr & A€ wi
fier i sifeem & fmfor garm

1909 TF:- 3T - fifet guR & AW § off I S 2
39 Affrem g quaH ! & e wivarfe sfafafe qar
gk fate &t &t Temer & T |

WRete wefiaar stffem 1947- 39 afufam &
Ted R & 9 Y, & @ AR/ (Dominion
states) YRA TIT T b1 LU i1 39 Afm &
AT 15 A 1947 ¥ ARAG famwma W ffew
T s g off swon s o

15.  Which of the following is not matched correctly?
forer & i T AT T &7
Planet No. of moons
e ST T
(a) Mars/H7Tal - 02
(b) Jupiter/gg&afs - 53
(c) Uranusﬂﬁ:rq - 52
(d) Neptune/ﬁ"?f{ - 13

Ans. (b, ¢, d) : JeHT TE F FEAT H G (3TW) 52 7
2L 27 71 oA (FET) § <5A # g= 13 T d

Ans.(a):aﬁ%ﬁﬂmmﬁiaqjaﬁa‘rwaﬁaﬁﬁﬁ 14 §|qugﬁazmg(maﬁm)§’
TG W T S g T @1 1857 % P ||| st S o b, e s e (@) g T 2
m o & FR0T ST EN T gt RME STt 1 D R 16. Read the following statements (A) and (R) and
T <7 feam T am choose the appropriate option given below:
TSRS - ST % i & NY frrafafaa wo=t (A) 99T (R) &1 Ufeu @um
RIS - Efer g wfdser IUYTH fashed ST o8 HifwU
T - aTedt ST H &5 Assertion (A) : The areas lying between the
13. In which of the following languages 'Kesari' Arctic Circle and the North Pole are very

newspaper was published? cold./sheT ({‘) : 3“}' ga g 3R 3wl g4 &

q form amor 7 ‘el srEer e & & ¥ aga 93 At |
SUAr oar? Reason (R) : The sun rays are always slanting
ish/3iarsht I ide less heat.

(a) English/ (b) Bengali/sfTeTl and provide . .

(¢) Marathi/FTdt (d) Urdws3 T (R)a';gﬁ fereat gaem forat et & o
Ans. () : o § S | S z;:oose the corll'ect option

. . ion.

P FHEH S I e TR forers g e S e o feraew T ¢
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(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)/(A) R (R) gt
T € 3 (R), (A) B TE = B
(b) Both (A) and (R) are true but (R) is not
correct explanation of (A)/(A) R (R) gt
& € W (R), (A) B W& e 78 & |
(c) (A) is true but (R) is false
(A) T8 & T (R) o 2|
(d) (A) is true but (R) is false/(A) TeTd 2 T (R)
|
Ans. (b) : 3T Y9 90 3R 398 g9 F 99 & &F # g
3 ot &1 5 o fat gt et A § iR A T
21 foryed W %S9y 9 @ Sl e qor sl an
3 Rrol, Rl Mo F A 9w A sy @ gEe
FFY (Polar zone) F& ST 2| ¥ Hieay § quwH agd &
FH 31 2, WRoTREEY 79 gHen o ol wd @ R s
Y9 99 5 &7 § 3T oI A 81 U e (A) 3R FROT
(R) & 1 & 3R (R), (A) H T &
17.  Sun rises in the east because:
H 35T BT E :
(a) Earth rotates from east to west
godl gd ¥ 93| A SN Fae Al 2
(b) Earth rotates from west to east

godt Ui @ qd & SN T Al 2
(c) Earth is tilted on its axis

geAl ST 3T W FH B 2

(d) Earth rotation takes 24 hours
gt T TFHL 24 WS AT 2
Ans. (b) : g4 1@ § 329 @1 ¢ HiH g 9w 9 @
# 3R TR M 2?1 gedt g g T Uh qRekAT B
& ot e T R A e 81 g g % =R R
29.7 fofl/Tehe % AT T TR A 2
geeft & T W wed - Y & 9a Y Iufafd
% HRT g9 et 78’ o e S 2
* et BT THH SIS WA 2
18. The opening time of Central Government
offices in India is 9 : 00 a.m. IST. What will be
the local time of opening of the Central
Government offices located at 76° 45 'East
Longitude near Chandigarh and 88° 15' East
Longitude near Kolkatta, respectively?
ARA W HAd Rt { & G & g
Talg 9 9 (WA HEE 96 ) B SEnE &
TH 76°45' U. IR W AR FHAekTr & U
88°15' U, MW HAY: W forq &g W &
FHATCTE o Gor w1 T T 3T g
(a) 08 :37 am. and 09 : 37 a.m. respectively
08 : 37 Qdig 3 09 : 37 yalg A
(b) 09 :37 am. and 08 : 37 a.m. respectively
09 : 37 qalg 3R 08 : 37 Ydig HAW:
(c) 09 :23 a.m. and 08 : 37 a.m. respectively
09 : 23 Ydig 3 08 : 37 yalg A
(d) 08 :37 am. and 09 : 23 a.m. respectively
08 : 37 Qalg 3 09 : 23 Ydlg FHAW:

Ans. (d) : TRT T HET THY IR & G B 97T

g 9 9 (AT S ) 21 HEE % U 76°%45

7, TR R 3 FAkaT & 19 88°15 , MR HAM: |

flgd &5 @R & FEAd & God & ©EE 90

08:37 qaig 3R 9:23 Yatg 37 9:23 Yatg HAW: T

19. Deccan plateau is bordered by which physical
feature in its western side?

TR USK AU ufzft 9t wX s ot ofiferen

fersroar & a1 gonm #72

(a) Satpura ranges/HdYg! gofy

(b) Vindhya ranges/ﬁw gofp

(¢) Sahyadri/9&nfs

(d) Nilgiris/rafii
Ans. (¢) : SFhT SR 3YUT UR WM W ey «ifas
fergrorT & (ST g3 21 16° ST SwIrer L@ wany B A
aiit § i e 81 390 wey e eReh wents
SO0 wEy & wated R FegEr’ (16467 T
aferlt wefs & wared R ‘geg@ (1892 ) 2
ThT H YON HEA W F HENY Tsd H Red 71 4@
TSR Gl JHee gl § I g 21 39 WR &
& T it faaed 1 S @1 ah YR § el gt
ST W S

20. Match the following columns and choose the
correct option.

i sfora faeres =1 o= S
Column-I Column-II
<hlctd - 1 <hled - 11
(a) | Marble @) Sedimentary rocks
KIRIEREAES
(b) | Sandstone (ii) | Fossils Fuels
AT Y2
(c) | Coal/®hIHeTT | (iii) | Igneous rocks
(d) | Granite (iv) | Metamorphic
rocks
Options:/ferehreq:

(a) (@)-(iv), (0)-(0), (¢)-(ii), (d)-iii)
(b) (a)-i), (b)-(iii), (©)-(v), (d)-(1)
(©) (@)-(i), (b)-(i). (e)-(iii). (d)-(ii)
(d) (a)-(iii). (b)-(ii). (¢)-(1). (d)(iv)

Ans. (¢) : Tgl GHAT 59 JbX -

(a) ST FEGRT

(b) T TR EECICI

(c) ST Staren geq

(d) IS HIT T

21.  Consider the following pairs:
frrafaiaa @i W faem st
Land Forms/¥c €9 Agents/¥9Zh
A. | Levees/de 9 | i. | Wind/9aq
B. | Stacks/=® ii. | Seawaves/SHsl T
C. | Mushroom iii. | River/7&
Rocks/&F& oel

D. | Moraines/fgdl@ | iv. | Glaciars//fHg
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Which of the following options is correct?
agm

(a) Only (a) and (b)/%?f (a) R (b)

(b) Only (b) and (c)/Fae (b) 3R (c)

(¢) Only (b) and (d)/a\o'aa (b) #R (d)

(d) Only (a) and (d)/d (a) 3R (d)

Ans. (c) : Hel I 30 TN 8-
T /9 Hh
(a) TEaY ‘El'ﬂff T
(b) & T T
(c) &7 T EEE]
(d) fedrg fea=
22. The climate of Ladakh is extremely cold and

dry. Which of the following factors is
responsible for it?

TEE T T T e AR w7
e & @ i |1 e 3k T STt §72

&t # arg T R W IS 21 Te A < & S 2l
fr o, aIeed SHERT TE AW AW § e S A 2
T FH TUAHE T, 3G &7 # ag IS o Bl TS
ey 98 9 B 21 9 a1y B SR 3= 9 e
T 1 I A FRO W TF WS I A g1 qg
39 =4 4@ &7 ¥ e 3@ Y 3 T F 2

24.  Which of the following is not an example of
mass media?

U | T O TH e AT T

JqTEIOT TE 77

(a) Newspapers/HHEN 9

(b) RadioAfEa

(c) Cellular Phones/SeeR ®H

(d) Television/2eifas
Ans. (¢) : GIOR ®H SHHTH HTETH F a0 T 2|
TR, AT, Selifase a8 dF S % a2
YR B TF TRAE (Cordless) T61 TR IUHT 2|

(a) Latitude/37eIis1 (b) Altitude/ZaTE

(c) Pressure and winds/aR[gd Td 9o

(d) Distance from the sea/qH% g 333[
Ans. (b) : TERI P AT YA KAl b FRUT AR
Yiaa o I 31 AR, SW-ufver fewem % wdde
S H ST 8, el bl ARG A HH AT T 2
T I ST AT P T FIR 2
23. Read the Statements (A) and (R) and choose

the correct option.

frrafefiaa oMt (A) e (R) & U dem |et

Terehew T =& i)

Assertion (A) : The air is cold in areas having

lower temperature.

HIT (A) : HF AYA T S H AT S BT

Reason (R) : Air is heavy in cold areas.

T (R) : 3 & | 91 9T et )

ferare:

(a) Both these statements (A) and (R) are true
and (R) is the correct explanation of (A)
(A) R (R) B T § IR (R), (A) A T
T 21

(b) Both these statements (A) and (R) are true but
(R) is not the correct explanation of (A).

25. Where we do not find Mediterranean type of

vegetation? .
YHEARN Yokt i et kel Ut Wreft &7
the  Mediterranean  type  of

(a) Around
vegetation?/gU4, 3THH TH TRET &
IHEIEAR & THY ATt yew §

(b) California in the United states of America

T ToF RS &
(c) South West Africa/afIuT-afsHl sTshiehr

(d) South East Africa/afR0T-g&f 3Tshieh!

S & "ue, aRel By § Hehe o
Fed 2| g gIiE W # Sy T
I T 8 i Fel A TG TH e 21 T
ST & WeER ®el 3T & o 9ig 81 39 9ew # 3y
A g el & H, A, 3, A, 3R, )

! : 26.  Consider the following resources:
(A)aﬁxqu%;a‘m‘raé’f%éﬁm(la),(A)aﬁﬂﬁ = e
(c) (A)istrue (R) is false (53 g{:::slta;;:
(A) Wl ¢ g (R) et d (iii) Natural Gas/STehicreh R
(d) Both (A) and (R) are false (iv) Soil/geT
(A) = R) &t W d - - (v) Water/Ste1
g;sﬁ(a;g?@ 2 %Tifj(j) Bﬁg ! g:? :§ Which of the above are examples of
bl ?
2 3 (R), (A) 1 T& = Hr 21 gl A T W renjwa pgs%ew@y@ﬁmm
g F R FN AN T 96, gEe Sed gl T TeRTUf T HETE o STET &2
FRFEd § S F SR I W a5 § R e gl a) Only (A), (B) & (C)/3e (A), (B) 3R (C
d (a) Only (A), (B) & (C) (A), (B) 3R (C)
U5 T W Taifes B & 3R FAE W I W (b) Only (B), (C) & (D)/&de (B), (C) 3R (D)
98 Sl S ¢ oEE A Ao o e e W (c) Only (B), (D) & (E)/&=a (B), (D) 3K (E)
IufRed aTg & A9 gR SIS S 21 A auEE At (d) Only (B), (C) & (E)/&dad (B), (C) 3R (E)
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fepem < wht 8, ST T i F w9 21 ggs §
T Yot o S e @ ¢ et dve @ wme an
B TP T A B T e & R g

e - FHHTiT GHEE (F9) F IO - GRS,

Which factors play a major role_in the

formation of soil?/9cT & fo=o=/ e ¥ i o

ek T gftrer frama 82

(A) Parent rock/qeT Ag=

(B) Topography/TIeTTehfe

(C) Climatic factors/SteTany Teelt sk

(D) Time/q A

Options:/faIeheT:

(a) Only (A)/Fad (A)

(b) Only (B) and (C)/&aa (B) 4T (C)

(¢) Only (D)/&aa (D)

(d) Only (A) and (C)/&aa (A) @1 (C)
Ans. (d) : 931 & foe/mea # 4@ 9gF wd SoEry
Teifi B T e fae 21 Searg ger fawio &

AT o g @, ardieRtoT S SReRer 9 Tt der
AHA T AEd gar fmier # wie uw ffea e
R g1 98 PO F T 7 G, Tt e & @i
T daed W R B 21 R e ® gend 4 e
2 st oRuga F& S 8, 96t 1 garel & g Vi & e
g T A 21 ¥ (FEE) # A wesh f
o g s e 1 A9 @ a8 # g s

oY HeeIqul Wiha R 21 Ga & fae # Gora faf| | |2

B¢ fhuMl § S 81 HieT FS ®9 ST WEHR
B2 fHEA & F T T el B FEfid B gl
29. Read the statements (A) and (R) and choose the
appropriate option.

HAA (A) qAT (R) I ufgw aqew
IUYTH fashed a1 =a= Rt
Assertion (A) : In a democracy, an independent

media is important o
ARTHRIT  (A) : Tehas |, W HeX AT

(Hifsan ) wewagut €1

Reason (R) : Information available through
media should be reliable and not biased
/T (R) : HoR "regm (Hifsar) € yra g
fasraar 2t afEe 1 fo TeTaTauh
(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)/(A) R (R) gt
T & a1 (R), (A) B & AR 2|
(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)/(A) 3R (R) gt
& € W (R), (A) B w& e 78 2|
(c) (A) is true but (R) is false
(A) T8 & T (R) el 2
(d) Both (A) and (R) are false
[ (A) @1 (R) T €|
Ans. (a) : AT #, @7 AR A (Hifsan) meagt
| gOR e (difean) ¥ o ger favawdE @
=fEw 1 % ver gt | A § e B T TE ©@H 2
AfEan g o THFN & SHAEY ah GG 1 oAb #
o, e, =t e dfear @ T 2
7 T B TH T Yol 21 Afedr F wem & sy
¥ arafesar &1 9 o B 81 A U W A @
AR & Hgeaqul G &1 Mg B 81 T cAibd B
I 21 e & wOm Tf §9 ¥ FRR T S AR,
i 98 T FRasdy GO & ®9 21 3 (A) 3R (R)

wwaﬁ@.ﬁ[aﬁaﬁ%'. . 3 T & 79 (R), (A) B T = B
28. gepz)lf)ittz?vénr;::iaolnzﬁgsb:::::i illustrates the 30. In India, the government works at
St T Wl TTHT Seltenl o gEIA: S ¥ W T A
& o T INHUTERH Haer st goTeT (a) Ward level/aTE &
(b) State level/ TSI &
(a) Moneylenders and small farmers .
TR 3k B fBFraE (¢) National level ATET &R
(b) Small farmers and agricultural labourers (d) Regional level/&rfter &
B¢ fFaM it Tefet awiX Which of the following option is correct?
(c) Agricultural landless labourers and village freafefied ® & e foemea et 22
cooperatives/JiEH Tee wadt AN IR (a) (A) & (B)/(A) 3 (B)
It e (b) (B) & (C)/(B) 3R (C)
(d) Village cooperatives and moneylenders (c) (C) & (D)(C) R (D)
STEAIOT A ST HEH (@) (A) & (C)/(A) 3R (©)
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Ans. (b) : T § THR ToF T AN T TR T HH
FA 21 TR Fw (= =fedl & e e g1 S
e o1 g # fAfved e & fae qon Afvea usfa g
IMEF HA 21 T THS A I B g-  fenfe,
FrfUTfereh ~EIITH! | TIHR & AT § ToF § T
A ] B B TR b o B AT IH [oRen e
Y BT &1 FE 5 TS 1 FHR B S S
o AR et g farfiesn g Jenda 8 @1 el
Tgfa § WER & R Teudg gsfa % eftemE
Y W B 21 39 vEfd § U= § gy w6 ofve
0 U9 § 7= of Td 9 e sEufas & T
3 2 2
31. Who acts as a panchayat president?
ShIFT TTU et Y hTY h{eT 87
(a) The Secretary of the Gram Sabha
19 |47 1 Gioa
(b) Block Development Officer
ge faam e
(c) One ward member elected by other ward
members/37 A€ HEE R FAHA (AT T4
TF e gT=H
(d) Ward members by rotation
T-a § e o
Ans. (¢) : 3 I IR 5 9AG (AT ) TH S
e WY # TE HM HA &1 WI" JH q=Ed H
T BT | TUT R § e @ & faw e
R ffers S AW geTEE 1 e @ 81 W g9 e
9 # Ae’ § AW dEred & ey fawd ) fefa o
2 T H FEEE 5 a¥ & T &1 AH A AW
iyt grRT R St 2
T 1992 H Tigu % 739 iR 749 duiem # g A

33. Read the following statements and choose the

correct option.
frrafafaa swaet @ 1 iR vt faewew gH)
(a) Weaver's cooperatives are one way to
reduce the dependence on the merchant
AR H TEHNT T HAUIRAT o FWR
Trofvar o0 & o1 U weE
(b) And to earn a higher income for the
merchant/21R SUIRAT & ATHIAT Wlef
& SR §
Options:/faehrea:
(a) Only (A) is true/ael (A) 8T &
(b) Only (B) is true/3aa (B) TaI &
(c) Both (A) and (B) are true
2T (A) 3R (B) TE &
(d) Both (A) and (B) are false
2 (A) 3R (B) Teld §
Ans. (a) : TTHU B FEHN e AR F FHR o8
FH B B UF GEF 1 g a9 TG g TH TR
el gfafd & Tk Tg TN § a0 Ieh €9 § I
Tfefaferal w81 A Wewky Sy § e fedt art
AN TF o A §1 R IRERe o % I FH B
21 Rt S gfter gt w9 & S @ ST R i
3 AT Hed @1 AR # ST g B SR T
21 o1 (b) W& T ¥ YRR wew gfufEl @ sf &l
R HUST TR TH 1 gag ff B 21 SR H
fau, aftermg TR TST # Miges Wha & ad @
FTEIHT TATT &1 TBR T HEFH & 1T TEReM T
et wffaet ¥ Fysr @i 21

1 . 34. Read the statements (A) and (R) and choose the
uiftd foam| dfeems &1 734t Heiee g & wEE e appropriate option.
Y g7 21 THH GalY TeTE T sAaen i gensd g 2 frefefaa el (A) iR (R) @t ufgw der
Hfaem 1 7430 GREA IR0 T G () U faeheT w1 wra= ST
EEEEIE 993 LRELIEL 7441 WW o gul Assertion (A) : No country can be said to be
e - O daEd I8 @een § 3 g9 (90 ') completely democratic.
W) G S (Feedt ') R e 9Rwe (Rrer afireRe (A) : fwedft oft 2or &1 oft @ @
T W) W 21 ARATTeR TE FHET S Fehal
32.  Whatis a labour chowk? Reason (R) : Individuals and communities
(?)"—"Z iﬁlm ﬁ"—f 3"_5? %:1 b . always try to expana%;he idea of democracy. N
a ace where bonded labour system is . e RIEGED
pratli)ced STE STET Sy S e FI}—;TI%'RT g mg%ﬁm Eﬂ?f%l =
(b) A place where labourers are sold
e S St A A e e A foew: ,
(¢) A place where daily wage labourers assemble (2) Both (A) and (R) are true and (R) is the
in search of work/%'@ﬁ S S8l femrel Asgy correct explanation of (A)/(A) 3R (R) &Ml
T I TS H ThST B § e € 791 (R), (A) I T =T B
(d) A place where labourers_are given night (b) Both (A) and (R) are true but (R) is not the
shelters e SRl ASgl H correct explanation of (A)/(A) 3R (R) &M
ik ] | & A (R), (A) T e 2
Ans. (¢) : TR U IW TR A Fed ¢ Tal feere] TS FM () (A)is true but (R) is false
1 T § THg1 A &1 R W% WS Ao @ € 3 (A) & & T (R) T 2|
IRIBR 3 @ 1 W e T R U 21 osgfe 3 (d) Both (A) and (R) are false
TS F B FAS H T I b W bl T & 21 (A) 7T (R) Tt 21
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Ans. (a) : 3 (A) : 58 o 3w & qff e @||37. The provision of Midday Meal Scheme in
ARl T8 T ST Wehdl| HNOT (R) : =AM 3R e schools is extension of which of the
Hea a1 AT 31 39 H W & 81 (A) IR (R) fundamental rights granted to Indian citizens?

aﬁa‘zﬁ%wm(R),(A)ﬁﬂﬁrwm%m ﬁq&gsﬁmﬁmﬁww
YRR H UH &Y ¢ (OGH ol g Jasi B gt Frefefen AR ’“;"W-' o ferw
FIEH TAEH SR HfauE S wifee et % ureew wifeTeh STfreRR b ferea &7

e 3R 9t T % gR g9 &1 cllebdd Tafaat (a) Right to equality/SHIaT T SAHR

36 F P START IR GUR FH AT &1 AT (b) Right to life/STrad &1 3TRAER

3R Abdifeh IMET aret gl & o T F 3w (c) Right against exploitation/TN0T & f&&g RFR

Tl AT B Afh 5h SES[E Alhditsh Tael H1 A1 (d) Right to freedom of religion/&nf¥es T I
& FeR 8 FIfh ITH T THUHD B ¢ | EEEIn

35. Gender inequality needs to be dealt with at||Ans. (b) : %@ﬁ ¥ HeATg WM P ASH F TEEE

ST STEHTAT ST FHTE

T T T B

(a) Family level only/ael TRaR

(b) Family, society and government levels
IRAR, GATS 3N THR

(c) Government level only/%ﬁ?[ RSLEAN

(d) Family and society levels/IRaR 3 @@t

& ' W

Ans. (b) : SIS TG H TEEM URER, TN R
TWHL & & W HH B S g1 AN STEHEAT
A Wi SMUN W Agensi % Y Yewe § g
WRAT &9 99 § qfcnsii & sue) a1 & &9 4 3@
ST @1 81 9 B 3N G S SHE 9 9w, S79HE
3R devE ¥ difgd @ 21 Gwiies, e e
TSI S o STESE adaH AR A § g
Al SR ®F H AW g1 AN TN gl
FH % T qRaR, Ul S THR H ARl & 5
T U 9E Feid ST =Ryl

RAE ARST B T e F AR AHE Hfer
SRR 1 AR 31 9T o HowE & oTss 21 # Fe1 T
2 5 S g ST SfE % ster R o SR 3 39
a7 a1 3w e WA ¥ dfed T e smom @
HFR TF e T AR &I 81 7 6 Fad AR A
W 3 21 F IR 3F R B WA B g, TG
G w1 famR e g, RE wita @ omifaw, @
e, dER R, e § @Rd gEE qu 9% §
TR aeR § i RER1 Scoradd § 6 et W)
T fre & @R 1 869 HUIEH 2002 % FR 30 21(A)
% ed Hiferh SRR =1 e T 2
e - AT F SARER (T 14-18)

IMOT o % SAfHER (=1 23-24)

wififer AT il SR (3T 25-28)

36.
Fundamental Right?
frefafiaa & @ &= a1 difere stirer & 87
(a) Right to freedom of remedies
AT I HEHR
(b) Right to constitutional remedies
HauTes ITIR &1 SARFR
(c) Right to property /Huftl 1 3Af&HR
(d) Availing elementary education

Which one of the following is NOT a

Ans. (¢) : TN o ARHR Afcsh AHHR T 2 | Graem
F 9M-3 H AT 12 § 35 TF Hiw SR H
forator 81 3¢ 9RA 1 ‘SIRSR-T (Magnacarta) i Fl
S 21 adHE ¥ GfauM % ded AR & Hifers
RIHR T&M T T 7, e fFawor 59 9o 2-

(1) THMA T SAFER (3BT 14-18)

(2) W 1 ARFR (3T 19-22)

(3) W90 o o SRR (3= 23-24)

(4) =nfifer TEdaar H1 SAHR (3T 25-28)

(5) Hepfar 37 faren Geeft 7R (31987 29-30)

(6) Haw-eh STERT 1 ARIHR ( 32)

The phrase 'Justice delayed is Justice denied'
refers to which of the following problems of the
justice system in India?

‘TR AT FATE T el ', T§ &AW
ORA &t A HEaedT ¥ g fAfefaa § |
o wmT @t ST €7

(a) Red tapism in bureaucracy/IhEl #
AN TR

(b) Inordinate delay in completion of trial b%
judiciary/ S 11:|"<>ﬁ‘st TH

(c) Long system of appeals
various levels/3Tddl &l @il

T F ERL ToRe 8
(d) Grant of bail to the accused/3TRIT FT ST & 31

going through
A S FE

Ans. (b) : 3% | 0 A IH F b, T@ TR
IA A A § TS e §R AR @
B H el 8 €9 S JgE gger & gl 2|
e e B o Y AR B FE Al i b SADR H
T 81 3% JIE IR0T 98 ¢ T o1y o | ST
TR R IR 98 @ ¢ o s § gt # ge
s 9 W 1 UmE & Sed e v W ue #
SRR 3 &9 T T T H FRT 8

AR - o HfeurT & gt ARl H 370 19 % &9 7||39. The Forest Rights Act (2006) is a law which
TR & WAl Y& S T8 off| AfhT gefy & SRR recognizes the rights of .

30 19(1) (F) H 443 Tfage delem ¥ g1 faar T 2006 W W g I srfafran we
a7 TH dfaEE & 9 X1 H e’ 300-T & aed U@ AT S & IrfreeTd <l
A v fafers SAfEpR amrEr T 2 gl e §1
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(i.) Forest Dwellers/a=amdt
(ii.) Scheduled Tribes/3Tgferd ST
(iii.) Paper Mill Owners/QufireT ATfeTeh
(iv.) Animal rights activists/SITHaY 3TfIGR EJRCTi)

Choose the correct option from the codes

iven below.

%1:} few 7T et A @ W frhew w1 ww=
o

(a) (A) and (D)/(A) 3 (D)
(b) Only (A)/&ad (A)
() (A)and (B)/(A) 3 (B)

(d) Only (D)/&a (D)
Ans. (¢) : 2006 W TN 3N a9 ARGR A&l wh
UG A § S aardt 3R gl St o st
N gfTed B 81 I8 fEm 3 AfERi F ae
e B 21 B9 R T gee B R & sedt &
forg ol &, R ersifeeer, fame it e wmSTe-
Hiepfan AvASA WA g1 I8 Afem s
I gAARE g Wt G A gy | w@E &
PR 3 21 a9 FafyE & oseR @1 R @y
IR, =E &l a2

40. Marginalisation is often associated to
experiencin%which of the following conditions?
q T

T BTN WTST: Heifere Biet &7
(a) Disadvantage/aT‘i:IW/EiﬂT-r
(b) Discrimination/HgHTa
(c) Equality/€HTAT
(d) pride/Te
Choose the correct option:
T AT R
(a) (A) & (B)/(A) 3 (B)
(b) (A), (B) & (C)/(A), (B) ¥R (C)
(c) (A) & (C)/(A) 3R (C)
(d) (A) & (D)/(A) 3R (D)
Ans. (a) : 3@/ SN T
BITeRoT g et e @1 enfifa i, g ged,

is not included as one of the topics
in social science at the middle level.

AT fom o ws fowg & ®a o AreAfies
T W wftafera & 7

(a) Psychology/q"rﬁﬁlflﬁ

(b) Geography/‘{"ﬁ?f

(c) History/3fagrd

(d) Political Science/TsHife fagm=

| |+ TR T - g ¥ e g g

Ans. (a) : AN &GFF § U6 g & &9 § we
T W FAfagH aftafed 7@ 81 afes g, sfie™
oy foem amive faim d§ w favm % ®w
qitaferd 21 AreAtie X @ e wufie 3K 3=
* weg & RN B3| o1ulq T 6-8 en ab & RN
fowar o 81 Wi fomm @ fav-asg & fwor §
ATl 1 ATUNUNHS GHF (S &1 St 21

42. Historical studies help in development of

Eor & fawm ¥ ueg

|

w
3

w2

(a) Spiritual domain/3TETfcAeh T & TR

(b) Cognitive domain/IHIHF F&T o &R

(¢) Psychomotor domain/AIfhaTes T&T & &R

(d) Economic domain/3Tfe T & TR
Ans. (b) : TR 3TEa ‘TS U6 & T & [9hg
# 7ag B 2| S F G GIAS B FE qo aebt
N STHD § BT 8| FAIS 9 % S e v,
!, GRATHST T G H @ FTEROT & ®Y H AR
B 21 A wqH T FEeR § 8 A qRadA & u
&1 @ Afort § anffepa fepam 2-
% G 98T - X 9 Hef & 8l

* TR0 W7 - g1 ¥ Hafed g 8|

& # g2 el F aduE & WY S T JAES T
F W F G A E @ H ge B off geA g
Afeass § quft ot & 5 HIW 1 W frarhia w2
43. In a geography class, the teacher could help

students detect specialized regions by engaging
them in the following.

T T e |, foreren fawifta it wt g
& forg ferenfefet = frmfefaa o d@fera =

& G AT HETAAT Y Tehell &:

(i.) Identifying and recording certain
characteristic features/&® feafere
Tergroaret st ugom 3R e &&=

(ii.) Studying map/ATIFera AT LTI HIA
(iii.) Locating information on a map
s W T g
(iv.) Using encyclopedia/feT$/ehis ST SUENT i
Options:/faeheT:
(a) (i), (ii) and (iv)/(Q), (ii) 3T (iv)
(b) (), (i) and (iii)/(Q), (i) 3 (iii)
(¢) (i), (iii) and (iv)/(i), (iii) 3 (iv)
(d) (ii), (ii1) and (iv)/(ii), (iii) T9T (iv)
Ans. (b) : SFTe o el § ey fowifva & 7 gt &
fou fefl & g ffre st @ wa 3R
R &, THRT & T H 99 AAT TG
ded # dfa S FN A TEEar B T &
Fif% T F F § AART F Fgd 9@ Tl 2|
TAfe @ WeEd ¥ R fIve % Tefae awgel
S AT ST Fehl & |
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44. Arrange the following stages of problem

solving in order. TUET GUTE h

TR I WE T § YA SRl

(i.) Evaluation and review
A Teh
(ii.) Making an action plan and implementing
it/aRTe - FAMET 3 AN AT
(iii.) Problem formulation and interpretation
O T GlteRuT 3R sme
(iv.) Generation ideas and options/f%l?l'lﬁ AR
forareat =t Seusr weT
Options:/faehrea:
(a) (i), (iv), (1), (1)
(c) (iv), (iD), (iid), (1)

(b) (i), (i), (iv), (1)

(d) (@v), (iii), (i1), (i)
Ans. (a) : T GUEH & T F GG FH § gorafed
39 TN Y 3
* T T PHHT SR A FE
* Framl ot faebedl &1 Sc0= T
% e AT FHAT 3 AT BT
* TR 3R TAIE0T AT

45. Suppose you wish to use "simple to complex"
approach to organise curricular topics. Choose
the appropriate option arranging them in the
appropriate sequence.
= AT WS § Wled' Sunm #
reTeEl ol AdYd AT ated §) i e
SUNTH @i SUYTh STJH H e SUITh
forehew =T === Y
(i) Living in a family/aRem & &A1
(ii) Forest regions of India/¥< & aq @'ﬂ
(iii) Family in neighbourhood/ﬂ@'ﬁ T gRear
(iv) Communities existed long ago

AEA UE o WA
Options:/faehrea:
(a) (in), (@), (iv), (i)~ (b) (iid), (1), (ii), (iv)
(¢) @, (i), (i), (v)  (d) (@), (iii), (iv), (ii)

Ans. (d) : A ¥ I UM ¥ ==t &

F o T 9 I FI STHT § T S 3

* GRARX & @

* TSI § qRar

% FEA ISl b A

* 9N & a9 &

e e & &7 § o=t a1 ueashA (FRgpem)

fommera o1 favafaaem § wem f6a SH o desmH

3R I I T bed

46.

Which of the following maps will you use to
show the natural features of the earth in class?
freafafea amfaEt & § &9 ¥ AEes &6
AT el H gelt W wienfaen fewiwarstt @t
TN ok feT U=t SRT?

(a) Physical Map/¥ifeie A=

(b) Political Map/Tsifdes A

(¢) Thematic Map/®eaais (fidfee) amfa

(d) Natural Map/S1hfdeh Ao

Ans. (a) : 9t AR FT ST Fo § g & AHah
fargioenatl &1 e & forw SuEnT foham ST 2

THRE gt G A1 $9 T W B A9 F AeEm 9
w0t geg W e T o 21 gERe g faRe set
% foTU sTavas 81 HHRE F g TR 8-

difees AR - gelt & gpfas eepfaal 99 - gdd,
 “difees AR o1 S=araT AR el S 2l

T AHRE - TSdl, TR, el a9 maEl e fove
& fafi <o 9 oA dur 3% dmst & ewie e
TR @1 TS AR HeT S 2|

forifee qHRe - F TR 9T SEERET SEH B
S - Gg% AR, a6 GHreE od 991 U e &
faaor 294 A AFfE TRl 39 YHR & AEfE &

A social science teacher wants her students to
inquire about the condition of health facilities
in their area. Which of the following would find
place in her lesson plan?

Teh AR ford ot Rrfarent etur ferenfefan
¥ IR AU G W TR FlaensAt wt g W
el AT wTEdl 31 frafeiagd § @ St
TS TISHT § SFIT €A U7 Hehell 67

(i) Organizing a visit to local health
centre WEeT g O 9T &l
CIBISE]

(ii) Discussion on why government should
provide health care for poor/d{hX )
el Rl TR WA Il SUCTeEl ShyaTHT
MR - 39 U << <At ST

(iii) Showing data on malnutrition amon
children world wide.ﬂﬁ forg ® soai & ‘Tl"g
T T HUHUT & MRS fe@mm
Options:/faehea:

(a) Both (A) and (B)/& (A) T (B)

(b) Both (B) and (C)/3Hi (B) @1 (C)

(¢) Both (A) and (C)/3i (A) 7T (C)

(d) (A), (B) and (C)/(A), (B) 2T (C)

Ans. (a) : T TSI foqm & s oo faanfefen g

ITh IO & § wEreed gfoEed @ W Sid wa

et 21 ST UG AT § I T o7 Gt 2

s T W@ &5 H gH0T T SESH

% WEHR H TG B @R AW FA AR HEE

AR - 39 W == T A BT AR

48. A social science teacher planning to discuss the
topic 'social justice and marginalisation'.

Which of the following are the most

appropriate learning outcomes?

& Teh IT8TeR ‘ETNeR =T

3R T’ faua o ==l A A

T T R

frefafaa § 9 &iF 9 wdife Sugw e

Tferther 87
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(i) Students understand
marginalization

STV kI TUHA B

(ii) Students understand
functions in daily lives
TRt e e st €, feremeff o=
TS

(iii) Students recognize how marginalization
takes place in the real lives/feramefft

£ fop arafaes Sfia o SiETeRor &l gt €

(iv) Students recognize how social justice is

concept of

how judiciarg
Stra=

denied and to whom/ferameff T &
fordr 3R & AR = erEfteRa femarm
T B

Options:/faerea:

(a) (A), (B) & (C)/(A), (B) 3 (C)

(b) (B), (C) & (D)/(B), (C) 3 (D)

(©) (A), (C) & (D)/(A), (C) R (D)

(d) (A), (B) & (D)/(A), (B) 3R (D)
Ans. (c) : T &G &1 T 0efh GHisis = 3R
TR v W owEl & # A 9 @ el
gafferes 3T e Sfaher Fre 8-
s Terameff gIiTTeRtoT 1 sTaureT H gHEd §1
* mm%ﬁamaﬂaﬁﬁw%@

|
« foemdf o 2 75 69 3R gmifse = eredigd
e ST 2

afies, QrIfors, A iR Ui &R goel &
F© TR H BT W TGYH HH & [T TH 99 FH
F 2|
49.

'I live in a Muslim dominant area. My brother
and I had gone for an Iftar party in the
neighbourhood and were dressed in traditional
clothes, that is sherwani and salvaar kameej
respectively. Later we changed our clothes to
jeans and T-shirt'.

How do you view this narrative of a girl?

H U giem sTged &F | Tl gl 7 iR 3w

¢ TS § & 3N @ & grad | T O o

TN WA H/US IAET HUI: INEr ue

HAGR-HHIS g W 91 og W g 370 U

FEAT S AR -9 wed fem s sw

TR F I BT FY A &7

(i) Clothes can be seen as a marker of
identity/ehUgl sl Ugen o 9T & w9 o
oft I I Hehel B

(i) We may be prejudiced for the clothes wr
wear/gH Wl hUY UEAA & SHeRl TRl &0
Jaiudl & gehd g

(iii) Clothes should be worn for comfort and as

per occasion/E?CI??f ®I AN & ﬁ‘ﬂ{ R

TR & TTER Ug=T =T
Option:/faehe:

(a) (A)and (B)/(A) 3R (B)

(b) (A)and (C)(A) 3R (C)

(c) (B)and (C)/(B) 3R (C)

(d) (]?), (B) and (C)/(A), g)ﬁaﬁ? 1%_E?([?). AT
Ans. (b) : H T gl
%m%ﬁﬁqﬁwﬁméﬁw
WA HTE I HAY: NG T TR HAe 964 @
g1 9% H g YT HUS FEehL g R A-wE T
T 3T 37 A & g F 7 TR T I@d §-
* HUS! B TgAM o (9 F &Y F oFf @ ST Febell B
* HUG B W % AT 3R Hh & IR Tg=1 e
50. Which of the following questions promote

critical thinking among students? Choose the

appropriate option.

Froffem & ¥ f uvl ® BE &

ereATHS  faea W WieareA faerar §7

I faeRed I

(a) Explain the formation of Himalaya and
Ganges river system./fRATeTa @ T T
SIETAT & T i YISHAT h SHTEAT i

(b) What are the merits and demerits of multi
party system/Sg-gcitel SAqEAT o IO
TERUT AT &7

(c) What are the suitable conditions to
establish iron and _steel industry in

Jharkhand?/3R@Es W 3@WE 3R
TN TfUa & i Sfoa Rerfaat wa-
i 72
(d) Give three differences between the way
villages are managed today and in time of
mahajanapadas./3TTST & Tidt 3T WEHYS &
TU o AT sl SR ¥ i 3R S
Options:ff%l‘m :
(a) (A) & (B)/(A) T (B)
(b) (B) & (D)/(B) @1 (D)
(c) (B) & (C)/(B) @1 (C)
(d) (€) & (D)/(C) T (D)
Ans. (b) : T5-3T AT F TOT SR ST FA-T 2 ?
A F Ml AR FEHIE F I & et B Far §
T il I Fad | F T gvE ¥ SE & ASITD
foae 1 Sicare fierar 81 i oish I3 & ¥ Bl
% 3faR b T a1 ST Feie b fae B 2
51. Read the following statements (A) and (R) and
choose the correct option:

frrafefiaa et (A) 3R (R) st afeu qer w&t
TersheT =T oA Shifaa)

Assertion (A) : Branding means stamping a
product with a particular name or sign, so as to
differentiate it from other products in the

market./3THRIT (A) : ST w1 3ref § fomeft
3aure WX et faorer = = forg At Wige o=
ATfeh Ueh STUTE hl SN | geIferd 1= Saret
[ 3t (e ) feen

Reason (R) : Branding came from cattle
grazing where owners thought of marking their
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cattle to avoid mix up./&RUT (R) : ‘&TET =0

‘AT UYMUTE et SEIE ¥ SIA U IS ¥

el wifeTeRl ¥ UgTRll UX UESTHA Sl WUET ohY

W HH & T 30T @ Forg &= & |rem

Options:/faeheT:

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)/(A) 3R (R) EEl
e & a9 (A) B (R) TE AT HLAT & |

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)/(A) (R) gl
gﬁ%éﬁ;ﬁ(A)aﬁf(R)aﬁmﬁé‘fm

|

(c) (A) is true but (R) is false/(A) W& & <ife
(R) TTerd &1

(d) Both (A) and (R) are false/(A) 3R (R) &M
e 2|

Ans. (a) : SIET & 314 g 5 e S w forelt feromw
T A o S Al A A TE SR B SR §
yafer 311 3eaal § a7 (fre) fad | sadl ¥ 21 U
TS FC o o & RS WY SURR S HI Sedr 8
ST 21 TEET GO B TS T I UF IR ¢ e
ATl 7 IYET W TEERA #OGHET & QW B & U
ST WY o T H W SER § AU wee @ agd
2 TIfhT X BT P TG TR HT T ST W AT B,
Y #0 § 9 gEF #1 Th AR §iE T4 21 SR (A)
3l (R) 391 W& ® @97 (A) # (R) W&l =& &l 2|
52. Consider the following statements (A) and (R)
and choose the appropriate option.

HUAT (A) AT (R) W forem =t 3R

Et fershed &1 =T R

Assertion (A) : There is a need to decentralise

the development of social science curricular

materials in which teachers, students and
community members introduce their own
realities./she (A) : WTHTSTR ﬁ:ﬁﬂ? it &
forerm o1 faahsdieor w3 @t e & et
forerer, faemeff ik woEm & wWewm erul

STEATERATAT T T il

Reason (R) : Decentralisation enables students

of different regions and social groups to relate

to the social science curricular materials they

work with./&TUT (R) : ferehgientor fafirsr &t

X Wi wHEl ¥ Iy faenfdei @ =

amTe o= ureweal wmiied % w9

HH HId & TR WY SR @ W oA

(c) (A) is true but (R) is false/(A) &l & e (R)
TeAd 81
(d) Both (A) and (R) are false/(A) 3R (R) a1
Terd 81
Ans. (a) : TN O GEEET & G &1 AT
B F TEA ¢ et s, fref i ggeE F e
AU ATAfEHAS B TS B QAT EwE § wE
Tt 1 wumEe g @ 39 9t el & U 9 ued &
oy, firerh 3l BT &% A&7 Ush 3T WHST ol 8|
fashsintor fafter &t i wmifores Tel | ey fanfelat
F 57 gmfoe fage et gmitEl & @ 9 &m
T § IS Y Sead oEd § §ad a9 21 39 (A)
3R (R) & & 8 3 (A) 1 (R) TEI A & 8|
53. Consider the following statements (A) and (R)
and choose the cgrrect option. .
HIAT (A) TAT (R) W foem =L iR
TE Terehe T =@ &

Assertion (A) : Traditionally social science
curriculum accommodated gender concerns by
including 'examples' of women.

HIT (A) : WHRAE & F GrmSes  fomm=
qreTTEt § WeX weelt gEi o dHeEe | et
% ISTEUN <Rl IR A B

Reason (R) : Making the perspectives of
women integral to the discussion of any
historical event or contemporary concerns is

inevitable.
HRUT (R) : frelt oft tfqefaes wem v
HHRTE e ot =t # Bi-ulye st Tehigd
A W IMATAHAT B
Options:/faeheT:
(a) Both (A) and (R) are true
(A) 3 (R) BT &&T & |
(b) Both (A) and (R) are false
(A) 3 (R) ST TTerd & |
(c) (A) is true but (R) is false _
(A) T& 2 (R) TTerd & |
(d) (A) is false, (R) is true ]
(A) T & R (R) T8 2
Ans. (a) : WRE €9 F GHS G9H aea=d § Siel
et qEf o TEEeE | fedl & STl @ e &
21 S e g § qEw IR wfeani F eEt s
Rl I IR Fd g1 SEih T I Sfgs 3N
% YRS ST &I gffdfad S 81 e adHH &
s e | &I ufgell § 9 AT ST 7, Sfee
T RO T g, e qaime § At § fedr of
Ufoeifies e SR gl gEj i = § #f - uftea
F THIHT FA FI FEATIHA 2| WTH FER W TET
T ARAsT & WY FE-9EF T FEAT ARYN I FHAA
(A) 3 HRT (R) a4 T&T £

FATAT &1 54.  Which of these is/are example (s) of secondary
Options:/faeheT: sources?
(a) Both (A) and (R) are true and (R) is the T ¥ i Ty B o1 e €7
correct explanation of (A)/(A) 3 (R) & (a) Scholarly journals/fergTt st Uf3reaTd
& € 3 (A) # (R) T A HA B (b) Biographies/aTearemd
(b) Both (A) and (R) are true but (I;%Tis not the (¢) Diaries/STat .
correct explanation of (A)/(A) (R) g (d) Photographs/a&iy
W ol (A) H (R) TE 2R T A 8| Options:/farerea:
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(a) (A) only/Faad (A)

(b) (A) & (B)/(A) 3 (B)

(©) (A), (B) & (C)/(A), (B) #IR (C)

(d) (B) & (D)/(B) 3R (D)
Ans. (a) : Bda% &d #1 3awr @ fageat & ufied)
e fage, fogm & U wRar @ ST 39 9eR 3R
TS doel § Hafm St e §9 ¥ SAqHas g
w el ol € g g & o i B e o
dir % &9 F Gaffa fFar o1 gebar @ o R awg A
ST & IR Wl A &1 WS e § & YR %
| -
o TTufeR BT : IAEW & fou, fees, Al A,
I 1 G, Wiy SR & e U, Se e @
fafewr o &1 sferw enf (F 3 A9 8, S ue g
o)
o fydtorss &G : ¥ 3 &9 ¢ S F© faweivor & o
e Bid ¥ AW eid 81 ISR & [, SHBAT,
MY Y&, YaHi® M|
55.

For doing a project on freedom struggle at the

middle level, which of the following may be

least essential?

TreAthe (fafed ) TR W w@esar U o Sul

Teh URASHT & o T fafafaa § 9 =

| =IAAH w9 | et & gerar g2

(a) Photographs/fea

(b) Important Quotations of Freedom Fighters
AT S b FEwEq IS

(c) Sources from which the information was
collected /a1 B 57 & T 3! I T

(d) Questionnaire based collection of data
SEATEE X STMERA gl &1 698

Ans. (d) : AAfE (fafee) T W @ed @ & W

TH IRASH T F U yeAmEett | anefa st &

e aw w9 g fEd @ gEar g1 geAEeh

(Questionnaire) I¥1 a1 el 1 T & s wream 4

A ¥ qgR g THHT # SR 21 SeEEet,

FHYH B B TH TI@ €9 g1 g1 o @t g

T THT B F AT A TET ¥ T @ 9 2

Yeaer, i § us s qor e #§ awgire B 2

56.

Agencies approved by which of the following
is/are  expected to develop evaluation
procedures as per RTE Act 2009?

ANEE. TH-2009 o AR fr=fafeaa & &
W o Heer/drenslt ¥ Uodicd Wkl ohl
Tererfara st &t 3Tae 872

(a) Union Government/shv% ATRIT

(b) State Government/TSd TI{h T

(¢) Local Government/®IT=<l Tk

Options:/faerea:

(a) Both (A) and (B)/(A) 3R (B) gt

(b) Either (A) or (B)/3T (A) T (B)

(c) Only (A)/Faa (A)

(d) Only (B) & (C)/Fa (B) 3R (C)
Ans. (a) : IRIE. TR 2009 F IR F5 THR 3N
TSI QLR AT e/ Seensii § qoaish hel &1 faef
FH F U 1 RT.E. Act 98 fem ¥ iR
afufam & 4 A 2009 H HEg B AfufEm feer
T WY T TEE H 1 WA 2010 F AR fwAm w@A o)
39 T o TER a0 & o a=dl &l S fF 6-14 a6 &
2, 3% fyes wd ofed Rrm & wEuE @ 2
et STgEr § wHadt e % deq e wgE fam
21 e sAffrem R & iR B giifke 0 % 4N
F5 WHR, ToF THR 3R gt 7 & g Febmi g
e @ S Al fafiry S ot faen fdw &
feifRa s 21

57. The assessment cycle of a class or school begins
with and ends with .
foredt wem o fommem @1 IMdkReR W@k
H WY Jar ¥ iR w
HHTE e 2
(a) Formative  assessment &  summative
assessment/FTAUcHE 3o R AT
SHTheTd
(b) Placement assessment &  summative
assessment/[TAIS ool 3R AT
SHTheTd
(c) Diagnostic  assessment &  formative
assessment/el=eh e 3N FioTeTS
SHTheTd
(d) Formative  assessment &  placement
assessment/FTAi0cHS 3o e foredie

SATehedd

Ans. (b) : {5 F&m a1 fqaeE &1 3Ha 9% FraSH
AT § AR BT ¢ N DS e W OEHE
BT 21 FEieH oo @ ovE SEvdl W wedl W
ferfeor o 3% W & & forg ue e fafyr & faedor
FE Y 21T AW F FY FET AU IHH GHETH
e R W B SHH T & g1 AT
sThe-faenelf & SiferTd fawer § Qe U B @ 9HE
T A §1 W THR F AHA B TIT BET B
iRt SR A & A SMhel § BEl 1 Suaieeri
1 T TEIUE G % foIu fohar ser 21 31: Wy @ &
foRiiST 3The § fomTerd 1 ST 95 SR 8T § 3R
e 3Rl § FHIG BT 2|
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58. A purposeful collection of student's work can

be considered as .

ferarmer=it & Tl o WIEvS WUBUT <l

T T HehelT B

(a) areport card/Rard &7

(b) a portfolio/TEHifeTar

(c) an assignment/fard Eﬁﬁ(xﬂqﬁﬂﬁ"{)

(d) a rubric/%fss
Ans. (b) : fFTe™ % FAf & HEvT TALU H TSHIfera
T ST FHAT &1 GEHIfE BE % & H T 699 o
T GRERIfA | el o, iAW, R 3 %
= difgar ot & 9ohd 81 97 U 9T ol § s
% aferm e wenla # wwfe & <wiar @1 GewifeEl
T G A S @ s g8 e S g § 39
TH TEE FrEuu §1 R g8 T a3
IS H Te&¥fd S H U 81 TEwiferdl ush wHert &
qEh @ S UH OF 1 RISl i oafvia B g
SIY-S19 o Todsh a8 § 3 9gd 21 39 N §F & 3 &
TS JATTES B F A TWEHA 3MFeAT dhAeh H
I foRa ST 2

59.

A social science teacher wants to evaluate
whether her students to have understood the
concept of population pyramid or not. Which
of the following could help her?

TSR faa= &t T Rt a8 godifera

T Ot € fR o fenfiel 3 SewEEn

ffre & dycas st |uer forem & o =@ ?

fr= & 9 o= W & "Rt §?

(A) They can read and interpret population
pyramid./d SEET FRIfUE I Ug Wehd
€, 3T SHS e H Hehd

(B) They can prepare a population pyramid
with the given data/fq@ WU 3tiwgl &
TR W TG URfirg s gehd €

(C) They can infer about employed people with
the help of population pyramid./GTﬂT@lT

forrfirg = wErET @ F SR | o et
% SN § SIIHE T TR

(a) Only (A) and (B)/&daa (A) T (B)

(b) Only (B) and (C)/&aa (B) T (C)

(c) Only (A) and (C)/Fad (A) T (C)

(d) (A), (B) and (C)/(A), (B) 7T (C)

Ans. (a) : SIS foe ol T ffere a8 qewiferd

FT TRt @ T faaiE 3 seden ffe & 9y &5

T o € a1 8, 39 fore e 7o Ters & e 8-

o I SEEN fufie & U3 T B, 3N IHH s
F TEHT

o f2U TU fHEl & FUR W SEEA fRIfe o1 Hehd
g

Note —: SHEET R T Jq@ s fqm ema 7 fgd

faftr a1y &t o SEEn @ T feTEs e fe

ST 21 T e % eyl s U Afths NHEd |

60.

Which of the following questions assess the
analysis skills of learners?

frafafaa & @ = A Yo Ilknmewaistt &
TorgeIoT S & I R iR &2
(i) If all glaciers of Himalayas melt down,

what are its impacts on human life in
India?

TR femera ot weft femaedt frerer wmd <
WA § A St T 38R =T WHIT 27

(i) How we file a case in consumer forum
court?

TH SUHITHT IOAT H hd e qiiEel
HAT?

(iii) What is Finance Commission? Describes
the main functions of the state finance

commissions./fa= =T &= §7 e fa=r
AR o T AT ST FUIA HITTN
(iv) Why national integration is necessary in
India?/STRA W THT TeHIHIUT RN STTEYAH
¥
Options:/farerea:
(a) Only (A), (B) & (C)/&=d (A), (B) 3R (C)
(b) Only (B), (C) & (D)/Fad (B), (C) ¥R (D)
(c) Only (A) & (B)/39d (A) 3N (B)
(d) Only (A) & (D)/&H (A) 3 (D)

Ans. (d) : STrEHAT & favdAT B & 7 Hre
i S 8-

o 3R AT & it femdt foeer o @ 9 § 9E
Siee W 3T T 9 8l ?

o UG # TP S HT AEvTS 8 ?

Sa g9 S # AR g SRSt i Ut wHara
ST 1 e B & e qof qerd % @ g e
ST & A T BRI SUAH B FUCH A B Hl
e S 2
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T foreres ursrar wfer (CTET)-2022

(CLASS : VI-VIII) 9T-11

HTHTSTR 37T
e goa-u=t

ST Gigd &t

(e fafer : 30-01-2023, 2.30 pm)

1. Which Buddhist text explains rules made for
the Buddhist Sangha?

I ¥ dig Oifee W sitg @Y o forg s T
Trremit =ht Tt frerar 82

(a) Sutta Pitaka /4 fues

(b) Vinay Pitaka/faa fies

(c) Abhidhamma Pitaka /31f%e= fizs

(d) Buddhacharita/dg=aRar

Ans. (b) : T 5 &1 T 97 & B H @A HH W
& eI 9 ) A 8 Ghdl 81 T anil & fau s=E
Y AHe GIST T TG SR B AT A A AT T
Y ® Th| G H W A atg fagei & o s
o fqmaftes e 7 § fier 2

T fiesh - g fiess & dig o % suawi &1 99 2
s — dlg 9d & i g & T &
w9 ¥ Fuiq 3|

2. City of Kannauj was a point of contention
among which of the following dynasties?

AN TR frAfaiad S90 § § %A ° 991 &
e & ferare @t g forg an?
(a) Pratihara - Rastrakuta and Pala
SiRR-UFhe-ared
(b) Rastrakuta - Pala —Pallavas
TgFe - 91d -Ueatd
(c) Pallavas- Pala - Pratihara/Jeeid - 9Tt -SfcgR
(d) Rastrakuta - Pratihara — Pallavas
TPGHe-TfRN -eotd
Ans. (a) : ST 9IRA 1 3T JHEH T ARG TR Harsl
SR TREl § wigTe Td BAR & weA Rem g1 gEa

Ans. (b) : THT e § 390 ¢ W U Y & T8 4 TF
Shfvia geR W gan @ fd f stem-stem wmed §
foremera &1 e die (FAET) SR S fae 2E
Fr e e ) THeT T foRiy gHedr @1 dren e
FT THET & S 196 TG AT T 2200 F§ AT 2
78 foreerm s fre & 9w § gl 2

4. Match the following in the context of
construction of Shiva temple by Chola King

Rajendra I in the early eleventh century and
choose the correct option.

A TS TAS-FIH GRT Rgdl vt o
FTT T forv WA & wWed § frmfafaa @
e #ifs, of7 Tt farshew o1 2T it

A B
A | Sun Pedestal | Palas/ UTell @
ERRICED]
B | Nandi Statue II | Kalingas
& i o
C | Image of Bhairava | III | Eastern
T H TH yfaH Chalukyas
o ATt @
D | Kali Statue IV | Chalukyas
T EleI
A B C D
(a) (D) AV) D (D)
() ) aAH dI 1v)

(c) (D) (L) (AV) (D)
(d av) dn dn (@O

YA A Fge, PURIA SR MG o1 e H
awg 7 vl ¥ YE g W@ gueHd 3§
T T gY % JvE FAe W SRER A % g
A-IfeR T TLHe Torawl & wed Fpmnes e
783 €. ¥ 915 . O%F Fodl W FAT W g F IvAN|
TeEe, Tegardl Ud Rl + ¥ fHar|

3. In the Rosetta town of Egypt an inscribed stone

has been found. Which of the following
languages is inscribed on it?

firer & TS A0 & HE W Teh Schifvid geew
firem 31 fr=feflea & @ &= o 9w 5@ W

Ieehifota €2
(a) Roman/THT (b) Greek/Tl'Fﬁ
(c) Aramic/3THES (d) Latin/aifes

Ans. (d) : 3 T Al 1 GE e fefaRad -
A B
A. i 1V- =i §
B. 7& Hfd 11- 3o arege
C. & # & i 11 - ShfeT §
D. @t & gfd 1- 9T o
5. Which of these statements are true about Sikhs

during 17™ and 18" Centuries?
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(A) The Sikhs Organised themselves into a
number of bands called Jathas and later on
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(B) Their combined Forces were known as the
grand army (Dal Khalsa)/37& TJc TG
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